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SUET Admission Test 2010-2011 Question & Solve
KUET Admission Test 2010-2011

. 93 EermEE @H 100Q | OF AT FS A & FAE TA OfYR AR NaE 99% e ww Fm

=31fEs Ta?
(a) 1.01Q (b) 2.01Q (c) 1.06Q (d) 1.10Q (e) 2.10Q
3 21= 0 x1 So=1010)
100 100+S
25cm (TR Ay (8 e o (Are T A I8 B0 FA0E A7 [ S 989 SeiEd A o4 204
(a) 25cm (b) 5cm (¢c) 10cm (d) 20cm (e) 30cm
v=35u i*:l+i sou=30cm
25 1 5u
20cm CFFET qErgs G0 OE 1 G S G e (o N HAA oW T T | AAGE G FAS]
3D T RS (FTHGA (FE g T2 [Ans: c]
(a) S0m (b) S0mm (c) 50cm Scm (e) 45mm
-1
) L e s
100 f f
inaaﬁ-f%aﬁ’twﬁaifﬂaﬂmﬁ‘rmwmgu (O7F |lm 7905 TR T9Em 0.31mm “em
o WA SA 0 (9 9 | o\
(+] o (1]
(2) 5890A (b) 5900 A 65900x104m (d) Im () 5800A
(1]
0.31>«10"3=~ii1—3 .-.x:@x'm"m =5890A
1.9x10™
= e @ifte @7 foos gl S 10  em o7 tTdia ST cree e vatE T wee @it 30° |
wewEs i «3 effe GIfFSRiey st @RI IR ©f 7w 39 |
§a) 6000 (b) 5000 (c) 4000 (d) 2500 (e) 1000
Sm0=Noh = N=—"39 1 e/m=500000 Line/m =5000 Line/cm
2x5x%10

S A0W @3 3 TS gE e fafafie e | I ofee «fem w@ 2% 3 wiee *fere werfre
n == 2% ores aaf e T AWE @i Ffe 7 @@ 991 (e W A =5550%107""m)

s 335x10" (b) 3.30x10" (c) 3.35x10%  (d) 3.35x10"  (e) 3.30x10"°
nhc 2 nx6.626x107* x3x10*

xpt=—0y = —x60x1= — .n=335x10"
M 100 555010

=07 B9 4M, | TR I FERfEaE FAre 9 O 9a RIS 3 NI TP FS ZA? (7R
M. =1.99x10"kg) _ [Ans: c]
1280 km (b) 14.80 km () 11.80km  (d) 11.80 m (e) 12.80 m

=§g—“~ [M=4M,] =11.80km |,
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KUET Admission Test 2010-2011 Question & Solve

08. @foamss 94y 1620 323 | 9 4 @A ¢ GiIRdE 57 e FS AT A2 [Ans: d]
(a) 1620Y (b) 10.760Y (c) 2.348Y (d) 23.48Y (e) 2348Y
Solve: == Ne™ N
dt 1620
= 0.99=¢ 4207t _4078x10%y! . t=2349y

09. 27°C w#u@m ¢ | I[N 51 5y vt @6 arg 2R AFHoS FH WS SHSC AN WA 2 |
SAE FS T2 (Y=1.4)

(a) 27°C (b) 273°C (c) 0°C (d) 1229°C (e)122.9°C
1.4-1 0.4
Solve: 300(V)* ' = Tz(é‘) M =300= T::[%j . Ty=39585K =122.9°C
10. T3 ST SaTEn € @ (B G992 A1 el T2
(a) 574.25° (b) 577.25° (c) 570.25° (d) 579.25° (e) 590.25°
X582 X~ 273

Solve: = : = 5x—160=9x-2457 = 4x=22N .. x=574.25°

11 oo smaiis 100 0 S T 1 s e 1 D & e e S nde ot
[J=4.2Joule Cal™'] :
(a) 0.434°C (b) 0.234°C (d) 0.564°C (e) 0.123°C

Solve: W =JH JmSAB = mgh . A8=0.234°C

12. 900 kg o3 @35 Cioa 5 w5 60 key M"ib’ﬁl @ 11 G S0m iR Yl 2@ | 3

wergfe <51 200N 3, o i
(a) 2100N (b) 2200¢ 4 ¢ (c) 2500N (d) 2300N (¢) 3000N
Solve: v =u’ +2as [a =7
b (16.67)* ) :_$Tms_z u=60 km/h
2x50 =16.67 m/s
a¥w, 3 F=200+Fy,, = ma=200+F, .- Faye =2300N
13, ©WE ARHES ©9, @erel ¢ SR AR ghrE T 63.6, 2 9 3.29x10 keC ™ |

SieR TP ToE 92

(a) 1.09x10 *keC™ (b) 1.05x10keC™ (c) 1.03x107*kgC™

(d) 1.20x10keC ™ (e) 1.03x10°kgC™

63.6 G
Selve: (c); Mo 0o Vs QI Nes Wy ZeISlOT S Wi =1.035x10kgC™"
Wy Wy Wy 1 ﬁ

14.  10MeV =fs =f& faea semis SeEee o 992 ’

(a)m, (b) 10m, (c) 0.2051m, (d) 2.051m, (e) 20.51
Solve: (e); 10MeV4a e’ @3 @ v,c ST @ 2@ I 1 SR v (F ¢ & THR|

me? —m ¢? =10x10°x1.6x10™"” = m-m 2__1.6x10‘u = m-m, =1.78x10

& Duonetpl

- m=18688x10%° =20.51m,

www.bdnivog.com
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Admission Test 2010-2011 Questos & Soive

<=5 e TEm TEd 0.1cm | 9t 50x 107 Nm™ 85 @3 1000kgm — 5053 co 5o e
T T SHSM (OF Torar (7 @l = 20°)
(a) 9.588mm (b) 9.588cm (c) 9.588m (d) 0.1438m  (e) 0.1438cm

rhpg 2T cos O 2x50x107° x cos 20°

8 h= =>h="""0

2cosO pg 107 x1000x9.8

- h=9.588x10"m =9.588 mm

A=51+2]-3k @ B=15i+2j—9k | 'a' CITRISIE A ¢ B T TTAE TR?

(a) 7 (b) 6 (¢) 5 (d) 4 (e) 8

B 3

— === -a=6

15 a 9

=5 (9T TS OPIS (I CRAMPIR S(6edE Qv T 25% Az (4ffe g =6.4x10°m)

(2) 100km (b) 25km (c) 640km (d) 6400km (e) 64.000km

. 2 2

= R : :>25= R < :;,lzL =>R+ 2 ::>1+£=2 ::-E:l

g (R+h) 100 (R+h)" 2 R+h 0 R R

~h=R .. h=64x10°m=6400 km o

Om 79 @3 1lmm T {2 @3 srrs 100N % | SEfod (9 FEpT J@ M (@1 T4 |

¥ =2x10"Nm™] o

2 64x107%°m  (b) 64x107'm @awlo-sm (d) 64x10°m (e) 6.4x107%m
L EL _FL 100x10 e =
T :@ S 1=64x10"m

'Zn(10‘3)2x2x10”
WS w2 R AAead Y in 27 (340t—0.15x), 9407 x GR y 93 9= @ @R t @7

(c) 0.15m (d) 2m (¢) 6.67m

S A=6.67Tm

09T ms (b) 34087 ms  (c) 340.87 ms™'  (d) 350.87 ms™' (e)340.78 ms™’
=-l_91f t;=4sec ..t,=023sec

Wa4=ux023 .. u=340.87m/sec

w39 M 30 cm GR A ARG 50 | FER T4 T TS SfER AR 5 AR (TE
&2 3%= ;Ra B T : -

(b) 0.64A (c) 0.72mA (d) 0.64mA () 72A

:150x10-6x2x11—~5=50>24nx10'7x1 = 1=0.71619A
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KUET Admission Test 2010-2011 Question & Solve

e

Solve:

23.

Solve:

24 **

Solve:

29,

Solve:

26.**

28.$*

(a) 8.9x107C (b) 8.9x107°C (©) 6.9x10°C LWy 9.8x10°C (e) 9.8x10°C
Q=6V; CzAde"; A=mr’ | fj
Ae 9 QU
L Q=Vx——2 =89x107C OV
d R\
9B Bieon Alfen FoerEm cwawa 0.4cm3§f‘;l%30001( ST e e | e e 28
# 1 [6=5.7x10" Wm?K™] N\
(a) 184.68W (b) 184.631(@ (c) 185.68W (d) 148.86 W () 148.86 W
E=AcT' =04x10™ x5.280 ™ x (3000)* S E=184.68W
W PEATS Ssec T 2.5A @ 10 A -9 vfefes geum 7 & e 10V
(a) 2.5H (c) 20H (d) 6.67TH (€)3.33H
Bl T —6.67H
dt 0-2.5

fAcerenes (Fiai? [Ans: d}
(a) NiS (b) (Ni, Cu, Fe) S (c)(Ni, Co, Fe) As,  (d) NiAs  (e) NiAsS
350° —400°C i e Al,O, ~TSuits So s (@I =i siewi a0 1 ted e
(a) CH, —CH, —CH; (b) CH, —CH=CH, (¢c) CH, —CH=CHO
(d) CH, =CH, (¢) CH,CH, -OH [Ans:
Fse EaeTAe (N S4grwA-aa 39 Aos e [Ans:
(a) CuSO, +H,S=CuS+H,S0, (b) Pb(NO,), + H,S =PbS+2HNO,

(fea) (reeT)
(c) HeCl, + H,S=HgS+2HCl (d) CdCl, +H,S=CdS+2HCl

(FFTC=TT) (Fre=m)
(e) SbCl; +3H,S=5Sb,S; +6HCI

aaf5 paea Tuer amF Sx 10 kgm® @ (5% @ 2Am’ | xR afe ffis 60 % o o @
HTR S-T51RE (LR TSI Sl T fAefm e
(a) 9.87x10°T  (b) 897x107*T  (c) 7.89x107°*T (d) 9.87x107*T (€)8.97x107°T

T=1sec; I=5x10"kegm?

M=2Am’
H=?
2 2 =
ORI S s e :>H=4n£ L = AX G147 x5x10
Sy MH MT 2x12

-~ H=9.8596x10"T
T ST e <RI TS 46 T | 4TS qfoa ereraa IPIE 8x 107 m 9 S TR
2%107°m | €R=Brs 100 oS fea 2T T #iTe q2ibrs @ sifame o1e ot zea faefa <4 |

i

(=)
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KUET Admission Test 2010-2011 Quesnce & Soive
2% 350gm B 550gm =it gage F41 2 Gl cE-eriet ¥ @R (e maes = CLH.0,,)

(a) 0.0324 (b) 0.9675 (c) 1.0334 (d) 0.0355 (e) 0.9870
550
e 18 :
Selve: Bt e 350, 550 =0.9675 [Ans: b]
342 18
N e e of 398 C,H,COCl+CH, — NH, — +HCl [Ans: c]
(a) C;H,COCH, (b) C;HsNH —CH, (¢) C¢Hs —CONH-CH,

(d) CqH;CO-N(CH;),  (e)C4H;CO—NH—(CH,),
B € @D AP —O= Sy, Owhony p Owbov L6 [Ans: d]

(a) ;AY (b) 2Mg23 (c) ,,Na® (q&é}” (e) ,Mg*
8 pAL 225 | Na® e, Mgh O, AP
a Ray,} He B Ray,% e p Ray,%e
G WA AR *E 772 [Ans: a]
(a) T FPATTS (S FACS TR )Ww&m
(¢) FARISS WTa ooe wRres @2 (d) (e) 05! wT=e ¥a] = I
o oafere ARGTEEE AR Qmma 351mg wffw o= T3 NH,
0.0103M HCl-«37 3.69 cm® eifirs T2 | Wi TRETeER T T @2
(a) 15.16 (b) 30.32 $° (c) 14.60 (d) 1.52 (e) 1.46

M i n=3 :»J- mol .. W, =nx14g=5.32x 107 g

1000
—4
%N, = 222X10_ 100 -15.16% [Ans: a]
2= 351210
=STEE S GNfere Semie & 8 [Ans: e]

12) C (53%), H(7%), O(23%), N(16%) and P(1%)

5 C (53%), H(7%), S(20%), P(4%) and N(16%)

12 C (53%), H(7%), O(23%), 1(1%) and N(16%)

W C (53%), H(7%), 0(23%), S(16%) and N(1%)

21 C (53%), H(7%), O(23%), N(16%) and S(1%)

PEETETR AR I It Ffiren TR ARt o A @2 (Ry =10.97x10°m™)
W 48627x10°m (b) 2.16568x10°m (c) 5.16286x10°m
8 48627x10"m (e) 6.51862x10°m

216568x10°m use, lzgﬂ[Lz_"sznm, ny=4 n,=4+3=7
A i i,
www.bdniyog.com
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KUET Admission Test 2010-2011 Question & Solve

36. @5 e o HEEE 50% oF Ee 23 s e 2 90% o1 zre @ Rty F i arrem 232
(a) 33.18 min (b) 38.21 min (c) 7643 min  (d) 75.53 min  (e) 41.40 min
Solve: t, =23 min [given ]
PG, JOSBE Ian 1 =5
t- G, 23 10
100
37. Awa @ RRfef e e [Ans: €]
(a) 1% 7B oz ofge HeTers! A T OIRE TG T4 (79 27
(b) 7f5 “rarm Sfes Wergre A1 0.5 @ % T GBS e A Y« z=
(c) S e Sfge Hergrem e (0.5—1.7) T cofferma st =g e =
(d) 75~ e Ferqaei oA 1.7 @3 @ zee s =9 «fe 2
(€) ARG e FTTane (e CafeiBy 78
38. 20 cm’ SIHSER &S (R AR FICE B2GE Fre 0.1M 10em’ et KMnO, @wie 2 |
a0 SRR A 92
(a) 0.558gm (b) 2.790gm (c) 0.0558%0 (d) 0.279gm (e) 0.0279gm
Sotve: X __01X10 5 . x=0279gm .
55.85 1000 %
39, farsa wrel-fend fRfwmr @b e 722 (o) [Ans: b]
o
(a) Sn** +2e==5n"" (b) Fg;g;":-j—?ﬁe“ —e (c) %Hz?‘—ﬂwe
(d) Ca—2e = Ca® (€)eMmO; +e=MnOj
40. el SRl S BT ZEWEER ST e @I @ wiwes 3.22x10%cm’. ¥ @A
TGS TR Y =2 [Ans: c]
(2) 8.6580x102  (b)B:6080x10”  (c) 8.6580x10" (d) 8.6580x10"" (e)7.9880x1
_6 -, S
Solve: n _322X107 o 02509 =8.65x10"
22400
4], @3 SN € BIA (I AR 4FR femend Il Swmre M 8 @it e MR 2
6:7 | @ifea 9 36 XF T@S MITR WA OF IS A2 [Ans: e]
(a) 50 (b) 52 (c) 98 (d) 25 (e) 49
Solve: L = £l-“5ﬁdm{:ﬁx%:ﬁi‘?
rs dg 36
42. w3 @W AMwaefB Ao wme [Ans: b]
(a) Z4Th—>%; Pa+Je (b) ZAl+3He > P+ n (©) 128+ 7H - {7Cl+on
) BU+in >0+ (e) %3U+on—>'gBa+ 36Kr+2on +Energy
43.  50gm R 850gm e aAgs FHE G & RS T 202 (AR Y = 0.9887
e Zefme wmfas 1 =60)
(a) 0.9803M (b) 1.0416 M (c) 0.9693M (d) 0.9916M (e)1.0041M
Solve: 0891‘;7(;“13 fics 38R I S0gm . 1000 ce “ifrs Tefm Wi %:_6'“"1 —0.9693 M

50
60x859.715

frem owel: Afag we« = 850 cc=859.715¢cc . M=
0.9887

www.bdnivoa.com
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W_ET Admission Test 2010-2011 Question & Solve

& 25°C wreme e 101.325 kPa fgaswedt 1.0 cire fiesns witwene Soifefers =2 === 801.1 kJ ==
Sesiifre zeett | faa st fanetm v R ot semt 1 [Ans: ¢]

(a) —41582 k]  (b) 5761.8 kJ (c) 41582 k1 (d) 796.84 k]  (e)—796.84 kJ

: CH,(g) +20,(g) — CO,(g) +2H,0(¢)

An=1-1-2=-2

AE, =AE + AnRT

. AEy =AE, —AnRT =-801.1—(-2)x8.316x107° x298 =-796.84 kJ

300 K wrw@m NH,Cl(s) e K, € K, 93 S3#i @mic? [Ans: b]

(a) 600.64 atm” I”.mol™  (b) 606.64 atm®> I”.mol  (c) 612.64 atm®.I>.mol >

(d) 618.64 atm’ > mol”  (e) 624.64 atm>.I*.mol ™
s =Lk (RT)™ An=2-0=2; R=0.0821La:mm&=300l<
k ¢

k—" =(RT) =(0.0821x300)* =606.64 athLzm%o

&
0.2gm NaOH 250ml MWWWH 93 TN TS TA?
i2) 12.3 (b) 13.3 @ (d) 10.3 (e) 93

.,SOmL’ﬂﬁNNaOHmO2gm 6
- 59CR @ 0.02 M og (0.02) =123
wEwERe qhTes 7Y g 25 §I & PICTT T Berw Faee W Sl @ 51 600 ml H,

TRy A2

‘21 30.46 min (b) ?§6 min (c) 3446 min  (d) 3646 min  (¢) 38.46 min

25xtx L x2 . .t=3446min [Ans: c]
96500 22400

M +2' 5>H,T

! =ol H, 93 57 &wes 2F C 51

1 600 mol H, &3 & 2F x 600
22400 i 22400
2F =600
22400

== 1 =2067.865=34.46 min

O wemam @3 wfeREnm 0.02 M HCl @3 539 5927 3991 2091 | ofeearfa wid faea sewt 32 |

21773 volt (b) 0.0591 volt " (c) 0.78 volt (d) 0.052 volt  (e) 0.1 volt
20591 p¥  =0.0591x{-log(0.Q2)} =0.1 volt

C v&

=2 5%t

www.bdniyog.com
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KUET Admission Test 2010-2011

Question & Solve

49.  N,O, @ farmem faferarm s =@ 103.00 kJ mol ™ @3 25°C wrommam @t &< 2x107 sec™
ZrE 0°C sremmars e @ 55 e A
(a) 4.45x107° sec™ (b) 4.45x107° sec™ (c) 4.35x107 sec™
(d) 4.42x107 sec™! (e) 2.67x10° sec™
Solve: In—— = Ce [—I—-—LJ :>1r1( x 3J=1°3"1000[ - }.’.k=4.45x10'ssec_'
25107 "R 298" 273 2x10” 8.316 \298 273
50. < @3 e e @ Eb? [Ans: c]
CH - CH H,C - CH, HC - CH
@ I I ®) | | © I I
HC\(;{ HZC\39H2 HC}, CH
N ‘ﬁ
.- y \ X
EII|C_ C|H2 H2|C Clﬁ "‘3
y
(d) (e) A o
HC§ CH, H,C \I:I ,9"
FY
w2 a‘.;&’ o
51. _[ cos’ x dx €3 W FS? O [Ans: e]
0 v
(@) = ®) $ @ ()
15 15 1 15
m/
Solve: Use Calculator 3, jf@ =£xg=£
; 5— il L
1
52. I Ll G A FTE©? [Ans: c]
1(4-x%)?
by T y|o v
- b) — c) — d) — e
(a) s (b) 2 (©) 3 (d) 5 (e)
o rl dx 1 =Fn2cost.dt _ (], =E_[_EJ=E E_[S_TIJ=HET£=_E
: (d—x)? -5 2cost il 6) 3 6 \6 6 3
let,
X =2cost dx =—3sintdt
I—t]_ —-——E=§ So appropriate value is g
[m\amm X =cos0 €3 T4 © || «
www._bdnivoa.com
= —== — W hdnec-com :




W ET Admission Test 2010-2011 Question & Solve

o T 2R (h, k) [ T o @l TR Bo wefee aen AmiemE meR e wheee @
(a) x> +y> —hx—-ky=0 (b) x*+y*-h—-2k=0 (¢) xX*+y* =2h+k

(d) x> +y*-5h-k=0 (e) x*+y*—4h—-7k =0 [Ans: a]

@ TR A FeEeTEs e (0,0) @= (hk) R wew arRe wn sEe g ame -
x(x—h)+y(y—k)=0
=x’+y’ —hx—ky=0

X—-3y+4=0,Xx-6y+5=0 aR x+ay+2=0 @ TR 2371 TS @AR AN T G

TR @R A (e [Ans: b]
(a) 5x—y+2=0 (b) 4x—3y=0 4@%3);2 =7x

d) 3x% +y* =5x (e) 3x* +3y® =25x (o

1 -3 4 %o

1 -6 5|=0 ..a=3 O

a2 ’\
x+3y+2=0 @R AT 7W IR AN y+k=0
=i Tl zed, k=0 - 3x So, Ans. % |

%awmammx‘x x—3y=0
1L 2) R a8ts x—\3y+4= ToR 7T WS A1 227 | [ R30S G2 RA GG TS
1+43 2443 1+43 3+42

3 (b) (©) 3 (d) 5 (e) 7

2 —3y+4=0 97 7T @ AT

W3x+y+k=07 (1, 2) R - V3+2+k=0 .eqn V3x+y—v3—-2=0........(0)
|B8-2] 2+43

Yo+ 2

WS T Y - TS = I @k (3, —4) 7 T few w0, geiba e @
e 3x7 +y? =10x (b)4x* +y* =x (¢)x*+3y* =7x
2iy?=5x (e)3x* +3y* =25x

)

Now, (0, 0) = (i) @7 7% =Y

2 i
T x> +y? Sy —g o 3x% +3y* —25x =0
6 3 www.bdniyog.com
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KUET Admission Test 2010-2011 Question & Solve

57. W y=3x+1 @ y? = 4ax RIS = T o= Taraae wree ke v vy

(a) 10 (b) 11 (c) 12 (d) 13 (e) 14
Solve: 9¥ita, m=3 y2=4x3xx =2
c=1 ;. ST 1w 12 g3
49, a=mec =3x1
a=3

58.  TYUEE I ¢ 7Y wERRE WGE x € y SRl dfem Torgelon e i w9, wgm
TGIE g 8 Gk e ToE vy 18

(a) 5x* +9y* =180 (b) 6x* +9y* =183 (c) 2x* +y* =25
(d) 5x* +7y% =25 (e) 3x*+2y* =16
Solve: 2ae =8
il Q
e
2 x? y
=6;e== . b*=20 542 L9°5.% 180
} ¥y 36 20 e +%¢

59.  1+3sinx+9cos? xﬁﬂWWW?W0<&‘é‘f

a\s 4] ~13
(a) 4 (b) 13 2y io (d) T (d) (73
\
Solve: f(x)=1+3sinx+9cos? x "m
f'(x)=3oosx—185inxcosx 0 =3cos x —18sin x cos x = COS X = 68in X cos X
.cosx=0 or smx—— f"(x) =—3sinx +18sin® x —18cos x

cosx =0 A, sin x 1$f"(x)=~3x1+18=15>0

smx-g EERCDIRUER cosx—\/l——l;z‘/l-i 99 R0 f(x) 93 W 2@ 5w W7 |

6° 36
5 Ix) éi?!in?{31+3><1+9 £=ﬂ
6 36 4
60. 3™ cota+cotf=a, tano+tanB=b € a+B =0 =@ =@ cot O 9z I Fw?
0 | i 1
a) —+— b) ——— c
()a b ()a b ()a+b
Solve: : + l =a ::»——b———=a .'.tamnat:an[}:E
tano  tanf tan o tan B - a
tana + tan 3 b b ab
a9, ¢ e St e Hliais o = = _———+ 9————
an(o +p) l—tanatanB:tana b = tanf = Top = tan —
da a

61. afw cot Acot B+cot Beot C+cot Ceot A =1 ¥, 9@ A+B+C 93 77 92

@ 3 (b) () X (d) 2n () —
WWW. bdnl)%g com
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sincos” tausec'li aﬂamfi’rfwsmiiwy [Ans: e]
Y

(3) e (b) e (c) T (d) . (e) "—y—
g:'i£=tan‘1 (xz _yz ] /xz _yz : \/2},2 =2 " -J2y2 2
y o y y y

= S G ¢ Tl I 39 IWE@ 0.025 ¢ 0.0135 22 wwed 3faw 79 Fer 1 e
B s 10 s 25 gFs fatR 2
%) 10.8723 (b) 11.0515 (c) 14.3725 (d) 11.3725 (e) 17.0515

Sin cos =sinsin~

& 0035 E=E[lnR2h]
x dt dt\4
&, 0025 =1nx[2Rhi‘3+R2$J Qé:
a 4 dt dt 0
s 1
B=10, h=25 =5x10x25><0.025+— x0.0135 =10.87
et 2=z 3% 9 e 26w e 5% a6 5 A g3 56 e 8 7 15 witen 79 iR |
T G0 T R20S I T JIA TR TR FO? [Ans: Blank]
3 1 5 1
= e)i= A= =
(b) 2 \ ()4 (d) 9 (e) >
S AR TSR lx-s—]+[lx9}+[lxl)=£
37 3 8 3 12) 252
2 === RFE «sh TR WG WA G 79 9 AWE e fearie | s afg wemn =it
S ST 93 TE TGA! I GF-FOF T, WOl I T T2 [Ans: Blank]
15 == (b) 52 «z= (©) 15V2 @&  (d) 12 «== (e) 10 €=
= P
BN 2cosa=0 .. cosa=——
102
=P3+(10J§)2+2xpx10ﬁx[-—1’_J - P=4180
1042
1 <2 3f Iy [Ans: c]

— [ 1 1
2-J-2) @®x@-V-2) (C)i(Jg+2)2-(J§-2)2J-_l]

i 1 i 1 1 :
'«E—:;E_(z_\/ﬁ)i,/j] JOF: (J8+2)5—(JE—2)5J—_1]

i

www.bdniyog.com
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Question & Solve

2+3 4+3 6+3 843
- - - -

67. —+——+——F—F.en. qrala e (@mio? [Ans: b]
3! 5! 7! 9!
1 2 1 2 1 B
(a) —(e”—5e-1) (b)—(3e” —6e-1) (c)=(e“—4e-2)
% 2e 3
(d) l(2e2 ~5e—1) (e) i(Sel —e—3)
3 2e
Solve: Use Calculator
243 443 6+3 8+3
al, + + + +
3 5! 7! o
205800, Byer y @otl acribiy 3 ssailig g 2
(2n+1)! @n+1)! @n+1)! @o+1)! @on+D)!  (2n)! (2n+1)!
1 1 1 [1 | S | 1 1 ]
= + + =| —4+—4+—+— 5 +— =+,
(2n)! (2n+1)! (2n+1)! 20 31 4 S B3 51 7
=e—2+;[e-——z] =—(e _geret —1-20y =Pl 6o 1)
¢ é
68.  27x°—63x2+42x—8= Oﬁfﬂwwwmmg@ [Ans: d]
-2 1 4 1 2 4 -1 =2
= — 12 b -'"_52 “&i;—?g d T s Gy
()273 ()39 *“*"@%93 ()333 ()3 3
Solve: Use Calculator
X+y x y Qo
69. X X+z z m@? [Ans: d]
y z y+z§
(a) xy’z (b) 2xyz’ (¢) 3xyz (d) 4xyz (e) 5x’yz
Solve: Shortcut; put some different values of x, y,z forlikex=2,y=4,2=5
6 2 4
2 7 5|=6(63-25)—2(18—20)+4(10—28) =160
4 5 9
70.  <Ee weEE GRETEm e 72, 73 A 76 i v 9 6 WS iR 220 (b FIy A At #e? [Ans:
(a) 10° (b) 10* (c) 3x10° (d) 3x10* (e) 7x10*
71. Sx—._i- a7 S e (@ Wio? [Ans: e}
x“(x-2)
3 4 1 5
b)) —+ —+—
x> x—-2 )2 x—2 (c)x x—2
@ s @ty
e X — X xX° x—2

Solve: Put any value of x except 2 and test.
www.bdniyog.com
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Y xy+x
=§_ x(y+x) fyon
d&x (x+y)lnx+1

(x+y)

y2 +Xy +X

X[1+(x+y)Inx]

-

‘——‘__ dx €3 W P2
e
B~ tan () +C (b) %tan" (€)+C

tan ' 3x+C (e) tan'x+C

=I§ 5

W ET Admission Test 2010-2011 Quessioe & Scihve
= X _ -1_2
2 B 2 e [Ans: ]
X—Ssmnx
(a) 4 (b) 3 (c) 2 (d) 1 (e) 0
riﬂe"+e"‘—2 ]Jm e e' -0 (mwm%)
I—-cosx %1 +4sinx
T x=tanlny Qo Y2 a3 TH T2 [Ans: d]
Yi
1+x 2x -1 1+x? -1 1+x”
( - - e
" 2x -1 (b)1+x2 ©) 2x -1 @ ) o ©) l=x?
x=tan(lny) = Iny=tan"' x :lyl=——2 :>y1(1+x2)=y
y I+x
2 Yo 1—2X
= Y,(1+x7)+2xy, = s
v, 1+x QG
v+x=x"7 eI 23S % a3 T F9? %’ [Ans: d]
ta) X" +2y © xy+y +1
2x +logx x+logx
2
& Xy +Xx+Yy (e
x[1+(x +y)logx] ?
y y dy dy ¥ e 3
[+x)=—ylhx = —+] [=—=-Inx— == +Inx |=— =+
|y +x)=-yhhx ﬁd}c ] X dx dx(x+y J {x y+x}

(c) tan'(e* )+ C

1 1%’
=— tan +c =—tan (¢" )+c
I(e) +1 -[ @ v
e"=p
dz = e*dz=dp { :
www.bdniyog.com
o5 S @ 73 NITET 2T e
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76.

i A

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

"(a) Wait here before ] €ame (b) Wait here before I arrive  (¢c) Wait here till I arrive
(d) Wait here till my arrive (¢) None of the above
Choose the best fit word or phrase for filling in the gap of the sentence below. [Ans : b)

Choose the correct indirect sentence of the following direct sentence- [Ans : d]
Rahim said, “Let’s go for a picnic.”

(a) Rahim requested that we must go for a picnic

(b) Rahim advised us that we should go to a picnic

(c) Rahim told us to go for a picnic

(d) Rahim suggested that we should go for a picnic (e) Rahim suggested us to go for a picnic
Do and die (Simple) [Ans : c]
(a) If you do, you will die (b) Without doing you will die (c) For doing you will die

(d) In case of your doing you will die  (e) None of the above

Choose the correct sentence. [Ans : a]
(a) He absented himself from the meeting  (b) He absented from the meeting

(c) He absented the meeting (d) His meeting was absented from him (e) None of the above

When I get home, my dog......... at the door waiting for me. [Ans: c]
(a)sits (b)issitting (c) will be sitting (d) has been si (e) have been sitting

The doctor operated............ the patient. 3 [Ans : e]
(a) over (b) into (c) to & N (d) upon (e) on

What is the right form of verb of the following sg‘ﬁe{fe’? [Ans : c]
“He kept me (to wait) there.” ﬂ‘ X

(a) Waited (b) Wait  (c) Waiting\ — (d) To be waited  (e) None of the above
Choose the correct passive form of theﬁ - “Keep your word.” [Ans : b]
(a) Word is kept by you %b) Your word should be kept

(c) Word has to be kept by you W should keep word (e) Word must be kept by you
Neither the boys was present. Jhedmderlined word is a............. pronoun. [Ans : b]
(a) Reciprocal (b) Distribu & Demonstrative (d) Relative (e) None of the above
Transform the sentence @ected, “Wait here till my arrival.” (Complex) [Ans : ¢]

Boannothl .. .o myself, though I do not want to be rude.

(a) control (b) restrain (c) regulate (d) help (e) refrain
Choose the correct masculine gender of “Spinster”. [Ans : €]
(a) Horse (b) Tailor (¢) Gentleman (d) Shepherd (e) Bachelor

Find out the correct translation into English of the sentence. 51 (1% (qr*% I&«™? [Ans : al
(a) Which country is Dhaka the capital of?

(b) Dhaka is the capital of which country?

(¢) Which is the country of which Dhaka is the capital?

(d) Of which country is Dhaka the capital (e) Of what country is Dhaka the capital?
Choose the correct underlined part of the following sentence which is incorrect. [Ans : e}
The plight of patient undergoing an emergency operation when the lights suddenly go
better be imagined than describe.

(a) plight (b) undergoing (c) go off (d) imagined (e) describe
What kind of noun is “Cattle™? [Ans :

LHW GFCEE 9T GEfTE @R

(a) Proper (b) Common bd r(ﬁ)og_%l(!)erﬁtive (d) Material (e)None
74 AFTGLAT AT
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- What is the verb of the word “shortly™?

(a) Short (b) Shorter (c) Shorten

Unless you work hard, you won’t pass. Here “Unless” is 4 ms

(a) Verb (b) Preposition (c) Conjunction (d) Adverb (e)w

Which one of the following is correct? [Ans:c)

(a) He gave me many good advice (b) He gave me many good advices »rie?
(c) He gave me many good advise (d) He gave me many good advises

(e) None of the above

Quinine cures a man............. malaria. [Ans : a]

(a) of (b) from (c) up (d) over (e) None of the above
Choose the meaning of “Beck and call”. [Ans : a]

(a) Obedient (b) Disobedient (c) Softness (d) Cruel (e) Respectable
Change the voice of the sentence, “They had a nice car.” [Ans : e]

(a) A nice car was had by them (b) A nice car had a them

i¢) A nice car had been by them (d) A nice car i gg@; by them

(e) No passive form

Choose the correct placement of the term “only” i %entence to mean that “he agreed to help
that boy, no one else”. o [Ans : a]

12) Only he agreed to help that boy ( nly agreed to help that boy

'c) He agreed only to help that boy e%greed to help only that boy
121 None of the above 6

Most probably he will not come. phrase describes the best underlined expression?
"2 Bull market (b) Ten “(c)Nulland void  (d) Boot lege

‘& None of the above @ [Ans : b]
Lwestions 98 to 100 ar ‘&f on the following reading :

A recent investigation bYPScientists at the U.S. Geological survey shows that strange animal
Setavior might help to predict furture earthquakes. Investigators found such occurrences in ten
Wmeter radius of the epicenter of a fairly recent quake. Some birds screeched and flew away
v. dogs yelped and ran around uncontrollably. Scientists believe that animal can perceive
environmental changes as early as several days before the mishap.

1976, after observing animal behavior, the Chinese were able to predict a devastating
e. Although hundreds of thousands of people were killed, the Government was able to
millions of other people and thus keep the death toll at a lower level.

prediction may be made by observing animal behavior? [Ans : a]
mmpending earthquake (b) The number of people who will die

The 10 km radius of the epicenter  (d) Environmental changes

mmpending storm

passage the word evacuate most nearly means [Ans : a]

¢ (b) Destroy (¢) Tornado (d) Exile (e) Emaciate

can accurately predict earthquake, there will be- [Ans : b]
amimals going crazy (b) a lower death rate  (c) fewer people evacuated
emvironmental changes w&)mbdni;dgquelwe

=T =TT 75 ANTTEIT ST TaE T
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KUET Admission Test 2011-2012

0. W y=tan' 2T o orm dy a3 TN IS
q-px dx

1 2 7
(a) 1+7x (b) 2+5x (c) 3 (d) — (e) 3
1+x I—x 1+x
Pix l
Solve: y=tan“p—+q’-‘- =t L —tan Py tanx _'.ﬂ=0+ -
q-px 1_P q dx  1+x
q

2

2. x=a(t+sint), y=a(l—cost) z, % a3 T @2

a a 3a 2a a
@ (2a-y)* ®) - (a+2y)’ © a+5y &Tt © 5t
Selve: x =a(t+sint) o

dx 2sin£c4:nst .Q 1
— =a(l +cost)............ (i) = 2 -
dt 2 a(l+cost)
)
y \ 1
y=a(l-cost) =>cost=1-= :& =
a
{1+1—Y]

e 1 1
@)+ Gi) = D _dt = :

_ asint B 1 1
a(l+cost) _(l+cost)'a(l+oost)
1-x

- 5 dy
W y=sin{2tan™ .[—— } =, v@ - @Eb?
d { I+Jsz}w dx

- (b) g 3% (© Jeadd_ o (d) o B o EAPAL.E
(x*-1) \/(x’ +1) Ja-x?) Ja-x?) 1/(I—xZ)

Y=sin{2tan" l—x} =sin{2tan"' :-;cosﬁ} [x =cos 0]

I1+x cos©
= sin{Z tan™ tan—g-} =sin® =sin(cos™ x)

== 3% :
'\/l-xz \/l-x2
mmmm VVVVVV.U(a'IgyUQ.L’UIII i i X
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04. Ioos"x dx 93 TF @FG?
(a) xcos ' x—V1-x* +¢ (b) xcos ' x+V1-x*+c  (c)x[cos™ x—v1-x*]+c
(d) x[cos™ x+V1—-x*]+c (e) cos”' x—V1-x" +¢
A - d 4
Solve: joos 'x dx =cos ’xIdx—_[{—ax—(ws x)Idx} dx

(—2x)

-1
=XCcos X— X =XCoS" X ——
I{\!l-—xz I\H x?
—xoos"x—%xe\Il—x2+c =xcos' x—V1-%x* +¢

05. I__utanx

sin X cos X

dx

dx 93 W F=H?

(a) tanx+c¢ (b) cotx+c (c) 2vVtanx +c¢ (d%§+c (e) log(sin 2x)+c¢

Zo ol
Solve: Jl—tanx_dx :dex =
SIn X COS X tanx
1 W
06. I 12X ix @z comfer N\ °
0 1+x K ;Q
\_4
(a) 1 (b) © é. O | @ Z+1 ) 1-7
‘\

SR \lll_idx '[-Jl x-g IJI-X Js '! ld}:c _IJixzdx+{2l—xzdx

—[sin"' x]} +[V1-x], =sin”'(1)—0+0—1 =%_1

07. f(x)=2x>-9ax’+12a’x+1,(a>0) 93 x=p ¢ x=q fRTe TG BT 1S ¢ At ==
p’=q T a 93 T\ T2

(a) 2 (b) 3 (c) -2 (d) 4 (e) -3
Solve: f(x)=2x"—9ax?+12a’x+1 SR, q=2a IR p=af i AR, [F7d S

f'(x) = 6x> —18ax +12a° w3 W ST

sifa® ¢ =fe® T ww f'(x) =0 p’=q

6x° —18ax +12a* =0 a’=2a

x?—3ax +2a* =0 ‘a=2

3a+y%°—8a° 3ata
X= > = > =2a,a ¢

T e 45 ash o www.bdniypg.com o e
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08.  @<f e et (1, —2) Repirdt & wwen 2re s wew e wam @i 5 2.
(a) 45° (b) 60° (c) 30° (d) 135° (e) 120°
Solve: 43, 3 Gaba et +——l A, x+y=a 3@

(1, -2) Repttdt 1-2=a =!1a— 1 .. a &3 W 30 e e w e x sy ——]
@ifoa o/ =—1 w93, v 135°

9. A(l, 3), B(-3,5) 8 C(a, 7), 5 = 933 crawn 3+ fagren Aréiew o= C s soms 26 =

Question & Solve

() 7 (b) 9 (c) V127 (d) V130 (e)V147
Selve: A(1, 3) B(-3, 5) C(a, 7) Clal. 4)
-1] 13 -1 13 -1] 13
A(0, 0) B(-4,2) C(a-1,4)
A(0, 0 B Bi-4.2)
T =l{—4x4—-2(a—1)}=5 00
2
a—1=-13 @
D=(~2,1) .CD=4/130 O
0 a3 3 wfkgren R i @, T@ 0, 0) e =g o= x—y+1=0 cf Sz=

Fréfare = 37 | Q
(a) (x+y)’=7x=9y+2  (b) §—4x+5y=0 (¢) (x+2y)’ —7x+5y=5
(d) (x—y)’ +4x =Ty ( y) —4x+4y—4=0
&7 wfeqres AN @9 TS 8 e ©ib! St g e TR e |
&3, M =pfe x —y+1= TR FAFA x +y+k =071 (0,0) e |

SR AR, X4y

- PR 3w [—%-;—J P ™ M ¢S eawaqfag | . MR (—1,1) . /
- M s e Ar=ame G X—y+2=0 /\

- TR AR (X —y+2=0 M $(0,0)
~SA=AB SOF iy = Lt

AB=> /(x—0)? +(y—0) 5

=2x+y’)=(x-y+2)’
= 2" +2y* —x’ —y? + 2xy + 4y —4x -4 =0 = (x+y) —4x+4y-4=0
= .-\+B=12t- R, O3 cos’ A —cos’ B @3 1H F92

& sin(A-B) (b) sin(B—A) (c) cos(B-A)  (d) —cos(B-A) (e) 1
H:A—-coszB=si.n2B—sin2A=sin(Bl+A).(sinB—A) '

-Lc'n(B—A)['.' (A+B) =g] =sin(B—A)

eSS www.bdfii{og.com TR AT 757 ...
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12.

Solve:

13.

Solve:

14.

Solve:

15.

Solve:

16.

Solve:

17,

Solve:

I cosx+cosy=a 9R sinx +siny=b T, S cos(x +y) 97 I @FFH?
- a’-b’ 2a’-b? a -4-2132 a’ +3b?
a c) ——— d —
a+b ) a’+b’ ) a’+b’ @5 —b? (€) a’—2b’
a’ =cos® X +cos’ y+2c0SX.cos y

b? =sin’ x +sin’ y+2sinx.siny  ..a’> —b® =cos2x +cos 2y +2cos(X +y)
a’+b>=2+2cos(x—y)
@¥7, a’ — b’ = 2cos(x + y).cos(x —y) +2cos(x +y)

= cos(x + y){2cos(x —y) +2} =cos(x+y)x(a’ +b’) .. cos(x+y)= -:E:

tan™ 2+cot“‘% a3 T @HB?

Ans: (C) FFIEwTne IR O

W A*‘B"‘C:% 4% sinB.sinC=—sinA &, o @tﬁimmmtc @3 T A2
@1 (b) -1 o (0330 % C(d) ZB X C(e) -2
canrermrcicion S SR mC e

inj —— A
L ;cotA_FS_(z'_‘_q_J_ =cotA—cotA=0
—Ssm
a3 38 R At ogw@ = et fAess e st sagm 128 6 varg w=fge 137
CTLICS TS I | BATR T &t Ava e wre oF swEfea?

(a) 13 ft (b), (c)15ft (d) 16 ft ()17 f
s, =5 8% =2 x32xHS6] Ytk

S, =%x32xt§=l6t§ -8, -8, =16(t2 - t2) b st
=128=16(t, +t)(t, —t,) =t,+t, =4[ t, —t, =2]

St =3sec.t; =lsec .S, =16%1"=16# Y,

g g (AT @ IET WeH™ A TAGE 0 TS | 8% 3 eI 18 fibm wieww
POIEN CILFS IS e Sfowy Fa3?

(a) 14 meter (b) 18 meter (c) 16 meter  (d) 12 meter  (e) 22 meter
S=Kt’! =>K=2ms” ..§,=K(2t—1)=14m.

Ld ) [— [ Ans: d]
2+3i

o 2 2 LIRSS = vy 18

mod z= ‘1(22:-1;]2 = J+_l 5 3‘/__ 565 [use calculator]

nnnnnnn hclnnlnn com

LW gFIeliT 9% g @R

DLAC LD A4 SO

48” AT oy [aas
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B WMoa+B=3ec’+B =7 W @ o ¢ P @ TR T O -

(a) x*=3x+7=0 (b) 9x* —27x+20=0 (c) 9x* —20x+27=0

(d) 3x*-21x+20=0 (e) 3x*> —20x+21=0
Sebve: a+B=3, o’ +P’ =(a+B) -3apa+B)=7

=27-7=3ap(a.+B) :>aﬁ=% - e, x2—3x+%=0 =>9x*-27x+20=0
R 21 + 31 + 41 o F =i e @i

P AR ] B S, I S

! =2
(a) 1-e (b) e—1 (c) e’ -1 (d) e2 -1 (e) e 2-1

1 1 1 1
Tttt ——+
BT 202l 2R3 204

.................................

x?+1 a3 S wfeet oTD? o%' [ Ans: b]
1 5 x+1 1 3
(2) x+ +— (b) x+—'%—z—— (c) +—
x+1 x"-2x+1 b 3(x*—x+1) 2x+5 x“+11
- 5 n 9x ( Y 3
x+1 x%+3x+5 1" x*+5§
R x Fx—x | ‘x _' X
Ba < @ XADE —x+1)
X Bx+C

= + =>x=Ax*-x+1)+(Bx+C)(x +1
(x+)(x*—x+1) x¥1 x*-x+1 ¢ VEBEECKETD

= x=Ax" - Ax+A+Bx’ +Cx +Bx+C .. 71 5iilige 317 o3,
A=B=0;A=-B;A+C=0..A=-C .B=Ce¢ -A+B+C=1

R -A-A=]=A= —% B=C=l

3
4 X - o A X e e kg

x=Ix*-x+1) 3(x+1) 3(x*-x+1)  x*+1 3(x+1) 3(x*-x+1)
2" -b’ 2ab -2b

s 1-a?+b’ 2a @3 T @FFB?

D -2a 1-a%-b?

22 +b’) (b) (a+b+5)° (c) a* +b+7 (d) a’ =2b+11 (e) (1+a” +b*)’
2 -b’+2b° 2ab—2ab - -2b .

2sb-22b  1-a*+b’+2a’  2a [c,‘zc‘"bﬂ

B+a’b+b’ —a—a’-ab? l-al-b 2 27 %

....... bdnivoa.com
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1+a* +b’ 0 -2b 1 0 -2b
=l o0 1+a? +b? 2a |-(1+a?+b*fl0 1 2a
b(l+a’+b?) -a(l+a’+b’) 1-a’-b’ b -a 1-a’-b?
1 2a 0 -2b 2.,9.2% 2. 1.2 2 2 2 el
= 24b° =(l+a*+b*J(1—a° —b"+2a" +2b") =1l +b
(1+a +b T{_a entis? +b‘1 i “ ( a )'( a a ) ( +a
22. "C,+"C,, 93 %W FM? [ Ans: d]
(a) n+3cr_1 (b) n—3cr+l (C) n+3Cr (d) lH-lCr (e) l!+lcr“I
Solve: 1 ) 5l
R | From Pascal's Triangle

1—2i=m] l
R—— 1 1 nCr +n cr—l =" cr,
n+1— 1 4""@@4 1 :
23, @(x)=log, cosx T ¥ @7 WK LY Qo
@ LEreosn)  © Loveszn @ &%?Sx) (@ 3 (+c0s3%) (@) T+sin3

Solve: ((x)=In(cosx).. e =" = "C& = cos’ x = l(1 + 08 2x)
oM’ 2
! 4

24, Bt l=——s a3 T

x—-vl(x -1 log x] Wp

1 1 1
g)— c) 3 d) —— e
(a) 3 (b) (© ( 5 (C) 5

1
x.—+logx—1
Solve: 1t (L-Il i: Lt xlogx—x+1 _ ;. ;ﬂ ; [La Hospitalsrule]
x—i\l x—1 logx) x—xlogx—logx “_‘”x.——-—+logx
X X

1
= Lt i - Jal Lt X _ [La Hospitalsrule] =-%—=

x——l x—l 1 1
1-—+logx =i
X X X

25. X l+y+yJl+x =0 2= g_y 97 A (P02
X

1 2 1 2 11
O Gy O 9%x . 9Tk Y=

Solve: x,T+y +yV1+x =0 = x*(1+y)=y’(1+%) =%’ +x’y-y —xy" =0
Sx -y +xy(x-y)=0 > x-YX+y+xy)=0 =>x+y+xy =0 x#Yy]
=>y=—i- -_-d_y=—(1+x)+x= —11
1+x dxy o« Q+xf = (d+x)

Larw avefie v gefirt @ www.bdniyoggom ARG GO [T
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£ T O #d 6N 20cm rH WET R I§ (TS AR 7 | S o wE wE T
TS € B IHE IEF (TATS TN A7
(a) -5D (b) -3D (c)—4D (d) +5D (e) +4D
W Voo« La Lo loptgtlyidop u oy
Y 2V e f o -=0.2
10 cm @R Rg (R g3t w@en vofd e 7© @I @ B e e Reer wew w e
I SRS A2
(a) 12.0 em (b) 14.0 cm (¢) 10.0 cm (d) 20.0 cm (e) 12.5cm

f=0.lm m=4 7~¥T,i=4 L v=4u l+—1—=i 9, i=10 Su=0125m=12.5cm
u u 4u 0.1 4u

20 mm® CREPEE 9% 5 0.1 mm AF FOE e frs 0.15A 2[R T 4E ekifEe 0 TA?

73 =fge aPmfe wouE 1.118x10°kgC™ @3 ¥y 10500 kgm ™

(2) 125.22mm (b) 125.22s (c) 122.25s (d)&ﬂ.lls (e) 125.20s

FRE WS, V=20x0.lmm* =2mm’=2x10"m’
S FR S, m=vp=2x10"" x10500kg =2.1x10"kg 0

=
W=zit .f=0 2% —125.225%’
Zi 1.118x107°x0.15
maﬁmmwmzomma T Vg 7 IA AATH IR @ A
= T S e 4 | Q\

i (&)
2) 40 cm (b) 60 cm ? 50 cm (d) 80 cm (e) 80 mm

f_‘=(,§._1}/[2_1] @—EXSXZOCmﬂBOcm

14 m/s Wi @t @3fB “eFes Bom five gre ot 7o | ARl ot weTe 7 g weiE?
i2) 1.83s (b) 2.13s (c) 3.15s (d) 1.43s (e) 2.86s

e = 20 14%2 ) g6

g .
T T g e ey 3 T 3em @R T @ 6.24cms ™ T, Fba A Fwr
fa) 5s (b) 1s () 3s (d) 6s (e) 4s
- =coAzm=X‘-‘ﬂ-“;=6'—24 :211'_6__2j 5 T=3s

A 3 T 3

C e @ AR e 2ol &S I WHer e g | gur S T (v =1.4)
f2) —88.25°C (b)—166.13°C (c) 88.25°C (d) —66.10°C (e) 166.13°C

TV =TV, @, 273x (V)™ =T, x(2V)* 9, T, =206.89K =—66.10°C
=5 =l e o e e goaies T Iz ung | Hfembs weet ver
1) 100% (b) 0% (c) 26.81% (d) 28.62% (e) 26.05%

-.=1-T =1-28 _2.81% ¢
T 373

£% qEiE @R Www-igil'li)’Ug.bum ﬂ
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34.% @3 @ &2em™ Afemm 90km/h @t ATl e wwwe T | aBe wafye W@ 650 Hz T
*1 TS AT | BRI AP FIAE F7 (ILS *a 1S 325m/s)
(a) 190 Hz (b) 550 Hz (c) 650 Hz (d) 900 Hz (¢) 600 Hz

Solve: f'=650Hz; V=325ms™; u=%ms" =25ms™

v

650=1"= f ..f=600Hz

V-V,
35.  @m @3 fafoy e Ba afts 702d 7g 1.9 mm | @ 57 (4 1m 7R0Y coRmE TRER 0.31 mm
(ofe1 | SR S 7 (34 39 |

(a) 5890 A (b) 5900 A () 5900x10*m (d) 2m (e) 5800 A
-3 -3 o
Sotve: An=2D . 5 (Ama_031x107xL9xI0P - (o002
a D 1 A
36.  f&ufb «rmees e Rt Giib 4wy 1 uF |§mmmw$vzm= 8 3uF 71 eemfba W o2
(a) 7 uF (b) 6 uF (c) 8 uF “J;'d)‘*uF (e) S uF
Solve: %+%+%=% = C=6uF .@‘.‘..
37.  9Q mwﬁmwwwﬁaﬁwgﬁmwm; 9% SIZE SRMI @y T2
(a) 18Q (b) 210 ey d) 270  (e) 30Q

Solve: g7 @14 =n’x9=3’x90 =810

38.  S000A ot o70dm WIS 3R B
(a) 4.251 eV (b) 2.846.eV
\ _, 03

& IT?
(c) 2486 eV (d) 5.105eV  (e) 2.483 Me

C 2 R )
Solve: E=h-==6.63x10 " 5 o) =2:486eV
39. wfGumNR oG Wiy 2341 T8A, 97 WXHW FIAF T FO7
(a) 4.27x107%y™ (b) 2.69x107*y™" (c) 8.54x107y™!
(d) 5.29x107*y™ (e) 427x107*y™
1 l =1 -4 _ -1
Solve: A=—=——y" =4.27x10
v 23417 e
40.  F© (vt 5oC7 @O Spaceship 9 WA W TR W 2TA?
(a) 2.598x10°m/s (b) 2.698x10°m/s (c) 2.798x10°m/s
(d) 2.85x10°m/s (€)2.789x10°m/s
2 2
Solve: £9-=Ln lav—1 t, l—v—2=0.25 S V=2598x10°ms™
2 o C
41. 95 CSITER CHAR oD 18 @Rk (OB ST WM 643 | (SFTNET TS @i T
(a) 20° (b) 25° (c) 27° (d) 30° (e) 40°
Solve: ABcos@=18; ABsin0=6y3 . tanB:—-% 5 8=30°
aw el av asfiem e 52 WA LT 7aT

www.bdniyog.com





https://www.bdniyog.com/pdf/
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2. oI ARTR T lem IM S Aw A w1 3F +w@ 10em A7 e == == | seewmm v

f3fa =2 | (TR #fiff@ 5™ =25x10° Nm™) [ Ans: 2]
(a) 1.555x107J (b) 1.555x107J (c) 1.550x107J
(d) 1.655%x107J (e) 1.550x1072J
Selve: W =Tx4nx(1; -r’)x2 =1.555x107J |r,=0.05m, 1, =0.005m
£ o3 GF Fm REE e 10ms ™ R 5OTS WRE 399 | 933 Ny @I oSt 100ms”! AR Gre
FAT=ANE 5ot OF 39 | G BT w4 forere (e [ Ans: a]
(a) 20sec (b) 20min (c) 18sec (d) 19sec (e)21sec

Sabve: t TR o forET CECA, 100t=%x10xt2 -~ t=20s

= rEe O offediE ot 0.013 o, 79 ¢ R rmenm 1ot g A3 Irmda 60 e | ARkd @
& 20s vy ¢ ¥ S iEg 97 (4Rd P =6.4x10°m

(2) 8.200x10*m (b) 8.213x10*m @1&104

(d) 8.213x10*mm (e) 8.213x10°m

R T ACTF M, ¢ M 93 GG = W@t@ FEe (M, +M,) =7 @S

R TS SR WY =d t‘.'.;d‘_d Aot e s y

M. x0+M_ xr=(M,+M,)d

MM:;{r 6(E>;i4x1j{}° vbo'wj mh) JG 2

e —
t +1

60%6.4x10° ’ . M’ HabMe =
.—_-7l'—=4_93x10 m (Perfect Ans: 4600km)
|'— 1] K

.0.013
Note: ﬁﬁammv&mm%mmmamﬁ%mmﬂmw
=2 e orR RIS A RO (Tt ZEE | (7 33re: et i () A e’ 4600km
STEE AT 8 (IO (FNIF G (ATSITRA | IFIOA S (A Ow WdE G =B *ifs e qeraha
T wide | e A Tw @t Ims™ 3% I v o s ArRitn e T g | wm
e fr e [ Ans: b]
e TRy wifret 5.82ms™! @3k R WiwEs 3.41ms™
B T Wi 4.82ms™ @R IR WIfFET 2.41ms™!
o T wiwEe 4.21ms ™ @3R @it e 2.44ms ™
W8 TR IR 2.41ms™ @R R Wi 4.82ms ™
e TEE Wit 4.82cms ™ @2 (MR WIS 2.41ms ™

1
WSS = m T 8 @ v, T, TR 0 v, T, %mvf:EXmevix_z v =2v,

- :l;mvf =%x 2mx(vy+1)* @, 4vi=2(v,+1)* A, 2v,=4/2v,+42

L e =24Ims” v, =482ms”
www.bdniyog.com
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46.*

Solve:

47.*

Solve:
48 *

Solve:

49.*

Solve:

i

Solve:

=) 8

Solve:

0.150 kg =@a ¢3f6 “fe ¥TE 0.75m 7Nl @36 FOR GIAT= (04 R At &f fif s 90 =
Fota Bofg B facfa =211

(a) 999N (b) 9.90N (c) 9.99kN (d) 995N (e) 9.98N
90x2nmds_l]

a7 tgfes Aifea SR freeess g 0.5m @R IR 6x107°m | Jfex Fwet 60 W | fef
Rferd o v FeemE 80% =W, ORE RENmchs Sl E T (G SR GOEM
c=5.7x10"Wm?K™)

(a) 1932.99K (b) 1933.23K (c) 1932.00K  (d) 1933.00K  (e) 1930.99K
P=cAT'x08 60=57x10%x2xntx(3x107%)x0.5xT*x08 ..T=1933.23K

3B TR 9B B B it 20cm @ 25cm TR AN RS T TG 25 e 10%

Teoi T | AP FAE (A 99 | Sita B @ ©F AT 12.%;5 2.5x107°Kgm™ |
(a) 140 Hz (b) 175 Hz () 150 Hz = (d) 110 Hz (e) 125 Hz

’ {
B 1 Y 12.25_3 _175 -
2x0.2 2.5x10 :

’ ! R St
s 1 x 12 25_3 ~140
2x0.25 2.5%10

4f3 SR ¥ £, o f, ~f =28 @R f, ~f =10

RS CoPe OITR S JBILA] TUHTE FTNGPIEZT (00 TSN “f o] =11 e fem
gear, £-140=10, . f=15082 °

fetata @6 A S x10%ms™ =heat cofer | ST Wi eyt fe 770 @3k «ft eff erees
It9 afe | 519t 8 Wty HEg e ¥

(a) 8.14 km (b) 8.12 km (c) 8.12m (d) 8.10 km (e) 8.00 km
Foelr == mR10
“4mn  4x770x12
@3B pua wyel a@ 10 kgm® aR GINE TS 1.974 Am?® | OTF (I B gorcs o afe
24 e TR I | @ B S-THINSG OGN Qe SAIRTH I {9 ¥4 |

T=mo’r =9.9N [o=

c=4mnd ..d m =8.12km

(a) 40 uT (b) 35 uT (c) 32 uT (d) 38 uT (e) 30 uT
=5
T=21t1‘L ?n,@=21tx1‘—10—— L H=32uT
MH 24 1.974xH
POCI, @3 g & & «aeeia 3o w_fge? [ Ans: b]

(a) Sl RS I (b) @3B e A <%=  foaf Fcard a6
() «=fB e FTarardt T ¢ ot smafae 7w (d) ol wwf 79w (e) mBE 7os 70

Cl
Cl—#’ -0
Cl

__ www.bdnivog.com
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52, 400°C wrrars fewm Rfdm K, @3 79 3@ 0.0128 atm 23, oRe K, &2 5= 9= @

%Nz + %Hz <= NH,
(a) 0.40 mol.L™ (b) 0.42 mol.L™ (c) 2.31x10* molL™*
(d) 3.98x10* mol.L" (e) 0.70 mol.L™

1 3
Selve: k = kc(RT)I 22 -k =k, (RT)=0.70 Latm’ mol™ (unit is not correct in options)
According to the Reaction;

-1

Unit : [K,]=—32 — atm™ and [K,J=——20 5~ Imol”
atm? atm? (mol L™)?(mol L™)?

[=amr enf Senfe care &)

Henderson ii@a @31 ¢t focaa comis #(oe w32 [ Ans: c, d]
Acid] [Salt]
H=p% —log A% —p** =—pH+1 H=p" -1
(a) pH=p™ —log [Salt] (b) -p pH+log (c) pH=p %8 Acid]

(@ pH=p" +log 20 (¢) _logH']=—Jofky+ log L)
[Salt ] )& [Acid]
37°C  wem@ees  Zn| ZnClL(0.25 W @ fRe3 (emf IS TR
n| ZnCl,( mz"t (emf)

E°Zn| Zn* =0.758 Volts]. _‘} N
12) 0.7402 volts  (b) 0.7305 valtsy ' (c) 1.3862 volts (d) 0.7765 volts (e) 0.7757 volts

E=E, _RTyrzn?) =078 4x310 1 025) =0.7765V

2F L9 2x96500
Americium 93 359 =& wﬁwmﬂﬁmw—wﬁl.%m W [ Ans: a]
W) 1260.56 MeV 0% (b) 1.25x107™° MeV (c) 12.60x10° MeV

W 12600 MeV (e) 1.26x107 MeV
- 1.35x1.66x107" x (3x10°)?
(1.6x10™"")x10°
Sl =3 wq fama 2.50 ampere 5% 30 ff 6 4ta eifEs Faw wttars & s gold et zw?
i8¢ (6)0.02 g (c)0.15 g (d)3.06 g (e)1.53 g
w197 197

= - W=—"x25%x30x60=3.06g [ Ans: d]
¥ 3F 3F

= S e e [ Ans: a]
SNE (2) +3Cu0(s) =3Cu(s) +3H,(g) + N,0,(g) (b) PtCl, +2HCl=H,PtClI,

=0, +2H,SO, =2PbSO, +0, +2H,0 (d) SO, +Cl, +2H,0=H,SO, +2HCI
M0, +3H,80, +5H,S=K,S0, +2MnSO, +8H,0+5S

)+ 3Cu0(s) > N, +3Cu+3H,0

Ffrem e Aier [Ans:C]
C>Cr>Co>Mn (b) Cd>Co>Sn>Hg>Pb (c) Mn>Zn>Fe>Cd>Cr
>Hg>Ag>Pt>Au (e) Li>Na>Al>Ca>Mg

e pm— Www.bdrg')sug.(,um P S —"— ———

=1260.56 MeV
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o B

60.

Solve:

61.

Solve:

62.

Solve:

63.

Solve:

Solve:

65.

Solve:

66.

(A) SO;” (B)'S,0
28,07 +1, > 21" +8§0;"

fAtsa @l erforats g2 [ Ans: e]
(a) K;[Fe(CN),] (b) K,Fe[Fe(CN),] (¢) Fe[Fe(CN)]
(d) [Fe(SCNXH,0),ICl,  (¢) KFe[Fe(CN),] [ 7icwe: Fe,[Fe(CN), ],
fawa ot Hfowe [ Ans el
OH OH OH
OH OH
(@ li] (b) If:l Lo al®) @ <Oj/ © @ o
Quinol Hydroxyquinon Catechol Pyrogallol Resorcinol
A- Catechol, B- Pyrogallol.
C=0 @ C=C 35 o fowa @m {zzeifs 7o e [ Ans: d]
(a) o-3% SR (b) m- TH W= 14 s SP? Acwfie
(d) TG wredt go Rfew om o (&) 15w e
>C=0 frefmeffer 7o R om ¢

288 K wivw@i @ 745 mm 51 0.25 g &= & 36

Wﬁmwmm; GF E =
CITE ARG A1y 0ofd 7R | [ 288 K Stetwam i -

13t =12.7 mm] [ Ans: €]

(a) 1.21x107° (b) 0.034 t@ﬁ 6 (d) 27.4 (e) 2.43x10™
760xV, (745-12.7)x30
L= = V. £2P4cm’
273 288 9:-.-2
STP¢e,22400 mIN, ¢ <nF 2molke N 7 .- 27.4 mIN, ¢® 9w 2.43x10°mole N
AMAALES W S 7131 GRS 2071 & =1z e

(C) SoF (D) 8,07 (E)-8:0;

ZnCl, 3 T#ifgfers e sy Ame 300°C S ¢ U 51t $8¢ Fate & #enn e

(a) Benzene (b) Benzoic acid  (c) Benzaldehyde (d) Aniline (e) Chlorobenz
NH,

+NH3—Z";'g—+ +H,0 [ Ans: d]
30
TNT-TS *o31 T Siel ZZGSH NE? [ Ans: d]
(a) 1.61% (b) 2.17% (c) 1.82% (d) 3.22% (e) 2.81%
CH
H H 4, (C,H,) (CH,) (NO,), .. H &7 =t = L3 ol dam,
NO, 227
TNT
ez e w1 oS todt 2@
RCOOH—=: 3R —COONH, —2%€ ;9
(a) R—NH, (b) RCOONH, () RCONH, (d) RCONH, - (e) RCH,

www.bdnivog.com
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25°C wrem @3 B gRee I B T 400 mm Hg | 25°C oimem awe == 5w
300 mm Hg 201 R (@e-S5ie 367

(2) 0.50 (b) 0.25 (c) 0.75 (d) 0.60 (€) 0.40
300=400xx . x=0.75

TR AEFIRECE PP QI G w4 e sifere e ot wifie 2 mfersfie yfe ey e |
=wergs fifenifbre v am TG SvE-2wE 232 [ Ans: d]

(a) 2 (b) 4 () 6 (d) 8 (e) 10

H, _82+ 4Br, +4H,0 > H, §04 +8HBr

S 93 TR AAE ARRET =8 .. 8 mole ZFRGT WHIH-2W ZRE |

5.0 M gl g =6 e 10 minutes €3 500 mA ST bR 31 291 | S AW IR SR S 92

i2) 0.0987 (b) 0.000329 (c) 0.987 @éixl()” (e) 1.87x10*

63.5 63.5
=—— W= 0.5x 600 =0.0987
= IF N T ¢ iy
=5 =R armfve Rigam sy 10 seconds | e TN aR 7 AR i | 0.2 M |

WETET 2R ST S T g4 R 20;;:%

= 02 M (b) 0.05 M @ (d) 0.1 M () 0.02 M
K=l s P Aol S

= 0.2x10 - T, xK 20x0.5
$ 2

MS0, 739 93 I AN | [E’cu/cu =0.34V GR E’mgrve =—2.3V] | GTSRER
B = e ey @ [ Ans: e]
BT R 2le (b) stsiTafrarT et “igra (c) T2 oifse T

W Mg e 7@ (e) Mg ferfae = =1

el = E'vg img +Ecwc =(23-034)V =264V

TEFFOOA I3 71) Foar Mg™* Reifae za =1 |

=5 wren PR ¢ SRR e TR Uwm 98 @3k 175 Pt | it ot
B2t [ Ans: d]

=TT (b) BB (c) irzfefas (d) feefas () ITAT=RETeT
| =%=o.56 . S e 6 . b e |

S IO RYNT n @A AN 3 T O TP PG A, | GA A FS A2 [ Ans: e]

3 (b) 3s, 3p, 3d (c) 0,1 (d0,1,2,3  (e)0,1,2

£ =74 ¢ 9% FeSO, @ = wifie #we 3% am K,Cr,0, aia?

T4 g (b) 3.3882 ¢ {c) 2.2580 g (d) 1.1294 g (e) 1.9812 ¢
www.bdniyog.com
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Solve: 6FeSO, +7H,80, +K,Cr,0, —3Fe,(S0,), +K,S0, +Cr,(80,); + TH,0
6 mole FeSO, =1mole K,Cr,0,
. 6x151.85g FeSO, =294¢g K,Cr,0, .. 3.5g FeSO, =1.1294¢
75: 25°C e 0.015 M @R 3.75% 2 affie g pH o 2032
(a) 1.8239 (b) 1.2498 (c) 3.2498 (d) 2.2498 (e) 1.4259
Solve: H* @3 G 7ieant = 0.015%3.75+100 mole =5.625x107 mole
- pH=—log(5.625x10™") =3.2498
76.  Make the following sentence negative. [Ans :
(a) No sooner had the thief seen the police than he ran away
(b) No sooner the thief saw the police than he ran away
(c) No sooner has the thief seen the police than he ran away
(d) No sooner the thief has seen the police than he ran away

(e) None of the above K\
Solve: Sentence 712 | 'S4 #f3® IF A >

\V
77.  Find out the appropriate preposition : ¢ O
His salary is not adequate the volume of &r e has to do.
(a) to (b) for (c) wﬁh O (d) by (e) None
78.  Change the form of speech in the following senitence :

The beggar said, “Alas! I am undone™. 9
(a) The beggar cried out with sorrow tiiag e was undone

(b) The beggar was very sorry t thiat he was undone
(c) The beggar expressed that undone

(d) The beggar said that he done

(e) None of the above

79.  Choose the correct Fendinine gender of the word “Drone”.

(a) Dove (b) Duck (c) Bee (d) Doe (e) Roe
80.  Choose the correct plural number of the word “Appendix”.

(a) Appendixes (b) Appendum (c) Appendices  (d) Appendises  (e) A
81.  Choose an appropriate word or group verb for the blank in the sentence below :

This tree brings ..... good fruit.

(a) forth (b) forward (c)up (d) into (e) with
82.  Rewrite the sentences using ‘in spite of’:

The lady had a desire for costly dish. She concealed it.

(a) In spite of her having a desire for costly dish, the lady concealed it

(b) In spite of having a desire for costly dish, the lady concealed it

(c) In spite of his having a desire for costly dish, the lady concealed it

(d) In spite of her having a strong desire for costly dish, the lady concealed it

(e) None of the above
83.  Rewrite the sentence using right form of verb :
I wish, I (be) a child again!
(a) I wish, I were a child again! (b) T wish, T was child again!
(c) I wish, I shall be a child again! ' (d) I wish, I will be a child again!
(e) None of the above

E ﬁ a5 ﬁ Vv"vvvv.bdll;y\)%bunl E E
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Choose the correct translation of “@Gw @<fG ¢=11% ¥t (1" into English. [Ans: a]
(a) A man was run over by a train (b) A man was cut down by a train

(¢) The train cut down a man (d) A man was smashed by a train (e) A man was cut by a train
Choose the correct translation of “I must have the work done” into Bangla. [Ans : c]
(a) g &t Fwfz | (b) wnfaR s1&ft sw@feamw | (c) wifa @b w3 sfo 77

(d) =¥ w1ef’ 3392 | (e) =¥t froa w1eifs @z |

Choose the correct sentence form below. [Ans : d]

(a) This is a task to which he is unequal (b) This is the task for which he is unequal
(c) This is a task in which he is unequal (d) He is unequal in this task
(e) This is a task on which he is unequal

Fill up the blanks : [Ans : e]
A good player should know.......... :

(a) how to practice hard (b) how to be a good player (c) how to practice

(d) how to play effectively  (e) how to play in efficiently of %

Fill in the blanks : " o )¢ [Ans : e]
I want to hear how you managed the dgy

(a) (about, with)  (b) (about, to) (c) (about, by) {{d)(about, on) (e) None of the above

Read the following passage carefully and give an$wer to Question Nos. 89 to 91.

Education is much more than mere literacy.mpncept of education is much more significant.
One who enriched his head, hand and heaff'ig*a*harmonious way is educated in the true sense
of the term. So, here we get the conc f three H’s after the acquistion of the three R’s,
“Reading, Witing and Arithmatic™. wl a literate person uplifts himself to self learning stage,
5e begins to acquire the enric f head, hand and heart. One who becomes an automobile
engineer should have the theosgtical knowledge on automobile in his “head”, He must know to
work with an automobile with'his skilled “hand” and should have the moral values to be fair in
&is profession in his “he#t’. If an electronic engineer has to go to a mechanic to repair his TV
set, it shows that he is not skilled and educated in the true sense and even has no desire in his
Seart to learn the skill. If one who is a holder of the highest degree of education of our country
tzkes bribe to do someone a favour, we cannot call him educated because he is not rich in heart.
S0 let us try to develop our three H’s for a peaceful and prosperous Bangladesh.

Who is called an educated person? [Ans : d]

'2) He is an educated person who studies attentively

'9) He is an educated person who gathers knowledge from qualified teacher

‘=) He is an educated person who acquired knowledge from a religious environment

'&) He is an educated person who enriched his head, hand and heart in a harmonious way

‘2! He 1s an educated person who enriched his head, hand and mind

What is meant by enrichment of “heart™? [Ans : c]

& Enrichment of head, hand and mind in a harmonious way

% Enrichment of reading, writing and Arithmatic

&' Earichment of moral values for his profession

& Enrichment of hand and intellectuality

¢ Enrichment of knowledge and mental power
www.bdniyog.com
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91.

92.

93.

94.

9.

96.

97.

98.

99.

100.

(d) I shall finish the work @e you came
. (e) I shall finish the work.before your coming

Choose a suitable title of the passage from the followings. [Ans : b]
(a) An educated Man (b) Qualities of an Fducated Man (¢) Educational Qualities
(d) Objectives of Education (¢) Three H’s and Three R’s

Choose the correct antonym of the word “Prosperity™ [Ans : ¢]
(a) Failurity (b) Unsuccessfully (c) Adversity  (d) Ineffectivity  (e) Uncertainty
Choose a correct word for the blank in the sentence, “......... I could fly in the sky!” [Ans : e]
(a) How (b) Have (c) If (d) Oh (e) Were

What type of noun the word, “Infancy” is? [Ans : b]
(a) Common (b) Abstract (c) Material (d) Collective (e) Proper
Transform the following compound sentence to simple sentence. He was ill; therefore, he ¢

not come. [Ans : a]
(a) He could not come because of his illness (h? As he was ill, he could not co
(¢) He could not come because he was ill

(d) Illness was the reason for which he could not come, ‘Té) None of the above

What is the verb of the word “shortly™ v :‘:w' [Ans : a]
(a) Shorten (b) Short (c) Sil()%[;igf'- (d) Shortness (€) None of the abo
Choose the correct sentence: N 9 [Ans : a]
(a) I shall have finished the work befo feYyou come

(b) I'shall finish the work before yO@ Will come
(c) I shall finish the work befo d come

Choose the incorrect underlined part of the sentence below. [Ans : d}
They are constantly worried about these as they know that unless they can perform their
properly they have to face strong criticize.

(a) worried about  (b) know (c) can (d) criticize (e) have to
Transform the following sentence correctly by changing voice of the verb. [Ans :
[ know that she called you a fool.

(a) It is known to me that you were called a fool by her

(b) I know that you were called a fool by her

(c) It is known to me that she called you a fool

(d) It is known to me that she had called you a fool

(e) I know that you had been called a fool by her _
Which one of the following is correct? : [
(a) He is better than I (b) He is better than me (c) He is better than |
(d) He is better than myself (e) Noné of the above

I anefim os qefiem e www.bdpiyog.com VTG ST




KUET Admission Test 2012-2013 Question & Solve
KUET Admission Test 2012-2013

0L 7 o84 i-2j—5k @R 2i+ j—4k @7 TGRS @ T2 [Ans: c]
(a) 38.5° (b) 36° (c)37.17° (d) 37° (e) 36.2°

——

Selve: A=i-2j-5k =
i — Sl .. AB=ABcosH :>oose=i_§
B=2i+j—4k
Let KA_B-=0 :>9=COS‘_I 1‘2+(_2)'1+(_5)(~4) =37.17°

VOF + (2 +(-5F 22 +1° +(-4F

12 93 W 400m TwE! (ATF A B T AR GF2 AN 90 WE S0m/s @ A (RrE ArS TAE

(=IGl 271 | TS THOR I§ F2 M ZE? [g=10m/sz] [Ans: e]
(a) 180 m (b) 160 m (c) 140 m &12@ m (e) 80m
: Iy _-? u=0 l400—h From-ﬁgi 2 (i) <, o
h=vt—— ..Q =yi——
400 2 d.‘ itk
$V=50m./5 [h 400-11?&. .(ii) =SOX8—%XIOX82
VT 77T TR (i) £ —80m
€3, sfizre h Swem fafe ) @vt :t:ﬂ-_-ssec
50
B o R R 20 O %@ﬁwwmmﬁm|mmmwm
TF LTS WA? [Ans: b]
. (a) 34°30' (b) ' (c) 36°22' (d) 35°45' (e) 35°
Balve: r=70m 2
T =20sec tan9=g 21
___2£_27tx70 5 Note:co=T
T 20 =>9=tan"w- V=0r
e T3 AT e =W ] 70x9.8 GSIE 8 A A |
—21.99m/s = 35.182° =35°10' ~35°12

W=7 o 20m T (NF @A AR AR AT G BT 7@ @ @S 600kg A fefe 7w 7

== TR IR @ Sms™! T, @B AR WSt Ter [Ans: c]
f2) 1.96 kW (b) 2 kW (c) 2085 kW  (d) 125 kW (e) 2.085W
SET=, 1 :
= =600 kg mgh+§mv [ormt @ R 4t e IR o
2=20m T SR RS IR g S e
»=5m/s 1 5 hill '
£=9.8m/s’ _600x9.8x20+'§x600x(5)
t=60sec h 60

=2085W

=2.085 kW
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05. @3 oes e gz i feme 3 waer cremre e 2w [Ans: a]

(a) 4s (b) 5s (c) 65 (d) 165 (e) 255
Solve: T, =2sec TaVL

it sl ol 2 AEg :_z__ﬁ

Lz =(3+1)L1[ 3 Mw, 3 @ A 1 "[*2 L2 TZ 4LI Tz 4

=4L, - T, = 4sec (Ans) '
06. 2f0R WF @R Imm’egRTa cRawa (B SR GE 0.lmm e TS IO A Fo?

[Y =2x10""Nm™] [Ans: b]

(a) 5x107J (b) 5x107J (c) 2x107J (d) 107*] (e) 2.5x107J
Solve: L=2m 1 YA/

A=1x10*m’ Wis 3o

£=0.1x10"m 1 - -3

Y =2x10"'N/m’ e L0l L0 XI0T<I0 N ot

2 2

07.* M 936 MR WYSTAR 6 % 42 2.4x10°cm @ 2.0x10*cm == &f 94 FofoE

T4 RA FO? [Ans: e]

(a) 2.345x10*°  (b) 3.2x10% (c) %_3%@2 (d) 3.5x10°  (e) 2.344x10%°
Solve: A =24x10"%cm =n=3.315x10

=t -8

g= 4210 on T e ERFRETPE A = —

fr="7 % 2nc’n

FORT 9 eI, A = — . = n=2.3445x10%

2

nno cm (F m IE A 7 TR 742 C.G.S @ wieg |

08. * el efemm g wiwew Iy T | ST 51 @ BT T T o1l we? [y =1.4]
(a) 0.49 (b) 0.93 (c) 0.38 (d) 0.83 (e) 0.15
Solve: P, =1atm PV =P,V! [Ans: c]
s =1V =P,2V) =V =P,2'V! =1=P,2)"*
b =P, =0.3789
y=14 ~ (.38 atm

09.  0.5kg ¥@@ (0°C W& 100°C @ ;A= s IFCe 7o Ot waPE? [N SR bl
22.68x10°Jkg™, #iff q@etet 4.2x10°Jkg 'K @k 75 storcm erwtot 33.4x10*Jkg™]
(a) 1011kJ (b) 1511kJ (c) 5111kJ (d) 71.11kJ (e) 91.11kJ
Solve: 3 st w14 2@ T3 [Ans: b]

3 | T TS AfFers Fe oye ot Q =m/, =0.5x33.4x10° =1.67x10°]

R | #ffFE e 100°C F9re e =, Q, =msAB=0.5x4.2x10°x100=2.10x10°J
© | *MfATE It w2 e w90 o7® =, Q, =mf, = 0.5x22.68x10° =11.34x10°]
S am e, Q=Q, +Q, +Q,

=1.67x10° +2.10x10° +11.34x10° :

=15.11x10° J=1511x10° J=1511kJ

WL hr{ni\llng com
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10.*  727°C wifn Swi@ @3 I3 (@ TR (I =& e 22 =2 e oS T o0 o vy

(a) 916°C (b) 816°C (c) 900°C (d) 716C (e) S0°C

Solve: T, =727°C Now, Eox T [Ans: 2
=1000k 4 4
T —9 :5=T—-’4 Ll - =T,=1189.207k =916207°C
2= E, T E, (1000)

E, =2E, =916°C
1. o Sl fawd 3 Acoustic S@e! Level ¥ 3fa =ia? [Ans: b]

(a) 4.01db (b) 3.01db (¢) 2.02db (d) 1.03db (e) 05id
Selve: I, =2l

AB=1010gm[%—}dB =10xlog,u[%]d3 =10xlog,,2dB =3.01dB

1 1

12 g3l cibe oife 2 i 100HZz F=Aiitsa =% Seoly ware woen (%9 Adawiea a0 zre 93 22 oes

fits 36kmhr™' sl veE | St @f GTs ToetE TR STreliE? (Aot = @ = 332ms ']
(a) 5 (b) 7 (c) 6 (e) 4
Selve: V=332m/s | atfwws sff =% e < [Ans: ¢]
= (]
U, =36km/hr |y ien o 2 farfe w, £ = =32 _ . 100=97.076 Hz
36x10° 332410
= m/s ¢ v 332
3600 3 | o 2R efewfere f = x100=103.105 Hz
=10m/s V—1, 332-10
£ =100 Hz . &if% oS = L f, —f =103.105—-97.076 =6.029
~6
o
1] 12,16 9= 20Q e feaft ct M & AR 2R IR FS Q) @ e @ g% s 7 Ewn @y
25Q T2 [Ans: aj
(a) 19.89Q (b$ (c) 7.10Q (d) 8.15Q (e) 12.17Q
120
p—AAN—r
160 | RQ __ S5I106QRQ __ (R+5.106)Q
A T M AT A
20Q
=15, R +5.106=25 =R =19.893Q
~19.89Q
£ T @ 200Q 99 9 @ 4 M T T ofer ke w93 T B wie wE 7.5kg
== 0°C TS PIE Bre 91 A (A e ere 42000kg K] [Ans: e]
{2) 25mA (b) 3.1A (c) 2.2mA (d) 2.4A (e) 2.5A
R =200Q m=7.5kg PRt = mSA@
t=42min S =4200J/kgk
=2520sec _ [mSAS
s AB=(100-0)k . o =l
L =100k
; :I=J7.5x420{)x100 o
200x 2520

WWW hdniyng com —
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15.

Solve:

16. *

Solve:

17.

Solve:

18.

Solve:

15

Solve:

@3 SMeV (@57 Aot w5 e avw @36 Fw e @ 93 G1Fs oFa B Sehe 373 wiwd
@7® Tum e fmam | B @3 9 1.5T | @&ibra 823 fmariie It 1 @mit? [Ans: a]

(BT ©7 @3 S @ 1.7 x107 kg @3k 1.6x107°C]
(@) 7.37x107"*N  (b) 9.x10™>N (c) 8.5x107"*N  (d) 7.37x107'°N (e) 7.37x107°N

Ek =Sh—dl:v E =lmv2 = V= 2Ek = ZXSX10-IJ ‘QW’ v,c mwﬁ
=8x10 J-ﬂ k™9 Vm 1.7x107%7 s oy TR s
m=1.7x10""kg =3.0678x10" m/s [+ 9 =% o 71 F9071 @

i F=qvBsin90° [vAB=90°] VT | ¥ Ans, et @3 |
q=1.6x10""J qE WP GO A

=1.6x10""x3.0678x10” x1.5 :
= option 9 A f&Ter =1 |
Bl =7.3628x10"?N =7.37x10"*N .

4x107kgm’ wgeR e @I 7o pRE [T &fe s 88 6 eiem o | gy MH— 93 w=

2 [Ans: ¢]
(a) 8.5%10 kg — cm” (b) 7.25x10°kg —m® @QXIO'Zkg—mQ
(d) 8.49x10 kg —m’ (e) 8.94x107'kg —cm®
1=4x10"kgm?
T=2XN _; acspeec
MH="?
TS (@t 5oee @36 Spaceship 97 [Ans: d]
1 1 3 3 C
=) b) —C " (c)=C == S
OF (b) 5 @ © @ )%
ey K\
> @
V=7
v? ¢ V2 1 v 1 v’ ¥l .3
cl=l i |l-— ===y 1/1—— Sl —=]l-— > —==
ST 2 TSGR T2 C . P EV" € 14
=>v2=-3—C1:>v=£C
4 2
3000 A =37 W06 SIS AR e vor [Ans: b]
(a) 41.4eV (b) 4.41eV (c) 0.4leV (d) 0.04eV (¢) 0.004eV
A=3000x10""m g _he _ 6.636x107x3x10°
c=3x10"m/s “A 3000x107°
h=6.636x10"*Js =6.636x107°] =4.1475eV
GfeaE 1% WY 2341 IF 0 UTHA A W F97 [Ans: d]
(a) 1.27x10*Y™" (b) 2.27x107*Y" (c) 3.27x10*Y""
(d) 427x107Y" (e) 527x10°Y""
VeI T AT T e s
A=2? T 2341

L a3elie 9s aufiE @R WWW.DaRlyog.com VTS 2T [T
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N 3 Trem @R Iwer IEid 19@m 20em @ 40cm | =2 60cm == ¥% W T2 30cm
ot % 9jf2 =0 | oo St aferaets wor

[Ans: e]
(a) 1.33 (b) 1.53 (c) 1.62 (d) 1.47 (e) 1.67
Sedve: u=60cm Again,

v =30cm i=(p_1 i__(_i)]

3 40 20
3 1 1 1

—= ) —+—| =u=167

1 i_lﬁ Lol |l crantm | | Tae® Vg 20J %
u v f 60 30 f

& WS cafterm afs @B 6000 @@ ware | 3 foer o S896A wu% tardia W =

TSI T WIS (il T [Ans: d)
(a) 46° (b) 16.2° (c) 45.99° ws.or (e) 44.01°
asin®, =n) (o)

. 2x5896x107" =6000 lines /cm
=sin@, = ——=0.7075 -6x105 lines /m
1x10 o
6000
s N
8, =45.03° Ans. Q
D2A SrEe 4z v O MA RS &A1R “1eql (5 | FRferbran st ez o

[Ans: ¢]
(b) 2A $ (c) 2mA (d) 0.2A (¢) 0.38A

[Ans: b]

(b) 5896A (c) 45.99A  (d) 45.03A  (e) 44.01A
-3 -3 o
5 _9x, _2x10°x0.295x10 LR
D 1
WS TEEe AR SHE AR, T @ AT B A0 T 23.5cm, 75.0cm @32
5 S e | 9 IR ol 2 _ [Ans: d]

(b) —190°C (c)18825°C  (d) —187.95°C  (e) —188.25°C

23_5 B5-75

= 0=-187.95°C .
.2..4-75

....... bdnivoa. com
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25, i Sie SRR T0E SGAUHIA 6 SSTRIER (FIPF MAg I 4mm € Sem | 3% S =
e g 20cm T 93 ST (47 T WA g 250m T O & WA wEs e w e
(a) 294 (b) 290 (c) 245 (d) 300 (e) 275

E v, =—25cm M= m, xm, |

u Vi - O W f =5cm (—v, \( = V3
- — . hq———b“ " L5 = L-_&u _.u.}
Solve: U e 1 2

1 s A ’
v 1 f=0.4cm ==da—=— =Yy Vo
u2 VZ fe ﬂi u,
/ f=5cm i

S 1 1 1 20 (-25)
= e = —
Va2, SETRET s 0408 4.167
=u, =4.167cm =294.094
v, =20cm e
f, =0.4cm oé:
u, =? b
[ ]

i+L=i :>L+i"—~L =u, =040 % [Ans: a}

u, v § u, 20 04 ) =

26. «zfb fFR s o P=%,nﬁ«‘ i i ﬁ@%}iam P =51, V=umes, T =qmial ¢ K

GaerE e @E Ae e ' [Ans: e
(a) PV $ (b) P ’ / © P \
P = 1A' J vV
\
@ / © \
P - =
l
Solve: E e arwft Jore zra wiweier W k‘

27.  25g Na.8,0,.5H,0-frs gfgs 1.0Lgw ot == 2| 10.0mL 0.02molL"'K*Cr,0;
10.0mL == H,SO, s 1.0g NaHCO, €7 $+fgfere 10.0mL10%KIgaw fafeam Sy 1,7
o @2 gaeE 13.0mL @mes @@ | Na,S,0,.5H,0 5 9w (@io? [Ans:
(a) 0.0462 (b) 0.0923 " (c) 0.0231 (d) 0.0115 (e) None of thes

s g S VT DT YOO A I e
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Sadve: K,Cr,0, +6KI+7H,SO, — 4K,SO, +Cr,(SO,), + 7H,0 +31,

2Na,S,0, +1, - Na,S,O, + 2Nal

K.Cr,0, =6Na,S,0,

e,V,S, =¢, VS,

VS, _ﬁ:,sl__ﬁ.M:o,ogﬂM
Vs, 1 13.0

N @mate pH 93 & Al [Ans: ¢]

(2) 0.0001M HCI > 0.001M HCI > 0.01M NaOH

(b) NH,Cl(aq) > H,0(¢) > NaHCO;(aq) (c) NaHCO, (aq) > H,0(¢) > NH,Cl(aq)

(d) NaCl(aq) > Na,CO,(aq) > HCl(aq) (¢) 0.1IM Ca(OH), >1.0M HF > 0.IM KOH
= NaHCO, —— ¥R %@ (pH>7), H,O—— & (pH= @H Cl— %= %3% (pH< 7)
F57 W oS ey w2 [Ans: d]
(a) Efan foem faferm w2 fafemn 7
(b) stozrd faflarn Beomm wors fafemres e%mm
(c) Fefen e faferan M 25 seie .
(d) i R Gl @b et 944fEs < (¢) ;H+ H——>!He+, n +f&
e Rfearm Gt @ibs w2y sifERfes =3, apmfe (e s e are | [Fed wm o swms
T ¢ fefan R ndw
ﬁzﬁ@mﬂéﬂﬁﬂﬁ‘ﬁm?$ [Ans: d]

H 0--H-0
| / Oo—H
H—N—H| ®HC-C ,C—CHs  © ;
[ O—H-0O N=
H }
Cl Cl Cl 0
% N 1
Al Al (¢) HO N=
A I e S
Cl Cl Cl
R C €l Cl
Ner 57 o
Al >A1
Cl Cl Cl :

o gEfiem @R www.bdhiyog.com ARET 2T ST v
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31.

Solve:

32,

Solve:

33.

Solve:

398K Sl @z 250kPa 5t N,O, 18.5% fRuaifers za | smureg €5, Kp €8 T (FF0?
(a) 5.9521 (b) 59.5212 (¢) 35.4278 (d) 0.4539 (e) 2.2031

N,O,<= 2NO, B = 2x p o (PN01)2 [Ans: c]
t=0 1 0 T 14x P
t=t,. l-x  2x _2x0.185 . i e
. TG G et 1+0.185 _(78.059)°
=1—x+42x =78.059 kPa 31;1% l
=1+x 1—x =2
Now, x =0.185 Pro, = 1+xP 34890 .
P =250 kPa 1-0.185 [Note: Opt-lon € unit
= 202 «250 |2 f+¥ unit =3 kPa]
1+0.185
=171.974 kPa

@25 1L s @0 Sard S It wH 100°C SR 8 latm pig of I T T A g =
@2 eoF 23.8690g @3 Irer oS FHT 9o 20.0123g ‘“
100°C Sl @ latmsiedt 1.188g L | & [Ans: d]

(a) 118.1049 (b) 81.7244 (c) 156442302 (d) 154.4854 (e) 8275.

epTS, ATeP of FFICE o9 = 20.0123 gm ,A
. e e = 1L @ 100°C, 1 atm Fieeiem g 1.188 g/L
wieffe T < A o9 =1.188 gm NX
; - o S
-, vy A ©a =20.0123 gm —1.188gmy = 18.8243 gm
m .
S N s e JY BV = RT :>1xl=5'0;47x0.0821x373
52_11"':” $ — M =154.48536 gm /mole
= \ «ft zroe wATEE AT IR O 6w IrAeaE
m =23.8690 —18.8243 = 5.0447 gm A . &
R =0.0821 Latm/mole k GITeTE 4 |
T =373k
[Note: Option ¢ unit 2 &8 @M= S unit gm/mole. |
et STP-ts CO @3 Tt 250ppbare Sdm® arersy CO 4 Feit (FHio? [Ans:
(a) 3.05x10" (b) 3.05x10'° (c)1.263x10"°  (d) 1.263x10""  (e) 3.019%
25 -

10°ppb=1ppm 4, 250 ppb= _?ppm [ppb = Parts Per billion, ppm = Parts Per

10
wr@rE, 1 ppm=1mg/L

.'.%ppm=%nlg/L ~1La 1dm’ Iemw CO 9= =?Z? mg

g 2 4
. 5dm® Tew CO 49w :;_g?xmg ~125mg =125x10"gn

@47, 28gm CO @ =9 <% =6.023x107%

6.023x10% x1.25x107°
: 28

1l (a) = option €% FEIR | www.bdniyog.com

5 =2.689x10"°f%

~125%x107gm CO @& =9 941 =

a9l 9% qefirE @ 32 AFTSTAT LT
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M @W A Al [Ans: e]

() [CrBr(H,0), Br, (b) [CoCL(NH,),]S0, (o) [PrciNH,), ]

(d) [Fe(OH),(H,0)]" (e) [Co(OHXNH,), *
Selve: (a) @RS Cr't g Al eyt 7 79 (b) &+ CITFw Tive SR 5 +1 TR
(c) T ot Pt @x wfayra=t weayt 7 7% (d) &5 ¥13= Fe'™ @3 wfara= wiedyt 8§ 77
(e) 7f5® TR Co’* @7 Fra eyl 6 G GTwT= S5 ST AT 5 + 2
200°Cetram N,0,(g)-« Frarers saife sfms o= 7w =i om @ 10min =7 R s
5 80mm Hg | ffesat sz =01 51% 60mm Hg 2= 10min 7 @ =i N, 0, Reaifers zmwes
(a) 66.67% (b) 34.37% (c) 50% (d) 25% (e) 90%

&= 11 33% R cite, JeIw (NZOSL"”‘:—H\QO‘1 +%02] &f® 1 mol RfFFs @ 1.5 mol

B oifye zo | w2, 1% 171 3 o 1.5% fferat 2% | [Ans: c]
B2175g e @l At Ffeam siwfere 0.5825g rafamm AW @ @ =oFA AT

== T o [Ans: b]
fa) 4045 (b) 36.78 ©2432 € (d) 4436 (e) 50.12
_32 825 100% =3678%
233 0.2175 o
& 3 @ o FeEn R R e el oy [Ans: d]
W Tz MOWR MLO, 99 ) Bl SgeR it
=S 3 9E oW (d) =G &+ VIIB -« Sage  (¢) i=ioa waes oo
 S== e Co @i ®t Gr &G@m
2 TS WIS TR AR A (3 IED gee [Ans: ¢]
= == 93 Y (b) 7= wefrs T C — C Iwwewe 75
T TS T WS O (d) 9T TN G A H O ST T
o= FTEIGTE sp’ AT
B WS W 39 S T R O ANES |
B &2 =73 FR0G? [Ans: e]
(9) 3.
':.\' (b) HO:s < O)N-N—<O)
OH OH
OH

NN 8 (d) Hojs—<§>—NS‘I:l 8
O
N—~<O)

@) Orange -1l

o8
=z www.bdniyog.com oY ST ST ..
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40.

Solve:

4].

Solve:

42.

Solve:

43,

Solve:

Solve:

45.*

Solve:

CO, s CH,COOH ¢z & S1ow R TW IL@EE — 3949 —489kI mol™ | CH,COOH &= &=
e % @3 T —871kJmol ™ | H,O @3 & o7 «aemi= i [Ans: a]

(a) —286kJmol™  (b) —302kJmol™  (c) 270kJmol ™" (d) — 262kJmol™’ (e) 316kJmol™
CH,COOH + 20, — 2CO, +2H,0 '

AH =[2AH,, , +2AH, g )1~ [AH; o, coom + 28H o]

= —871=[2x(=394) + 2AH,, o, ]—[-489+0] [+ AH, g, =0]

= AH, .0, = —286kJ/mole

2, 4, 6 G EEE (Trichlorophenol ) €3 Wty @GP @7 =ro<el 79 F? [Ans: b]
(a) 52.85% (b) 53.92% (c) 54.47% (d) 51.85% (e) 55.92%
OH
cl a
= C,H,(OH) (CI),
O
€l 4

A,

2. 4, 6 BRI CETER T =6x12+1x2$@+35.5x3
4
4
= 197.5_5%) = 31"35: x100% =53.92%

\ 97.
forsa fafem Wi Y2 f;Mg‘&»m‘ cagh NC ORI [Ans: d]
(a) 1Al (b) ffN-;é- (c) 1Al (d) {{Na (e) /i Na

_0
HMg—Em >1s Al “““&\Xa ey =e

‘ _§ o —ray =5 He
52T AL Y= Na
@ gawd OH™ @7 wemen 7% 5x 10 mol. L' =8, o=t g3l pHaa I e =2 [Ans: b]
(a) 3.30 (b) 10.70 (c) 3.32 (d) 3.35 (e) 9.70
p™ =—log, [OH]=~log,,(5x107)=3.301; pH=14-p™ =14-3.301=10.699 =~10.70
2etfis afiers PO, 7z Bee w0 f todl ziar [Ans: c]
(a) Acid anhydride (b) Ethanol (c) Ethanoic anhydride
(d) Methanol (e) Ethyl ethanoate

O ()
2CH,-COOH+P,0, - CH, - &‘— O- ("?—’C.H3 +2HPO,
Ethanoic anhydride

ftsa o o= feeee Niwgihe SofEfe =fa s [Ans: ¢]
(a) Group-II (b) Group-I11 (¢) Group-1II(B) (d) Group-1V (e) Group-V.
Group — ITI(B) ‘

AAAAAAA

LB GRTERE 9T GulEE @




KUET Admission Test 2012-2013 Questos & Sobve
45, 40mLH,SO,800mL #ifte gigs @ z=, <3 Fe= -ﬁ*ﬁmm— -y
=1.98g/mL @3 #ifa 9g = 0.9888g/mL] 57 |t ;-;&q
(a) 0.5102 (b) 1.0102 (c) 1.0216 159 L L>
Selve: H,SO, @3®q, w, =40x1.98=79.2gm[m=vp|; “f@=a, w,.=

&7 42°CeEmES Sn | SnCl,(0.70M) 54 carafba 1S3 (emf) (G T2 [<0 E ww = -
(a) 0.1352volt  (b) 0.1399volt  (c) 0.1450volt  (d) 0.1448vokt g

Selve: E=E° 24—-R—:In Sn** | [wcer fafeFm Sn—2¢” —>Sn**] [Ans: &)

sn/sn 2

=034~ S35 Ll 26y -0. 1448 Vit 3
2x96500
o 0.20g TRwTER 97 Ty Al zRme 9 we? § [Ans: d]
Qd) 6.023x10%

(a) 1.246x10% (b) 3.0125x10% (c) 3.0125x10* (e) 6.023x107

0

530g fofea sreram gatd 6%(w/w) fﬁﬁmﬂ%mm%ﬂmwz [Ans: a]
(a) 0.0031 (b) 0.0877 (d) 0.0041 (e) 0.9959

Sfa =, w1,=1-g—0x530=31.8gm 6

S@(ree: C,H,,0,,) «qacﬂw@M =12x12+22x1+11x16 =342 gm /mole

- @ G T, n, = - S, = 009298 mole

H, =97 712y =0?x6023x10‘3 =6.023x10%

w1, w, =530—w, =530—31.8=498.2 gm
=2 IR 9, M, =18gm / mole
_w, 4982

- “iTf%a GT1E A, n ——==27.6778 mole
M, 18
- B e, X, =0 009298 =0.00334
n,+n, 0.09298+27.6778
~0.0031
T AP R G (ABrRERE (V,0;) @@ 500°C siewmans sifas s 6 0edi 24
l2) wEEE @fe (b) w==Em (c) TRErEEEES
) S el ufre (e) Ba1E= (afem

COOH

Q8@
+H,0

&% G @R www.oo_;gyog.com
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1. (273 —2i)(-2v3 +6i) @ cotema T T [Ans: a]
(a) 16v/3e™? (b) 16v/3e™' (©16V3e™*  (d)16v3e™*  (e) 16v/3e™*

Solve: z:—12+i16\./§-i-l"l=il6\f:’7=1t§m/§eiE

52. W a-P=8s o’ P’ =1527, °@ a ¢ B B fewre et - [Ans: b]
(a) x> -8x-12=0 (b) x*-2x-15=0 (c) x> +12x+15=0
(d) x* +15x+2=0 (e) x> +12x+8=0
Solve: [, B | o—p=g| ar—p=152 Lo=3,B=—
NEI » a=5p=-
o x -, T 45, x°—2x-15=0
Sz J J gk, X +2x-15=0
Al | x &
2 \/ J pG
Xi 44.n
53. a3 ST S ZA— Ans: a
X4—81 Bﬂ.‘ ‘Q [ ]
9x 9 9 N 9x 9 9
(@) x—— + gk 2 € 5
2x° +18 4x—12 4x+13’ 6 2x“+18 4x-12 4x+12
Ox 9 9
(¢) x— +
23 +18 4x—l2 4x 2% +18 4x—12 4x+12
() x+ W% +12
x’ 81x 81x
Solve: —; = +— = =X+ -
x' —81 (x*=9)(x"+9) (x+3)(x=3)(x"+9)

81x i A y B +Cx+D
" (x+3)(x=3)(x>*+9) x+3 x-3 x*+9
= 81x = A(x —3)(x* +9) + B(x +3)(x* +9) + (Cx + D)(x +3)(x —3)

x =3 zH, Bzg
4

X =-3%, A=2
4

&3 o7 TS FE, 0=—27A+27B-9D =>D=0
x® @3 7zs e FA0E, 0=A+B+C :>C=~%

s 9 " 9 %
xS 4x 12 4x-12 2x*+18
Shortcut: Use Calculator [e7e x @3 Wﬁﬂﬂaﬁm @ result ST &H optlon 9 932 result

check =71
Luwm gFehie av gefiem @ www.bdniyog.com ARG ST [AaET
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1 52:73 ol
4. ﬂﬁCzABﬂC*T‘dTﬁ,A=? % %ele 2 3| o@® C 93 9IFiE TE— [Ans: d
Aay2 il
9 14 10 7t ) 6 10 10 12 11 11 12 8 8
(a)|7 10 14 (b) | 908« 1D (©)|6 9 1I| @] 8 9" 131"e) 1T 5
61 8N T 12599511 3 1duisd BN 11 13 7
Selve: C=AB
¥ a3k pt: 2 1+2+9 1+4+6 2+6+3 125 o1 2ilil
=13 2 1{[{1 2 3|=|34+2+3 3+4+2 6+6+1|=|8 9 13
i I e=2m 1+1+6 14+2+4 2+3+2 & T
[Shoutcut: Use Calculator]
< A el N
R W R SR giaifBa carst o Zen— [Ans: d]
R 3TT
e’ —1 e’ +1 e =1 B | et +1
(@ (b) © @ ©
4 4 -4 o 4 4
2 4 6
S=1+—i—'+%+%+ .............. o0 %S'
o o
SS=l4+—+—+—F e o0 ®
23 4 ‘Q\
42 3 4 Qm’
=>4S=4+—'+§+'4—J“+ .............. v 9|'$41'3TG?‘5‘1|]
= °
4 # & ‘$
=4S+l=l+—+—+—+ $ .............. % | Shorteut: Calculator Az (33 ©% #% #%=)
Lozt 3 feeia w3 13.395... WA D €3 T
4
—4S+1=¢' =>s=§34 P

1 £3 I Hfere l(Jge(l—_“<’nc+2x2)-l @3 fe=zeet x" 93 7=l g [Ans: a]
1+2° 3" -11 4" -5 n-5 1In-9

: @)= o @ — @)=

Bl -3x+2x)" =In(1-2x—x+2x*)" =(=Dn{l(1-2x) - x(1-2x)}
=—In(1-2x)(1-x) =-In(1-2x)—In(1-x)

‘)

_@x)° @x) @y L
2 R S o
2 3 n 2
R SO U, S O [ k. 5
2 3 n
e =2_+l =l+2 )
it ] n

www.bdniyog.com
&5 gsfir R 37
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57. 3@ taxa.—tanB=p, cotp—cota=qe0=0—PZH, T cot O 97 T T [Ans: ]
5 3l L 4 | gl
(e By @)=+ @ 1-2 @1+
P 9 q P P q q q
Solve: tana—tanf3 =p cot = cot(c — )
1 1 cot 3 —cot a
— =M —p—————= 3-&-1
cota cotP cota.cot 3 _cotacot+l _p  _q+p =l+i
—»—9 __p =cotacotp=2 cotp—cota q Pa P 4
cotacot 3 p
58. 3 y, =3sin8x,y, =4cos8x € y=y, +y, T, OF y a3 @ 2 [Ans: c]
(a)3 (b) 8 (€)5 (d) 4 (e)9
Solve: y, ¢ vy, ‘ﬂaﬂzﬁlﬁ‘ﬁ"iﬁfﬂg - A fem, A=yal+al =v/3* +4> =5
59. T sm[gmsa] :.cgs(;tsma) T, O o 99 T 2El— ___‘5 [Al'lS: d]
b
s T T :'t 3n T T T
0= ol L d) 0,2 =
(a)4 ()42 () ) ()2 (‘3)44

L

Solve: sino. = cosf} =, azgiﬁ _-,aif,:z
11=0Q'Cﬁ,[3=% él?i‘\‘B:OW.a:“i’é ﬁw\,—cosa 0,a= / \/LQ
%sma 0, 06=105 WMW(O )

60. I sinO+cosecd =22, o, "+ cos ec”0 €7 T FEA— [Ans: c]
- (@)l (b) - k'ﬂ. (c) 2 (d)-2 (e)3
Solve: sin0+cosecO=1 :>.sfﬁ‘3+—_1—e=1 — sin®0+1=2sin® =>sin?0+1-2sin0=0
Sin
= (sinf-1)>=0 =sinO—-1=0 ..sin@=1
Now, sin" 0+cosec"0 =sin" 0+ P —(I)“ (1) =1+1 =2
61. I P(1,2) Repottd o= e, & OPaa@ﬁam,W A ¢ B s @7 33, ©@ OA” +40
T - [Ans: d)
(a) 9 (b) 17 (c) 21 (d) 50 (e) 75
Solve: [ane_ﬂ f:;zAx Ay OP @3 &= B(0,y)
1 T y — decrease
Ay =——
¥ i & X —> increase P(1,2)
x=2+15+14+05+0=5, .‘.y=2+0.5+0=§
or,y—2=- -%-‘(—l) or,x+2y=35 0
— : Q yoo
ZOA=x=5andOB=y= 2 o, OA’+40B’ =50 00.0)

mmﬁmm VVVVVV.bd”?ﬁ)y.LUIII ? ﬁ . ﬁ
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82 ABC fagrem A¥ fevpaler gimies zear@m A(0,0); B(LS) €% C(-2.2) 75 A fepn® € 3zam2 =

TR FCALIPIRA @R TR 0w ARt LAl— [Ans: e]
(a) 2x+5=0 (b) 2x+y=0 (¢)3x+3y=0(d) 1ly=2x () x+y=0
A(0,0 s
Salve: - BC @35, m, =—2ﬁ - AD @7 willreaes
e (y=0)=(-1)x~0)
=— =1 =x+y=0

=23
B(1,5) D C(22) s AD@3 v =——1— =—1

m,
X +y —8x—6y=0¢ x* +y +32x+ 24y = 0 3%a @ e ¢ qeeE @E TR AR
@R T TR (@R AR A [Ans: b]

(a) bx—y=0 (b) 4x +3y=0 (c) 3x+4y=0 3x-4y=0 (e)4x—-3y=0
ST 3! Y (@A e @ ammmqwnaawﬂammml—}

I.: +y2 +32x+24y=0""""(ii) o%.
\

) — (ii)

()
—40x 30y =0
= 4x+3y=0(Ans) 60
= Sy =x+50w4f% y* =4ax o =fe zm, OTa R (FIBHT T [Ans: ¢]
) (10) (b) (10,0 © (2.0) ) (5.0) (&) (4.0)

M=x+50 (R ™ T ©12 @i G35, T o = |
=x=5y-50 $ -.D=(-20a)> —4.200a.1
¥ = = 0=400a” -800a =>a’—-2a=0
=+ —4a(5y—50) =a=2 [a# 0 o ©f 23198 AT =1 1]
_ ~.Focus(a, 0) = (2,0)
¥ —20ay+200a=0

S 320 ¢ HY WF WG X§ Y orw @R | 7 Togele rrerhee 19 iy 8 939 9
@R ToF TR @R AR ZreT— [Ans: e]

2 2 2 2 2 2 2

(b)x_2+y_1 =LY )y —q Gy

— = e —
81 16 20 36 16 36 36 20
N YL
SFETS, (l)':—(]l),e =§
2ac=8....: (1)
X T
2a y :>l—b—2:i =b*=20
—=18......... (11) a
X2 y2 X2 yl
o i—+—==1%F, —+=—=1(Ans
(1) x (i) i i STl 36 20 (A=

4a2° =144 =a’=36

i I VVVVVV.UUIjaUu.UUIII i E E
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66. % @(z)=ysinz+vaR y(w)= sin” (yw* + v ) =, e o(y(u?))ea sm e [Ans: a]

(a) (u* +y)?l +Vv (b) ysin " (u® +y)+ v (c) ysiny(u® +y)+v
(d) (u*+ y)‘2 +V (e) (u® + y)_1 +v
Solve: ¢(y(u?)) = dlsin” (v +y*)") =ysinsin™ (yu' +y7)" +v
1 1 4 1
= 4+ = +vV = S = 2/
S
d’y
67. a7 T - [Ans: d]
dx*
a a 1 1 1
B) s Dl C)——— e a———  (¢) ————=
( )(1+c058)2 ®) (1—cos0) ( )a(l—cosB)“ a(l+cos0) ( )(l+c059)‘
Solve: x =a(0+sinb) ; %:a(l-&-cosﬁ) &
&y _ . (o)
=a(l—cosB) ; ——=asin0
TS K
dy . d d_Y)
dy dg _ asin® sin @ d’y __}f]:_d_[gljxng do\ dx
dx dX  a(l+cos9) (1+coa@) Ef dx) de\dx) dx dx
do ‘ do
(1+ cos 8)cos 6 —sin 6(—sin B)
o (1+cos )’ e s@+cos’@+sin’0  (1+cosB) 1
a(l+cos0) a(l+cosO) a(l+cosB)  a(l+cosB)
68. i y=x"logx ¥ y, a@&m [Ans: €]
(a) 7x (b X (c) 2x+3 (d)3x+5 (e) 2/x
Solve: y=x"logx Y, =2x.l+210gx+;
e e s y
N = xogx+~; =EBENBR A =YV, =2+2logx+l =>y;=—
69 it —?xlogc3 93 T TN [Ans:
x>0 X —sinXx
(a) 2(log, 3)’ (b) 2(log,_ 3)’ (c) 2(log,e)’ (d) 2(log, e)’ (e) 6log. 3
~ & xIn3 (xmn3)Y (xIn3)’ [ _xisd (xln3)"
S 1 3* -3 —-2xlog,3 [1+ T i+ T 3 3 400 | =1 T +72! .90
x—0 X —sinX =Lt { > X J
X—|X——+——..©
315!
3 3 3 5 5 i
2 x1n3+(_x_ln3) +...00 |—2(xIn3) 2 X (1n3)_+x (n3) + .00
¥ 1! 3! o 3! 51 |
x—0 i_xs i* i x—0 x3 xs xl_ i
S e R T

Ly aweli @ Qe @ www.bdni¥gg.com VRS HETE
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2;\(3[(ln 3) + x(In3) +cc} 2 (_l_n_."i +0
=ikt

3! S! 3!

= TR =
g [l_x__'_x__mw} [lﬂ)]
S 3!
Shorteut: La Hospital

3*-3*-2xIn3 3*mm3+3*In3-2In3
Lt - =1
=0 X—Ssinx x—0 l—cosx

=2(In3)’ ~2(log, 3)’

X 2 L5 2 X 3 = . ? ¥
e 3*(In3)* —37(In3) - Tt 3*(In3)’ +37*(In3) ___(ln3) +(In3) —2(In3)
x50 sin x e COSx
I(ta:::ﬂan x)dx A R [Ans: a]
x +e—sec X

ta}%tan"(emz‘)+c (b) tan (; 2 ")+c &han"(e‘“:")

(d) tan"(2es°°l")+c (e) lv:'cln"('::"““:‘)4-.: bo

dx

- I(tanx+tan x)dx tanx(l-c—tan x}:b( tan x sec” x
P x+ -[ I e“:;')z""l

- ~9¢

& ".2secx.secxtanx dx =dt

'—SGCK

l >
—tan 't+c -Ztan"(e“’”)+c

t > o)
dx - G I 2L $ [Ans: d]
'\‘:I—X‘) $
-= n 3n Sn 3n
= b) = =lea == —
h': () (C)4 ()2 (6)2
-[- dx ‘I =f W’ 1-x=t x=0—>t=1I
R R T N TR IR i S L
=1 % = [smfI t]0 =*[sm 0—sin™' l] {0——) =—-2 ; %
Lm%ﬁmaﬁwewaﬁwaﬁﬁwmﬁm%«mmmmaﬁ«mmm@
B WS = 509 A T, S WA 9104 T (@5 [Ans: b]
§ % 2umits (b) 8v/3units (c) 16v3units () 18v2units () 4v/6units
== T _P
-12 p 2

a=0 =cosa=—— -
P 0

==

2 12_
=1 -P‘+712P(-—%] ﬁ%=144+P2—-288 :>3-P2=|44 =P=8V3 umits

v e www-bdffiyog-con B T ——



KUET Admission Test 2012-2013 Question & Solve

73. o SRESH 20O SN (I R SO qEG FAER T I AT YR 4 93T T e
79Y 64 93 A 16 9B I SfowT Fara— [Ans: a]
(a) 512mm (b) 256mm (c) 256km (d) 128cm (e) 128km
Solve: 25 @B Wz @o ST €T B 7 WL 72 |
[ % hour 933 ¢ 99¢ mm €ITS A (a) @3 A e ]
3 3 3

soct? =>s=kt? L8=8tt
T4F, t =4 ©49 s =64 t =16 hour 2=
64 =K(4) =k=8 s=8(16)2 =512mm
74, 44TdRe o RRE @3 e, st wer /R o3 g e e AR
e e wad W 22/7) [Ans: d]
(a) 513.7cm’ (b) 213cm’ (c) 798cm’ (d) 128cm (e) 128km
Solve: fomztes R=r,h=2r

aee, 2mr =44 :r:—zzcrn
T

-, e wwes=nR’h = muw’(2) ‘é;ﬁtl;jﬁcmj

3

€ w
WW—EM y 333:2& =1437.33cm’
T
. AT e IR wwew = 2156 — 143783 = 718.67em’ ~718.7cm’
75.*% A ¢ B&FR qg LSS A 158 g @ 56 109 FHmE 7w | 105 93 5w € 60
5T fice T @ S 2, T, Andis #E @@ 7 505 Sl B @7 T 300, S e [Ane

(a) 3905 (b) 420% (¢) 3800r=1 (d) 400 orst (e) 3505r=
Solve: 43, x ¥3F A 8 y 9338 T

~15x +5y <105

5x +10y < 60

Z .. =50x+30y

(0,0) fFEe Z=50.0+30.0=0

(0,6) fer® Z=50.0+30.6=180

(7,0) fee Z=150.7+30.0=350

(6,3) e Z=50.6+30.3=390 (Ans)
76.  Choose a word for the blak below.

He comes here  aweek.

(a) within (b) once (c) In (d) often (e) ev
77.  Find the correct noun form of the adjective- "Necessary".

(a) Necessitate (b) Necessitated  (c) Necessity (d) Necessaril (e) N
78.  Whatkind of pronoun is the world 'that' in the follwoing sentence —"All that glitters is not gold."

(a) Reflexive (b) Interrogative  (c) Reative (d) Demonstrative (e) P
79.  Find the correct verb form of the noun/Reality’.

(a) Realize (b) Realisti(;,vww_bd,g%&gﬂlla( (d) Realized (e) Read
L gl g qefiE @ 42 AT LT
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%0.  Whattype of adjective in the world "neither" is the following sentence —"1 shall suppost nesher party™.

(a) Descriptive (b) Distributive (c) Quantitative

(d) Demonstrative (e) Possessive Ams:-b
%1.  Point out the sentence with correct use of adverb. [Ans: e

(a) He is carefully examining the script. (b) He is carefully looking ther scmpe.

(c) He is examining the script with full care.  (d) He is carefully looking after scrpe.

(e) He is observing the script carefully.
42 Choose the appropriate parts of speech for underlined world in the sentence-

"The earth moves round the sun." [Ans : ¢}
(a) Noun (b) Verb (c) Adjective (d) Preposition (e) Adverd
Lt Find out the corect sentence with correct form of verb. [Ans : b]

If I were you, I(not do) this.
(a) If I were you, I will not do this. (b) If I were you, I would not do this.
(c) If I were you, I shall not do this. (d) If T were yo;ﬁ not have done this.

(e) If I were you, I might not do this. N
Selcet the correct change of voice of the following %&nce. [Ans : ¢]
His pen has been stolen.

: his pen.

You stolen his pen. (e) None of these.

Find the correct passive form the sen ¢’ — "I saw him reading a book." [Ans : ¢]
(2) I saw that a book was read byghir (b) He was reading a book seen by me.

1¢) He was sen reading a bookby, me. (d)Isay him that a book was read.
that'seen by me.

(a) He has stolen his pen. (b)
(c) Someone has stolen his pen. -

(2) He was reading a booktha
hoose the right anser onversion of the following sentence as directed. [Ans : b]

#e is very dull and cannot understand his lesson.(Make is simple)

12} He is very dull and he cannot understand his lesson.

‘%) He is too dull to understand his lesson.

‘21 He is too dull that he cannot understand his lesson.

&) He is so dull tjat he does not understand his lesson.

'+ He is being dull that he can not understand his lesson.

Which one of the following is the correct indirect speech of the sentence — He said to me.

"Wzase don’t eat all the biscuits." [Ans : b]
& He said that do not eat all the biscuits. (b) He requested me kindly not to eat all bescuss.

" He= asked me kindly not to eat all the biscuits.  (d) He asked me not to eat all the biscusts.
.+ He said that please do not eat all the biscuits.

the correct sentence from below. |[Ams : ¢}
1 will go by the 9-30 train. (b) I will go by the 9-30 O’clock train.

will go by the train of 9-90 O’clock.  (d)I will go to the train of 9-30.

w1l go to the 9-30 train. re

www.bdniyog.com =
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89.

90.

o1.

92.

93.

94.

95.

96.

97.

98.

99.

100.

Chose the correct transformation of the sentnce as directed. [Ans : a]
He is too weak to walk.(Make it complex)
(a) He is so weak that he cannot walk. (b) He is too weak that he cannot walk.

(c)He is enough weal so he cannot walk.  (d) He is such weak that he cannot walk.

(e)He is so weak so he cannot walk.

Choose the correct feminine gendr of "Exector" [Ans : a]
(a) Executrix (b) Executress (c) Excutree (d) Executraie (e) Excelency

Choose the correct Retranslation of the sentence "He is wise enough to understand it."
Q)ET s I RTF A GFN Q@A | (b)) R PREITSSRIT AR () 1 9% RTS (==

(d) @ ot g T WY IfF SR (e) G @ I @ S R [Ans : b}
Choose the correct anser for translation of the following sentence into English.  [Ans : b}
(TG G A RIANR |

(a) The wall is falling. (b) The wall is going to fall.  (c) The wall falls.

(d) The wall is about to fall.  (e) The wall had fallen.

Choose an appropriate for filling in the gap of the sentence @v [Ans : &
"Virtue will prevail .......... evils one day.

(a) upon (b) with (c)over - (d)to (e) anainst
Wich one has closest meaning of the idion, "Bette &"& [Ans : ¢
(a) Good partner  (b) Well wisher (c) Husl (d) Good lover (e)wife
Choose the correct plural number of the worlda 'ﬁ?ﬁuse [Ans : ¢}
(a) Louses (b) Lise @} '@‘; (d) Lousee (e) Loiie
Choose the correct Antonym of the wdrd<i Virtue”. [Ans : &)
(a) Liar (b)Unwise __ $ Xc) Devil (d) Vice (e) Traitor

(a) Was not he? (b) Is he2 (c) Was he? (d) Wasn’the? (e)Had he®
Read the following passage earefully and give answer to the Question Nos. 98 to 100.
A new hearing device is naw available for some hearing-impaired people. This device uses a
hold the detachable sou:@ocessmg portion in place. Like other aids, it converts sound into v
but it is unique in that it can transmit the vibrations directly to the magnet, an then to the &
producing a clearer sound. The new device will not help problem in the middle ear. It will p
no more than 20% of all people with hearing problems. Those people. however, who o
presistent ear infections should find relief and restored hearing with his device.

What is the author’s main purpose? [Ans:®
(a) to describe a new cure for ear infections. (b) to inform medical personnel of anew

The tag question of the sentence Emas not watching the cricket match" is [Ans :

(c) to urge doctors to use the new device (d) to explain the use of the magnet
(e) to attract the hearing-imparied people.
Why the device is unique? [Ans =

(a) Because it gives sound directly to the innear ear.
(b) Because it gives vibrations to the magnet. (c¢) Because it transmits sound faster to
(d) Because it transmits vibrations drietly to the magnet and then to the inner ear.
(e) Because it takes little time to peroduce clearer sound.

Who can get helpform this device? |Ans
(a) All people can get help from this device. (b) Only those who have car mfecnon_
(¢) Only those who have problem in inner ear. (d) Only those who have problem in
(e) Only those with a hearing loss caused by infection other problem in middle ear.

LRI G 9T GEhrm @ www-bdniyog-com
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KUET ADMISSION TEST 2013-2014

Mathematics (MCQ)
01. f-R—rR @ f(x)=2x—3a@t FeEfre s [ (x) 93 T T2

1 X+3 2x 3
(a) s _3 (b) s (c) S (d) % (e) e
Solve: (¢); 4, y=f(x)=2x-3 .'.x=y7+3 f“(x)=x'2|'3
02. (2“)] 93 T (@FFH?
2+3i
i J—?’ ® £ ©) ‘/—;_1 @2 © —}‘/313
sohaliah +i)|_| 2+1)’]=\2+11i\ _V4+121 _5V5 4865

243i| |2+3i| [2+3] J4+9

03.* % 140TW B@/ede Tt 4589 A @5, 55 &5 B 37 o« o (pE e | A 91 B &

(PR (R G T/ =IAE 2R 2 % <
(a) 77 (b) 3 (d) 58 () 48
Solve: (a); n(A UB)=n(s)-n(AUB) = n{a})@ (B)+n(ANB)=140-45-55+37=77

04. (1+x)a—bx)’ a3 fe~fers x* aaWﬂWWwaﬂmmwme|

Qov
(a) ? (b) = ° (c) : (d) 1'1" (e) ﬁ
Solve: (b), ~bx)"? Lﬂﬁw x" g3 7= '%¢ a”‘"( Bt
-x" @3t =% cat(- b,)hklz a’b’ 3 xPaas = 2 cat(-b)f = ca'’.
S(1+x)(a—bx)" Lﬂﬁﬁ""ﬁ':‘(@ x® @7 72 = Pca'h’ ' ca’h’
bl e a5
120 L2 Do g @ =852~
e ¥ aitb?il ' sl b 28
05. x°—px*+qx—r=07Temm TerER Radre TaeE o afye T 2@-
(a) x3+px2+qx+r=0 (b) x3+qx2+rx+p=0 (c) rx3+qx2+px+l=0

(d) rx3+qx2+px—1=0 (e) rx3—qx3+px~l=0

Solve: (e); x> —px +qx —r = 0 R Feretan of,y T, a+B+y=p; aB+Py+ya=q; afy
l+1+— af+By+ya _q lxlxl_ 1 1

o By By t o By apy r
S —gx” + px—1= 07T Soirare *Eam o7 v |

06.* 1+ . + : +....... qfAfoa 105 *waz q@eres gE-

579 e 11.9.11.13

| | 1 ] 1
()140 2300 ”% 2100 ()6*2300 ()1_2_2100 ()5_2500

hdni
E ﬁ % ﬁ \AAAA AN U\Jllly\?’ -€om i : 5
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Question & Solve
Solve: u_= : ! 1 =V ,—v
(2n+3)2n+5)2n+7) 420+3)2n+5) 4(20+5)2n+7) Ve
- SIS 1 1 1 Shgt~ 18 e ey
140 4(20+5)2n+7) 140 4x25x27 140 2700

97. mﬁ@mﬁmcwmwmcw,[ﬁ,ﬂe [2,5] %+ fageiba crage o 9as 22—
(a) 1++3 “”[Hq © 1-43 (d)(‘f ‘] ()2

Sobve: @5 (V22)=(10) (2.2)=(,3) .- :%(ﬁ_l):ﬁz;l

- X +4y =20R 4x -3y = @G TET TR T fafa =
fa) 3x +5y=3 (b) 7x-T7y=1 (c) 3x+1ly=11 +1ly=23 (e) 7x +15y=29

Solve: (b); foamts, Tafiierea v (e 21 | 3""4”- rfcmic; .

]

x*+y%2—4x—8y_5= Oex+y2\x 14y -8=0 Joaem v & 9287 & o
uE @y S1Ee ot gE-

=3x- 4y 2=44x-3y+1) > 7x-Ty-1=

187 @ 27 287 AL
V584 584 V584
Selve: 329037 AR &1 = x° + 4x -8y —5—x% —y? +6x 14y +8=0 =2x-22y+3=0

T TT A IR GG TG |
=5 =(3,-7) . 5 B 7 |
& Torren Mda (O,is)effw—ﬂm y =325/3 zta orae wlren T3-
§2) 16x% + 25y2 = 400 (b) 9x +25y% =225 (c) 25x2 +9y? =225

W 25x° +16y° = 400 (e) 9x* +16y° =144

Sedve: (c); Option—(d) @3 (c) @7 &2 @ M (0,45) zea 77 (a) @7 Cwem Frer GoeTRR
N~ 0SS TR R A W | -, A9P ek Option (c)

W A-B+C=7¢ cosA+cosB=sinCz = B G T Zeri-

- x/3 (b) ®/6 (c) n/4 (d) n/2 (e) 2w/3

4 - ¢ £
Salve: (d); A+B+C=n, cosA+cosB=sinC :>2cos(A;B)cos(A2 BJ=2sm-§cosE

=»2!1:|::qr %-EJcos[A;BJ=2sin§cos§ =>2sin£2:—cos[A;BJ=25ingcosg

(B- "
g A)=cosg ~B=A+C=2Z
2 www.bdniyog.com
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Question & Solve

acos@—b s
12. cosf=2P70 w2 7w FD?
a—bcosQ i
2
a+bsi a+bco a+b Ja+b a+b
@220 g REEE () (@ e L
b—asing a—bsing a—b b a-b
Solve: (¢); cosf)«—-"Jl—mS(p—_b
a—bcos®
1—tan? 2
g 2 2 _p
1—tan®— 1+ tan? > a—atang—b—btanZE (a—b)—tanzg(ai-b)
7. 2 = 2 2 2
ot 1-tan*®?  atatan®@-b+btan®? —b)+tan® P (a+b)
TR 2 2 2 é 2
2@
1+ tan 3 o
1+tan® — +1—tan® — (a—b)+tan2%(a+b b) tanzg(aer)
= —
l+tanl§—l+tan29 (a—b)+tan29(% b)+ tan T(a+b)
2 2 % 2
: §)
2 2(-b) :&_ub tans . fasb
2tan? Y 2tan? P (a +b) wzg asbL g Yach
13. costan_lcotsm*'x-ﬁm ?
1 T 1
(a) 1 (b) x © — (d) — (e) —
X 4 -
=l i ot =1 =1 1-x | 1—x2
Solve: (b); costan™ cot sin” X =cos tan ~ cot| cot =cos tan
X
=cos cos '(x) =x
5 X _A,4x
14, k' a7 o e ww m 2 2e2 KX g —15 2w
X
(a) 0 (b) -3 (c) —20 (d) 8 (e) —10
p X_9 —4x . x ~4x
Solve:(e); L‘ﬂoze :2 32 [%m] =2102—e—tu [L Hospitalews 3]
k=-10 =73 7= afo % wiitas 29 «: L. Hospital & <=1 0 |
. X —4x
tﬂoﬂ—=—15@l ¢« K=-10
dutw gFefiE @8 gEfiE @ www.bdniyog.com ANFTGT YOI [T
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15 y=sin?2x +e? 080Xz % 93 T FFB?
(a) 0 (b) -1 ©1 d)-2

Solve: (a); y=sin? 2x +e2'°8%52% —gin? 2x +€'*#°* ** =sin’ 2x +cos’ 2x =1 .'.%&.

6 x=oos,f§ @ (1-x%)y, —xy, 93 IW F9? &> e
()4 ()0 (c)-2 (d)2 (e)-4

Solve:(d);x=cos\j;¢y=(oos'lxy -'-y|=2oos'*x[— : 2]
1-x

1 1 p
i Y=*“z—‘,/1.7(‘2")”[‘r_xz]=° = (1-x . —xy, =220 = (1-x)y, —xy, =2

1+ tan®x
Im—tm;')?dx g7 W (B2 bo&

@) 1+c§otx+c ®) l—tlanx-'-C © l+oosx+° D l—iotx+c ©) _1+tlanx+c
2 o
e 5 5 S
= l+tanx=z ..sec’xdx =dz = .wn x}!x=dz
[e‘z‘ cos 4xdx MWM&?&
) (®) © 2 @ — © ~
5 10 20

Salve: (d); €7, 1= Ie“zx cos4xdx =cos 4xje'z"dx - I[d—i- (cos 4x)I e‘z"dx}ix

2x _2x _2x
-.—.f__m.s_“i_‘l' —4sindx xS =_E__M_2Ie'2"sm4xdx
-2 2 2

—x
._"‘__.m—z[sinhje—z"dx— I{i(sm4x)je*2“&}dx]
2 dx

-2x -2%
—2sin4x S +2[4? cos4x°—2dx _SI=e X sindx—
-—z p—

e 2% cos 4x

2

-2x

e " cos4x

2
_e’Z’ sin4x e X cosdx re_z, cos = e cos4x e cosdx i
T 5 10

&5 5T @R www.bdniyog.com
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19.

20.

21

22

2593

24.

M6 o rgens TP I 79 0.2mm/sec | T7 FFIE Tmm O & JTITE SIS Jiad 219 e
(a) 0.0123cc/sec (b) 12.23cc/sec  (c) 1.232¢cc/sec (d) 12.324cm/sec (e) 0.1232cm/sec

Solve:(e); E =02r=73; V= % e

Y I e 2l =123.15mm" /sec =0.123cm/s
taE g dt dt
I 9 T3 B w3 31 ¢ wot W 3@ W2 T wTweR fom =@ @ e s Soe TEE 13-

SO G THI AT TR TR T S TSI IAC A~
(a) 27/~/5units (b) 72/~ 2units (c) 18//Sunits  (d) 27units  (e) 9/+/3units
Solve: (a); R=2?p : 9+PcosO=Rcos90°=0, PcosO=-1, PsinB=R

:>sinB=~I;—=§. cosB———[ 0>90°,: cosB<0] P(--?J:-g .'.P=%

@ @i fre e 92 < wfe T JﬁNaa&w@mm 45° | Tara @3 e
2Nz wrfs v focfa o9 | c

(a) —5N (b) 2N (c) - (d 7N (&) 3N

Solve:(b); R*= =Pp? +Q +2PQcos0® =10 2& Qcos45° =8=0Q"+2Q
=Q*+2Q-8=0 Q=24 f&g, Q= {Q 2N
10kg o3 @31 38 9.81&%%&6@1 zra wifba T 1,962 f31: ota 33 A3 =3 | wifva
T 97 T FO?
(a) 588.60N (b) 298.3 (c) 2452.50 N (d) 4905N  (e) 9810 N
Solve: :(a); mg(h+x) = § %9.81%(9.81+1.962) = Fx1.962 = F = 588.6N
0.25Kge=® 0.50Kg % I8 W@ h; 9 h, THS TS TFSMA AT GF2 AN
quréﬂwi hlfh-,m

3 2
(a) E (b) E (c) 5 (d) T (e) —
h, _m, 050_2
h, m 025 1
A€ B 931 T¥ (SATS WG 38 4 4FF AN G 26 | aFF M@ @l | 45 93T 795 9 20
e g e (@ @S 203 (399 A 93 &S w3t ars 10519 9 ©f B @3 & 12519 ©f =
(a) 100 Taka (b) 135 Taka (c) 142 Taka (d) 180 Taka (e) 160 T
Solve:(c); 3x+4y<45
2x+y<20
X, y=0
5Za =10x+12y =10x10+12x0=100
Zy=10xTx+12x6=142 ; 7 _;oxomx%“_lss

;. TS #TS =142 5=

Solve: (d); E:%m\;2 =%mx2gh =mgh ; Eccmh. . mh =mh, =

0| (10,6) }

S ST IS CE www.bdniy8g.com AR O [
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I 3 1 9 19
s Bl =2 Rz 22
@ ® 20 © % @ 2% © %
Solve:(e); P(I)=%P(S)—§
3 4 3 3 4 3 15416-12. .19
INS)=>x=== - P(IUS)=P(1)+P(S)-PIAS) =2+ 3_3 _15+16-12 19
PInS)=2x 5 -~ PIUS)=P()+P(S)-P(Is) TR 5 =

] A=2i+3j-k R B =6i-3j+ 2k 97 749 i ficfa 79 |

(2) 82°2' (b) 78°54' (c) 79°1" (d) 81°2' (e) 78°24'

Selve: 0=cos™ A.B =cos ' S =cos™ =87.81° A= TH R
AlB V4+9+1/36+9+4 7

£2x10%ms™ @t vmm @ St sfeefe e v | =2 1.67x107 kg |

{2) 13.63] (b) 1636x107%1  (¢) 13.3&A %) (d) 14.73x107'%1 (e) 14.73]

Selve:(c); l*“=1:nc2-~moc2 =

= @Y [v=42x10"] =13.36x10"°]
v
-39

s @@ WIS 0.25kg w@u’vmawmm 0.12s ezm ey <ifiey fore |
NEE TES AYF 99 A 99 |

f2) 4583 N (b) 46 (c) 45.6 ergs (d) 46.17  (e) 55kfms™!
Selve:(a); = % = % =183.33ms? .. F=mf =45.83 N

T TS e v 22.5% QA T, CIRLE (MIFAIE IS 347

{2)36s (b)2.21s (¢) 3.6min (d) 2.21min (e) 2.5s

ﬂu:(b);—Tl: L SB=T L2=?.x L] =2215
T B, Nl

D 6 9% Imm’ ergren 93 @3 B wiew ¥E @ 20N 9 ST T TGS 7S 3 AT
N =2x10"Nm™?
2x10%cm (b) 4x10~*m (©) 2x107%km  (d) 2x10*m () 4x10°m

_ FL FL 20x2 20
Salve:(d); Y=— -1= = =— =2x107
@ Al AY 10°%x2x10" 10° =

I 2 #fifra 1000 =9 Bt e 43D 328 B 79T I | 2= FGIG Lo waTS fovfe = T
R B = 72x10°NM ) ‘

82 ergs (b) 81.311J (c) 81.46 ergs (d) 81 dynes  (e) 80.2 ergs
&% afrem e WWginlyog.Tom VST oE T .
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32.

33.

34.*

36.

37.*

Solve:(c); r=0.1mm=0.1x10"m=10"m; R=¥nr=10r=0.1x10°m=10"m

T=72x10°Nm™! ffo e = 4n(Nr? —R2|T =81.43x107 J ~81 46ergs

97 57 TEerR FREE AT e Ay, IE 6 A0 Fem 9w a4 23.3cm, 75.lem AR

102.5cm =W B19 o= 303 | S5 AP S FS?

(a) 189°C (b)—189.05°C (c) 190K (d) —188.4°C (e) 187.8°C

Solve:(b); 93=P";P°x100"c =M
e 102.5-75.1

0.5kg ©@@ 0°C SR @@ 100°C SIAT@R 0= AfTe TS T 17 eraren?

(a) 15.11x10°] (b) 1.511x10°J (©) 11.51x10°7  (d) 1.11x10°J (e) 1.25x10°J

Solve:(a); H=ml, + mSx100+ml, =0.5336000-100x4200+2268000]

=1512000 =1.512x10° J =15.11x10°J

eifs sl g et fdfa w9, 3 W aaﬁmmmr&ww 2.4x10°cm @z Wi

TP 2x10 " cm @7 7 2 | (&

(a) 2.344x10°/cc  (b) 2.4x10%%/cc (c) 2.34x%fc (d) 3.044x10%' /cc  (e) 2.8x10%/ce

1
Solve: (a); Sl &, l=m ans §°

x100°c =-189.05

7
MW= Lo &2.34@102”@
V2 xmx(2x107 ) x(2.4x1
[ J
opiefui fe T e o TR 4753 A 201 2 opbre et fefe

(a) 6059K (c) 7000K (d) 6109K (e) 6x10°K
-3
Solve: (a); s @, A, T=b 4, T= Z;%Lo_lok = 6059k
4753x10

@A, b=2.88x10"mk ; A, =4753x10""m
aﬁm@ﬁﬁmmmmﬁw%miﬁqﬁam&xmm@ﬁmﬁ?

5 2 T 3n T

(a) = (b) 5 (c) = (d) 7 (e) =
Solve: (e); mied(® = %4 1w xgﬂ =lx2_“ L
A 4 A 2

935 e fom i T @7 SIEER WS AT FART 6:5 AT ey < 1 ;M
g @ 332ms | =W, ora Hewe vt e

(a) 32ms ™ (b) 30.2cms ! (c) 30.18ms " (d) 3lms™  (e) 31.14ms

V Voo _p 3328V, 6 & 33011, 9, V,=30.18ms
v—V 332-V, 5

s

Solve: (¢); =1 =ff=,

www.bdniyog.com
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38, @3 A e «Rew efels Ao sprrawe 1.4m> @R I MOE AeEEE wGIE w2 3em | 329
qEeg f=m o9 |

(a) 4.1x10 pF (b) 4.132x107*uF  (c) 4x107*F (d) 642x10*uF  (e) 4.4x10°°F
e A
e uF
@, €,=8.854x10°C°N™'m ™ : A=1.4m" : d=3x10"m
39 @3 40 Watt 93 3fs 10 ff 6 «wz g | I tagfes =& Joule — @ A =9

(a) 2.4x10°J (b) 2.4x10%J (c) 2.4x10°J (d) 2.4x10%] (e) 4.4x10°]
Solve: (b); W=Pt =40x10x60 =24x10*] «@31s, P=40 watt ; t=10 ff#5
S0* a3 FEAPTIE T FOAR AP TR 60 9R STHE 240V | @7 e FHAR #F A2 106 =, ¢he

Solve: (b); smmt =ifs, C =

FTAR (ST 7
(a) 420V (b) 400V (c) 440V (d) 430V (e) 424V
Solve: (e); X‘u = /A, V=V, e = 240x%v =424v

Vp n, ‘ n, &

a9, n, =106 ;s n,=60 ; v, =240v ; v, =7
8. mm?mmwasﬁv%wmmmamwmmcﬁwmﬁmw,

(a) 36x10°°T (b) 32.33uT (c) 3 (d) 34x107°T (e) 33.45uT
Solve: (¢); H=Bcos0 : B=35.8uT @M=, : H=31uT

o mfﬂmaafiﬁmw\/_am&w@m fapife com w2
(a) 30° (b) 35° c) 40° (d) 45° (e) 50°
- A+6
sin
Solve: (a); p=—=— $§° @, A=60° ; M=+/2
sm—

- aaf%w'avfmmm cm | WAl TS T Ta 97 F1oW F9E biaed fqafde eifefam et anae
(a) 0.25m (b) 26cm (c) 0.28m (d) 27.5cm (e) 0.27m
Solve: (d); @2, X=4 v=4u 9+, l+l=l 4, 1+L=—l—~ <, u=27.5cm

u n. v f u 4u 22

* T @3l AR o el 3x10% ms ™ sitemt oo | B e s fer 780, 9éf et cicaTs 111 wrm
=g Ter
{a) 82x10°m (b) 8.741km (c) 9.125km (d) 8.8x10°m (e) 8km
Selve: (b); vt wifF, c=4mnd ; d =8.741km @9is, c=3x10°ms™, n=11, m=780
I 499 (R PLOREARG [#e7ae @7 754 (el 600nm | 4TeBa ST 000 (SIB &3 39 |

) 5.5¢V (b) 2.7eV (©)5.056V d) 2076V (e) 2.76eV
he 6.63x107*x3x10*
Selve: (b); W, =— = =2.07ev
e: (b) A 600x10"°

&%, h=6.63x107"Js ; c=3x10°ms™"': A, =600x10"m
=Y qerTE w4y 3.8 | SN iR WA 30% T ZrS F© FAF ABIA?
12) 1.95days (b) 2.95days °  (c) 29.5days (d) 19.5days  (e) 5.

9% Gl @ www.bdniyog.com TRET =TT e e
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47.

48.

49.

50.

51.

52.

53.

54.

53,

Solve: (a); 5 =93 a1, A =.1824day™
i

o

i i, N=N_e™ a1, 7N, =N_" a1, t=1.95days @<, N=_7N,
G3f5 Greferdrm oFtg 0. =0.959% I =0.9mA T f ¥ T2

(a) 19 (b) 16 (c) I8 (d) 12 (e) 10
Solve: (a); Ble %) =E =19.5 ot=:05
l-a .05
s fafaran 2re Seaifive ofee *few Afme 5.8x10° MWh | ser=fae e i 7 zae
(a) 22ke (b) 23kg (c) 22.4ke (d) 232kg  (e) 22.6kg
14
Solve: (d); 5=t &, E =mc® 3, m=—E—2- =o8s 0 x83600 =232kg
c (3x10%)

w3 72 orzm % ag@ 20°C SemER 9Ees 100cc | 317 & o% g 51 50°C +4 Tee 1 &8,
(A WRSH TS ZA? £E

(a) 109¢cc (b) 115¢cc (c) 112cc o (d) 110.2cc (e) 102cc
Solve: (d); &zﬁ sV =100x£cc =110.2¢cq o

T S 293 %
GFT HIRFE 5ESE 25 s 600m gargd ﬁﬂ.ﬁ' Q<1< (78 | SeTeRg A ©IF (HICeid A f7e7 34 |
(a)31°26' (b) 31.62° {e) 30°36' (d) 31.5° (e) 35.2°
Solve: (b); V=@=24ms"' : 49; 0=tan" Y. 3165

25 g

15°C st 1.0 o O, sr@RifeE 3.6x10° 12w 'R' &7 17 3 202
(a) 8.314J (¢) 160.007 (d) 8.333] (e) 8.316]

Solve: (d); E, = —;—nRT R =8.333Js

100 ml H,SO, 750 ml #iffce 5gs =1 2wt gawer =fe e fefa <=
(density of H,SO4=1.98 gm /ml)

(a)1.36M (b) 13.60 M (c) 269 M (d) 0269M () 0.68 M
Solve: (c); 100 ml H,SO, =100x1.98 gn H,SO, =198gmH,S0,; Greififs = %x % =269
cawem eraETm @@ize @ SnCl, ¢ar HClam Refas s fo todt za? [Ans: d]
(a) CgHsNH, (b) C¢H.CH,NH, (c) C4Hg  (d) CgHsNH-NH, (e) C¢H;OH
30°C o 10.0dm’ ¢ fifersia wfErem e 519t 15.50atm 20 s sfaes sher o1
(a) 99.62gm (b) 0.06gm (c) 199.38¢gm  (d) 187.09gm  (e) 188.15gm

s bcd _m _pWM _
Solve: (¢);: PV = ~ RT m= = 199.38¢gm
@3ms, P=15.50atm : V=10.0L : R=.0821 Latmmol 'k : m=?
fatae o e Crarghe S@fgfe o 3 [Ans: b]
(a) Group—1IB (b) Group—IITA (¢) Group—IIIB (d) Group—1IV (e) Group—V

E ﬁ = & prm— Vvvvvv.udi‘l.gd)y.bum ZS——— =




SLUET Admission Test 2013-2014 Quesnon & Soive
36 10.55gmNa,CO; & 7=yfers eifis ate s g HCl =2

(a) 3.63gm (b) 2.55gm (c) 7.26gm (d)15.52gm  (e) 1.81gm

Solve: (¢); Na,CO, + 2HCl = 2NaCl + H,CO,; HCI 93 #fawrt = 26 xlzo: 19 gn =726gm
5T Cieu @RS @R CTerEEEE (NaOH.CaO ) s Siena See e catafs toft 222 [Ans: d]

(a) CcH;CHO (b) C¢HsOH (c) C¢HsCH, (d) C¢Hg (e) C4HsCOOH
S TEE g 7.50 st R 50 RS wm efie st ofecana B o w6 ot 2 (==

sErfEe 9= 63.5)

(2) 3.70 gm (b) 14.80 gm (c) 7.40 gm (d) 0246 gm  (e) 0.123 gm

Solve: (¢); Q=1t =7.5x50x60 C =i &fff, W =ZIt =7.40 gm
N SR e g IR e ot fifa 311 (O)-N=N—<O0)>-OH
(2) 6.56% (b) 6.06% (c) 5.05% (d) 5.55% (e) 6.01%

Selve: (¢); v wefe® ©7 =198 gm .‘.H:ilg%xl()(}% =5.05%

W == 3| gt HON @R NaCN T gaveig vt 0.0Z&m HCN === &35 7.20x10°

= AER g HY o 93 9= s fadfa 29 D [Ans: a]
(2) 7.20x10°M (b) 1.0M (©) (d) 5.67x107"" (e) 29.45x107!°
5:Np* a7 ©a @5 (mass defect ) 1.65 amu R T = TS O 7@

() 24.65x107* (b) 2.46x107!! bc) 5.89x107'"  (d) 5.67x107"" (e) 29.45x1071°

_ 1.65x1.66 ?X(?'st)z =5.89%10™"" cal

50 gm =500 ml ﬂﬁc@@ A TR | Gt A G-t IS (oA Ty =0.9887gm /ml,

Selve: (¢); E=mc’

=u = CGHIZOG ) §
12) 0.9901 (b) 0.9801 (c) 0.9899 (d) 0.9902 (e) 1.0000
B - i 80 e Bl U gt

18 % 180 L
BT SR R (TS Boe T (S oew F1a? [Ans: a]
@ C5H6 (b) C12H12 (C) CGHSNHZ (d) CGHSCH3 (C) C12Hl lOH
e s R @ity
) CH.Cl+ Mg Y22 C H, ~MgCl  (b) CgHsCl+NaOH + HCl - C¢qH;OH [Ans: ¢]
) CHg + H,S0,/%CC¢Hs — HSO, (d) C¢HsOH +PCls — C¢HCl

dry aluminum chloride
§s C.H, + CH,CH,CI C,H,CH, —CH,
e e @Eb? 3 [Ans: d]
(b) H,8,0; - (¢) H,8,04 (d) H;S;0;  (e) H,SO,
T sp’ @R sp” A FE oA Wrg? [Ans: a]

CH.COOH  (b) CH,CH(C)CH, (c) C3H, (d) CH;CH,OH (e (CH:),CH—-OH

&= aefirt T Www.baryog.com I 2wy Sagw
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67.

68.

69.

70.

71.

72

73

74.

75.

76.

1

- (a) Group 1A, Period 3 (b) Group 1B, Period 4 (¢c) Group 1VA, Period 4

0.5 o @B tea sl vz 49 0.9g CO, € 0.3 gH 0Tz 2w | «re O @ et At fafasm
(a) 44.24 (b) 49 09 (c) 34.79 (d) 52.17 (e) 13.04
Solve: (a); C 97 =ifa=re —.4_4x 9gm =.245gm

H, g A = —§x03gm —0.033gm ; oaaorfam_os‘o";“;‘“o'B <100% = 44.24%

HCl @z #td NaOH ¢ NH,OH &3 e ©1% 3dferey 57.3k] g 57.46k] NH,OH <=
w9 fefa 331 [Ans: a]

(a) 5.84kJ (b) 108.76k] (c) 57.3kJ (d) 13.7kJ (e) 58.4kJ
T (oYl e SEer W g [Ans: e
(a) CH;COOH > CH3CH,COOH (b) H,SO3 > H>COs

(c) CICH,COOH > CH;COOH (d) HCIO; >HNO; (e) HF > HCI

fAwsa o fafea® eea-faermd ffemn wae [Ans: d]
(a) 2H,(g) +O,(g) =2H,0(1) (b) CH,(g)+ g CO,(g)+2H,0(g)

(c) 2H,(g) +0,(g) =2H,0(g)

(e) Fe,0,(s)+3CO(g) = 2Fe(1) + 3CO,(g)
@t TSl 7o 732

(a) @RR SrEAead o9 cfifemm swers 3=
(c) SfEat= sEaad faeq TRGTE mvf'irr N

(e) ZeTGw SFIfE FL 2198 4 74 p
C,H,;=9® C—H T5779R (P (3 _‘ £ wﬁmma a1 Afee zm? |Ans: ¢]

(a) sp and 2s (b) sp° . (c) sp” and 2s (d) spand Is (e) sp and
3f5 “RieR IR TEEAY .3d%4s! | ot wrdite Giefoa s B? [Ans: e]

“"';_-, AICl; 97 o g et

(d) Group 1VA, Perio (e) Group V1B, Period 4

2.0M AgNO; @7 gaet ot =imea et it 221 | foosa e Bfef reye
[E“ for Ag*/Ag=0.80V and E°for Sn**/Sn =—0.14v]

(a) E%e1=—0.94V  (b) E%cr =+0.94V () E°cenn = 0.66V [Ans: ]
(d) 2.0M AgNO; @z fora “iima F1t 783 (€) 2.0M AgNO; 7= fora 2iiee At 7183 =

=S R Ink vs 1/T 25 41 2 @3 5= Gt =ite oiet | 7= @< o (slope) 3 —1.1x1
ez fRifemm e =fe 7 22

() 1.00x10%Jmol™"  (b) 9.14x10* Jmol ™! (c) 1.20x10* Jmol™
(d) 9.03x10*Jmol™" (e) 2.178x10"Jmol™

Solve: (b); sm=t &ify, Ink = ERﬂT ; E, =R x1.1x10* =9.14x10* Jmol™

What king of Noun is the word ‘jury” in the following sentence? “the jury are divided in their
(a) Common noun  (b) Noun of multitudes (c) collective noun
(d) Material noun  (e) Proper noun [Ans: ¢}
What type of pronoun the word “Such” is? |Ans: ¢}
(a) distributive (b) Relative (c) Demonstrative
(d) Collective noun  (e) ImperatiVenwbdniyog.com
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W_ET Admission Test 2013-2014 Question & Solve

"% What kind of the verb is the word “elected” in the following sentence? [Ans: d]

(a) Impersonal verb (b) Factitive verb (c) Copulative verb

(d) causative verb  (e) Imperative Verb
% Find the correct adverb form of the noun “improvement” [Ans: d]

(a) Improving (b) Improved (c) Improvement (d) Improvably (e) Improver
% What kind of adjective is the word ‘neither’ in the following sentence? “I shall support neither party.”-
(2) Descriptive adjective  (b) Distributive adjective (c) Demonstrative adjective

(d) Possessive adjective (e) Numeral adjective [Ans: b]
Choose the Synonym of the word “Impotent™ from below. [Ans: d]
{2) Strong (b) Vigorous (c) Powerful (d) Weak (e) Useful
Choose the correct Antonym of the word- “Novice”. [Ans: d]
{a) Placid (b) Sparse (c) Pessimistic (d) Oasii (e) Oasiee
Choose the correct plural number of the word- “Oasis” |Ans: ¢]
‘2) Oasises (b) Oasies (c) Oases (d) Oasii - (e) Oasiee
choose the correct masculine gender of ‘Spinster’. [Ans: d]
(2) Horse (b) Tailor (c) Shepherd  {dWBachelor (e) Gentleman

Choose an appropriate preposition for filling in the gap of he's entence below. [Ans: a]
ia) 10 (b) at (c) against (‘ (d) with (e) from
Which one of the following is correct? > [Ans: a]
‘2) He is better than I (b) He is better than me % (c) He is better than [ am
&) He is better than myself Q better to me
Choose the correct complex form of the below. “Only the poor will be given the money.”
2 Only who are poor will be given the , [Ans: d]
% Only the poor the money will be gi
& Only those who are poor will be the money.
& The money will be given to oﬁﬁse who are poor
& Only who are poor the mon | be given.
. Bwwese the correct compoun of the sentence below. “Though he was poor, he was honest.”
& He was poor but hone (b) Although the was poor, but he was honest.
& He was honest but poor. (d) Though he was poor, but he honest. [Ans: a]

% He was honest honest he was poor.
Wuch one is the correct simple form of the following compound sentence? “The lady guest not
W ate caviar but also drank coffee.” [Ans: a]
W The lady guest ate caviare and coffee.
% Besides eating caviare, the lady guest drandk coffee.
o The lady guest ate caviare as well as coffee.
* The lady guest is eating caviare also coffee. (e) The lady guest atc caviare also drank coffee.
e correct translation into Bengali for the sentence- “He will come round soon.”
» mees ol Wit (b) o7 ety gfem i (o) o7 e S A whkee [Ans: ]
= =% St (e) 1 w2 gfaw ==
@t he most appropriate English translation of the the sentence- “Si&” @lia w18} *3r= waw=w "
W T doctor saw the pulse of the patient. (b) The doctor examine the pulse of the patient.
e doctor felt the pulse of the patient. (d) The doctor observe the pulse of the patient.
Soctor test the pulse of the patient. . [Ans: ¢]
e correct active voice of the sentence “The man I was with was helped by me.”
sped the man who was with. . (b) I'helped the man I had with. [Ans: ¢]
sped the man I had been with. (d) I helped I was with the man.
sped the man [ had been with. www.bdniyog.com
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93.

94.

9s.

96.

97.

98.

99.

100.

Choose the correct passive form the sentence- “Keep your wor 2 [Ans: ¢}
(a) You should keep word. (b) Word is kept by you.

(c) Your word should be kept. (d) Word has to be kept by you.

(e) Word must be kept by you.

Which of the following is the correct direct speech of the sentence? “Rahim called me
coward.” [Ans: a]
(a) Rahim said to me, “Coward”. (b) Rahim says to me, “You are a coward.”

(c) Rhaim said to me “You are a coward”. (d) Rahim told me, “You are a coward”.

(e) Rahim address me, “You are a coward”.

Choose the correct direct sentence of the following indirect sentence- “The police man asked
had seen the accident.” [Ans: e}
(a) The police man says to me, “Do you see the accident?”

(b) The police man says to me, “Did you see the accident?”

(c) The police man says to me, “Did you see the accident?”

(d) The police man asked to me. “Do you see the accident?”

(e) The police man said to me, “Had you seen the accidem?}l‘

Choose a correct word for the blank in the sentence, “ ..@%"I1 could fly in the sky!” [Ans: &
(a) How (b) Have (c) If (d) Oh (e) Were
Change the voice of the sentence, “They had a nicedar?’ [Ans: ]
(a) A nice car had been by them  (b) A nice Cmﬁiad by them

(c) A nice car had had by them (d) A nice'ear'is had by them ~ (e) No passive form.
Read the following passage carefully and give'answer to Question Nos. 98 to 100.
Einstein was very simple in his ways@fflifé and indifferent to his astounding fame. Once,
Queen of Belgium invited him to BmsSelS. When he got down from the train at the Bru
could not think that there ware many gorgeously dress officials to receive him &t
station. The officials also expeefédito see somebody who would appear to be rich and arist
to them. They never imagined that this shabby man would be Einstein himself. So they
back to the queen and inférmed her that he had not come by the train. Einstein, however,

the whole way with @%suitcase in one hand and a violin in the other. When he reached
destination the queen said to him, “I sent a car for you, Dr. Einstein,” “I did not think.”
the great scientist with a smile, ‘that anybody would send a car for me. But I can assure
have greatly enjoyed the walk.”
What did the officials expect to see the scientist Einstein? [Ans: €]
(a) The officials expected to see someone to be a very absent minded.

(b) The officials expected to se¢ someone to be a thoughtful person.

(c) The officials expected to see someone to be well dressed person.

(d) The officials expected to see someone to be a smart and aristocratic person.

(e) The officials expected to see someone to be a rich and aristocratic person.

What Einstein could not think of his reception? [Ans: ¢}
(a) He could not think that many high official will come to receive him.

(b) He could not think that many ambassadors will come to receive him.

(c) He could not think that many gorgeously dressed officials will come to receive him.

(d) He could not think that many Royal family members will come to receive him.

(e) He could not think that the Queen herself will come to receive him.

What did Einstein carry with him on the way he walked down? [Ans: d]
(a) He carried a big bag and a piano. | (b) He carried a big luggage and a violin.
(c) He carried a briefcase and a piano. (d) He carried a suitcase and a violin.

(e) He carried a suitcase and a bawwwldniyog.com
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01.

KUET ADMISSION TEST 2014-2015
[N.B: * o= creat epsetat 2Rrew i)
Mathematics (MCQ)

9= FARATFa cware fMefy o9 79 Féan TS A = 3i—2j+5k9RB=i+6j—k I
(@) 10.95 units (b) 17.6 units (c) 17.66 units (d) 15.74 units (e) 18.97 units
Solve: (c); A x B = —281 + 8] + 20k - [Ax B| = V282 + 82 + 202 = 35.327

- Area = %1 = 17.66sq. unit.

GFEH AR SR THE 24km @0 30m JPAT GF6 e e (TG sz | it Tecea e
FO (T R AP F?

(a) 8°36' (b) 7°56’ (c) 8°56' (d) 9°2' (e) 8°41'

il

30x9.8

2 QY
Solve: (@); V= 24kmhr—! = %ms"l ;tanb = {—g- = = .15-8% ‘g“& 8.59" = 8°36'

@5 2 TBIF 25 x 10%kg =1 50m T TN AP GACS AL AT 0l 70% T o1 23S
O FO? R o
(a) 4.06MW (b) 4.86MW (c) 238MW _ () \d) 420MW (e) 238MW
R 70 _ mgh _ 25x10°x9.8x50 k!
Solve: (b); P x T 60x60 3 W
30°C i@y g e o= I S WATE AGHS F41 T 1 OIS SN FS?
[y = 14]
(a) 122.9°C (b) 410K c)¥26.81°C (d) 395.6K (e) 127°C

Solve: (¢); TV} ! = T,V) '=303.22% = T, x 1°4=T, = 399.81K = 126.81°C

L4m A @R 1075m? FTRIFAESD 8T 4197 O (BT 4 x 10~3m eMife Fa0s F1Hs Free

A1 F©? [Y = 2 x 10" IN4HZ)

(a) 1.066] (b) 1.143] (c) 1.15N/m? (d) 1.143N/m? () 1.066N/m?
2x10"1x(4x1073)?

A oy . YA =
Solve: (b); W = —— = = = 1.143]
%23 ©7 5% SEF 80 @ 2 ©TwA JPNE TG 12800km @92 3200km | 5 AR AfeTde
G T 9?7

(a) 163 cm/s? (b) 1.7 m/s? (c) 196¢m/s? (d) 1.9 m/s? (e) 1.64 m/s?

e o GML Py MpRE  gn . 1X128002 .Y o —2
Solve: (c); g = R g, — MJRE o8 — soxazoor— 8m = 1.96ms™? = 196cms

436 *% S eI WA 0.25cm @R FE 400Hz | ST =T34 @ 332m/s @I YA TG
1.293kg/m?* 2 &S GIarT ofs 3t 2aifze «fe w2
(a) 8.5kW/m?*  (b) 899kW/m?  (c)8.99 W/m? (d) 847 W/m?  (e) 8.47 kW/m?

2
Solve: (e); I = 2n%f?a?pv = 2 x 72 x 4002 x (%50) % 1.293 x 332 = 8.47kWm 2

9 EIfFTF =3 SISl 1077W/m? | *te Sige! fawet 27 Sge! (71ree o 23?2

(a) 53 dB (b) 53.01 dB (c) 55.06 dB (d) 53.02 dB (e) 56.93 B
- ‘

Solve: (b); p = 10log 2% — 53.01dB

10-12
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09.

10.

il

12.

13.2

14.

15.

16.

17.

o= 3rEane *RWIgE e srftE 0.53 A TP @36 ISR AT 4 X 10°m/s @0 g
F70F | SERGED (FUYA IEF A FS7?
(@) 274 x 10°N (b) 2.75% 107N (c) 146X 10’N (d)2.91x10™° (e) 291 x 107N
Solve: (b); F, = P’ = S0 S0 _ 5 7oL g7y

AN f r 0.53%10-10 :
0.02m TFTE RE 64 CrERR @FbITE TS T G0 I @oE 2fETe T4 2 AW &fe For
1C BI% Ry 2, O3 IC (FoHE o9 99 4?7
(@) 7.2x 108V (b) 8.4 x 10°V (c) 719 x 1012V (d) 7.08 x 10''V () 8.19 x 10'°V

Solve: (c); R = YNr=R = 64 x .02 = .08m; Vpj = —— =2 = 9 X 107 x 893 = 7.19 x 10%2V
0

22cm? CRawe A2 afB 5INTsa $2 @ 0.01mm 2F FA 2@ e 2| wvﬁa orETEr 0.1A
A, TS ANY 4 ©fbe 271ES F0s 23?7 FAF SR AP Goi% 1.118 x 107°kg/C @3 FAE 99y
10500kg/m?3 |

(a) 34.44min (b) 35min (c) 35.23min (d) 34m1n (e) 36min

Solve: (a); W = Zit = pv = pAl=1.118 X 1076 x 1 x t = 10500422 x 10~* X .01m

= t = 34.44min |
@ FCAITS 1.015s FACH S &R 0.1A (UAF 0.5A 9 @smm & FeATe 12V Sfeewms
% W42 | T TR A 2AF FO A7 %

(d) 28.5uH

(a) 25.38H (b) 25.4mH (c) 30.45H (e) 26.2H

Solve: (c); e = L%ﬁ12=LX%:—5=>L—3®

0.56Am? BIFT I A2 &= 75 s TEend (e e e e afe e =@
FfmrET (7| @ FERE SeeE SN = 32T]

(a) 4.6 X 107°Am? & 5.8 X 10~ °kgm? :

(c) 45.39 x 10~ f'kgm (d) 4.54 x 1075Am? (€) 4.6 x 10~ *kgm?
Solve: (¢); T = 21: =2 @ o =1 = 4539 X 10~ %kgm?

wmwvmﬁﬂcﬁff:‘aaaaﬁ 5000 mmmaf‘@mﬁmsagoﬁwmmw
RO DA T T (Y FO?

(a) 36.13° (b) 36° (c) 35°22' (d) 36°5' (e) 35.98°

Solve: (d); sind, = NnA=>sind, = 5000 x 10% x 2 X 5890 x 10~° = .589=0, = 36°5'
WWW%‘HW’T‘WI @3 RS 2[Z 0.88mA €32 %monssml 2@z faadq
GE FG?

(a) 0.942 (b) 0.93 (c) 0.95 (d) 0.96 (e) 0.926

Solve: (e); Iy + Ic = Ig= .065mA + I = .88mA=l; = .815A ~ a = :—;= =2 =0.926

2iafs S @I IFACE A 108 FAFE Aul?® @7 AN ATF, SR GFACH FS Y (S0F IA?
Au'?® 4q SEY 2.74d.

(a) 2.27 x 107 (b) 7.73 x 108 (c) 7.76 x 107 (d) 2.235x 107  (e) 2.486 x 107
Solve: (d); At = In=° ‘ff x t:ln% 2 x 1=5N = 7.765 X 107 = AN = Ny — N = 2235 x 10
TIETEA ﬂmﬁ?@ﬂmwmmﬂ’@mﬁ?

(a) 213A (b) 3.14A (c) 2.13 x 10~ *%m (d) 2.45 x 10~%m (e) 2.65A

dZ 2 L
Solve: (a); r < dz—_-::_—z =25 02 -21-;=> r; = 2134
1

ds 53 )
www.bdniyog.com
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18.

19.

GG T 30 IZA I 2.6 X 10%m/s (@0 G TSN 508 TG Somas onms | 5
55 37 717 RS e AHER | O I8 T T2
(a) 60 yrs (b) 58 yrs (c) 57.44 yrs (d) 58.2 yrs (e) 56.58 yrs

Solve: (c); t = => 55 = —==2——=3t, = 27.44years
‘ zsxwa
Elxm

. IOAM I79= 30 + 27.44 = 57.44 years

79 e Sifers vaNW a6 9T ANE Y = 10sin(12t — n/6); QU Y 97 95F foH, t 97 9FE
GIR"T Q32 W FA0FT 9 rad | IBHF T Whe F6?

(a) 10m/s (b) 12m/s (c) /6 m/s (d) 120 m/s (e) 120cm/s

Solve: (d); ® = 12rads™!, A = 10m; Vpyay = ®A = 120ms ™!

@M gaftaa Rz 20°C ¢ SefEs wwe! 75%. @ R T I T A F6? [20°C

ST S G A1 5121 17.7 X 10~3m]
(a) 17.7mm (b) 17.7 x 107*m  (c) 23.6 X 10~°m (@ 107*m  (e) 23.6 x 103m

Solve: (a); & G&¥ I B (TSR SR e

© 100m? CROFTR 3B FEIFE 1000°C —rvmrmr Srare R e e R w9E?

[0 =5.7 x 1078W/m?K*]

(a) 14.97MW (b) 7.48 x 10°MW(c) 2.85 ﬂ (d) 45.6MW (e) 7.48 x 10°W
Solve: (a); E = AecT* =100 x 1 x o X ( .\ )* =1497 x 10°uW

«3fB IFLF 50m /s @0 P AL AT a1 A A4S SHOMT TITS T Y FAMCE?
(a) 1.8s (b) 3.6s 7.2s (d) 9.8s (e) 36s

Solve: (b) = usina _ 50xsin45°
- ] - —- g -

9.8
40 41O AT 4 2cm GIOHFS
Fr<7E 50uV o9 AT HB 01| 26 ofer CFiEE e F?
(a) 50uV/m (b) 50 X 10~6uV/m (c) 2.5 x 1073V/m (d) 2 x 10‘3V/m (e) 2.5 x 10-3pV/m
Solve: (¢); V = Ed=50p = E X .02=E = 2.5 X 10~3Vm™!
35 TrS! HAF AH WoTF GR SGAGH FIFF 73y IAE 125 @32 10em | 766 @i @3
CFTE TE0F (T F© ZA?
(a) 125cm (b) 25cm (c) 10cm (d) 13.2cm (e) 132.1cm

1:)xfe 25%10 _
Solve: (e); L =f, + =125+ ——=132.1cm

5 x 1014Hzaswnmﬁﬁm@m TSI Ao 27 FE® 2.6 x 10719 *Ife 77 =g e
| & 4193 oA T F97?

(a) 1.078 x 10'3Hz (b) 1.078 x 10**Hz(c) 1.078 x 1015Hz (d) 5 x 104Hz  (e) 2.6 x 10~1%Hz
Solve: (b); hf = hf, + Egmar = h X 5 X 10 = hf, + 2.6 x 10"19=f, = 1.078 x 101*Hz

27°C OIEITS 31.50gm HNO; @@ 1200ml *1f{te wdtgs w4 2011 w2¢i6a =ifE Tt cenfafire oo
=37 [#ff"a 99g= 0.9877gm/ml] '

(a) 0.41molal (b) 0.42molal (c) 0.60 molal (d) 1.66 molal (e) 0.21molal
Solve: (b); 1000W = mWM=51000 x 31.50 = m x (1200 X .9877) x 63=>m = .42molal

s sTEhT 9 quhiem @R Rk VAT FETE [T
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07 qFTS IR SR ©9 32 LA T SIS TF S I 1% 25 2fs GTEE 50550em TA?
(a) 327.76°C (b) 54.76°C (c) 273°C (d) 52.76°C (e) 27.38°C
Solve: (b); Cyms = J%’Ensos.s = ’%{1}’_‘—?3 T = 327.76K = 54.76°C
0B, SRTETE 87 ZARE SICZ | N5 (IR O/ SUPTIR SHETA JERG I I T FHey?
(i) 12 15 T e BTG @ A TR e et (1,0,0, 4 3) ST (1,0,0,-3)
(ii) SFRATETa caiow et 8 e zrare frehuas el g g w31
(iii) 5% TSI A2, S, GIEE R TERGE (OIS TNE e FCd |
(a) i (b) i, ii (c) i,ii (d) i, i (e) i,ii, iii
Solve: (b); (i) %3, (ii) 77, FT8¢ O @3 isotope fAAF; (iii) 77 7, TV s gefta e forod e
29. NaOH 3 e are 9y 1.10gem ™ | Belba Sl 0.1M T BRAfors ol TS Ot (S33) Aife
R?
(a) 99.60 (b) 89.40 (c) 99.64 (d) 89.44 (e) 96.36
Solve: (c); 100cm® B &4 110gm
W4E, 1000W = CMV=>1000 X W = .1 x40 X 100=>W = .4@@1@ .4gm U9 SR
-, Aifa =rewr Afare= “1‘;;"* x 100% = 99.64%
30. @G FIET AR FAW GAXA H,S mwmm@vﬁm Co1ET | AT TR BAe (I
e SAfEfS o s? o
(a) Ni (b) Co (c) Mn 9 (d) Zn (e) Al
Solve: (d); ZnSO4 + NaOH — Zn(OH), + Na A n (OH), + NaOH — Na,Zn0, + H,0
Na,ZnO, + H;0 + H,S — NaOH + Zg%l Q
31, % oA ereM@y 100kPa 51t7f 2.24dm? @ 9417 14.0gmN, I FLFOAAETS! @A41% 0.10 TI?
(a) —3.64°C (b) 265.72°C , 269.36°C (d) 538.7°C (e) —273K
100 &%
Solve: (b); Z = —= = 1= § =T =538.72K = 265.72°C
32. 10mg'*C Gt feGTR o1 FoL
(a) 4.32 x 10~®kg (b) 504% 10 °kg (C) 5.76 X 10~%kg (d) 5.76 x 10 °kg (e) 5.76 x 10™°mg
Solve: (d); n = & = % = 7.1428 x 10~*mol; fGs—> 14— 6=28
.. fiieRTE ©9= 8 X 7.1428 x 10~* x 1.675 X 10728 X N, = 5.76 X 10~°kg
33.  33°C Sl @ 2.55atm BT? 16.50% PCl; RIAIfErs 1 @ SIPRTEE Kp &3 A F97
(a) 7.13 x 10~2atm(b) 7.48 x 10™2atm (C) 3.74 X 10~2atm (d) 7.13 x 10~3atm (e) 3.56 x 10 %atm
PCls (g) = PClz(g) Clz (8)
Solve: (a); t=0 100 0 0
-»835 165 16.5
. GG (IEPTRATI=116.5
16.5 16.5
- Ky = 2P0 _ Tas o ines™ 596 x 10~"atm [ReB 8 M 221 91 21
5 1365
34 frzz Rfeaiba [NH;] 99 dRf@s Tmm@r 0.75M a7 ffernfa sidigeE 30 ff G == Riwaa 79
%3% 9 73? 2NH; — &AM (Product)
(a) 7.40 x 10~*mol " 'min™? (b) 7.40 x 10~*mol'sec™ :
(c) 0.023mol *min~? (d) 3.85 x 10~*mol~'sec™* (e) 0.0444mol *sec™!
Solve: (b); €= 7T @R AW «f6 2nd order ffem)
tyz = % =30= _k;lf-_S: K = 0.044 mol~ min~! = 7.4 X 10~*mol~*sec™ -
LW GFIER &5 ST T2 4 AT T [T AU ..

www.bdniyog.com
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35.

35.5gm (FIfE R & SIeR eTED] FRF4et (@wH?2

@) (P+55)(V-2) =RT (b) (2P +-%) 2V ~b) = RT
(©) (P —&)@V—b) =RT (@ (P+ = (v-2)=rr
(e) (P+%) (V — 2b) = 2RT

Solve: (d); (P +=5) (V —2) = RT [35.5gm Cl, @7 & n = o

42
(P+23) (V—nb) =RT= (P+-2) (v-2)=rr
43 78 @R T w3 e FOARE @ 1 Grs AgNO, €9 SR BR9 Qi T ZE Al
SHSTFA NG AR 1 L eAfoa A1 WG 39.251 oifbre JeiE @ T4 T Rl orwE G Tty

=7 | @ifoa A s fore
0

o

Il I
(@) CH; —C —Cl (b) CICH, —CH  (c) CH3CHCICH;  (d) CH3€H,CH,Cl (e) CICH,CH,NH,
Solve: (b); 3@ QB2 THYTT G2 79 *1E W | §

(TS STFE (Chrome Ochre) @HH? O [Ans: c]
(a) Fe0.Cr,0, (b) PbCrO, (c) Cr,04 (&Na(ﬁrzo-,- (e) Cry04

pH = 4.60 "B <6 Irem w3t ege T @ wHame et ¢ Afe aMite @ whR 7B
TIPS T? (CTETT WITE pKa = 4.75) x *

() 0.708:1.0  (b) 0.604:1.0 (c) 0 @) (d) 0.599: 1.0 (e) 0.804:1.0
Solve: (a); pH = pKa + log%:ﬂ.é % og%‘i%]}-: [[Ts%]] = g

FRERYE 6 @ HCl 72 Tee Teof A2

(a) C;Hg (b) CH; — CH — CH; (c) CH; — CH, — NH,

(d) CgHg (e) CHy — 0 — CH, — CH

Solve: (c); CH; — CH, ~ NOFS— CH; — CH, — NH,

S5 RAIIER TR 92% CaCO; WitR | &g HCl @ 100gm RIS WS A STP ¢© F© f#16r CO,
e II?

(a) 22.40L (b) 21.50L (c) 20.60L (d) 32.25L (e) 24.37L

Solve: (c); CaCO3 + HCl - CaCl, + H,0 + CO,

100gm CaCO; @ CO, RWiw  22.4L
Soggm o 222 x 92 = 20.60L

T AFES WAR WA 3.25ampere AP TR SEAT FA 4.405gm 6T AReS TA?
[At Wt. of Zn = 65.40]

'2) 33.33min (b) 66.66min (c) 1999.91 min  (d) 99.99 min (e) 62.65 min
Solve: (b); Q = neF = 325 x t = fﬁ-“s-'l—s X 2 X 96500 = t = 66.66min

0.02 M NaOH %3743 pH 5?2

(2) 1.69 (b) 8.77 (c) 12.30 (d) 13.31 (e) 13.98

Solve: (c); pOH = —log(.02) = 1.7; ~ pH = 14 — pOH = 12.3

TTETT 9T ST TR wwwsbdniyog.com NTICTHT 2TTT [Fege e
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43.

46.

47.

48.

49.

50.

o1

52.

HCN @32 NaOH 93 2w «awa@f% —12.134 kJ/mol. HCN O3 S GRYE N FO?

(a) —57.23 (b) +57.23 (c) —45.096 (d) +45.096 (e) +12.134
Solve: (d); EPs QAR =—57.34k] + RN G

- AR QL@ = 57.34 — 12.134 = +45.096k]

30°C SN FTaIE IS (e OfeR Bee & $97

Pb|PbZ* (1.0M)|| H* (0.4M)|H,(1atm)|Pt [(T€HT SICZ Epyz+ jp, = —0.14V]

(a) 0.1165V (b) 0.1170V (c) 0.1155V (d) 0.1161V (e) 0.1175V

BT, [PBE) 8.31x302 i it

Solve: (d); Ecal = Egen — 1 TP, $ld 0= e JIn = 0.1161V

350 — 400°C SI#@ i‘m@ Al, 05 atsm %%@ T8 CH; — CH, — CH,0H &3 AP 5w <t
Teom =a? Solve: (b)
(a) CH; — CH, — CH3 (b) CH; — CH = CH, (c) CH; —C =CH
(d) C;He (e) CH; = CH,

100dm?0.3M HCl @3z 200dm?30.6M H,S0, «3ta ffEre 1 el @eef ref T2

(a) 0.45M (b) 0.6M (c) 0.9M )0 (e) 0.4M

Solve: (c); 100x.3x1+200x.6x2_300xMx1=@=09M

et aft for ufre ffire Fam @ P afires T .

650mm B7% '€ 30°C ST 950m| I Tl *Fleas T AT?

(a) 0.1972 x 10% (b) 19672 x 102% (c) 1.8426k 1021 (d) 1.9426 x 10?2 (e) 2.0112 x 10%
Solve: (a); PV = R'I‘ B = 821 x 303 = N = 0.19672 x 102
aﬁv@ﬂwmﬂmﬁgw @ W30 @3 B @I 90 A AW YT AT
(ot 41 =19 HCl B3t Barg® & 1) TR0 (I e SRS wirR?

(a) €I~ (b) S2- é (c) SOZ~ (d) F~ (e) CO%™

Solve: (c); S0~ + Ba(N@—» Bas0, + 2N03

]
AT @7 CReE e e i s w2
eEl H,0
(8) CHCl3 (1) + 0, (g) —> 2€0Cl,(g) + 2HCI(g) (b) CHCl; —25 CH, + HCI
Zn/HCl
(c) CHCl, A cH, -+ HE (d) CHCl; + HNO3 — CCl; — NO, + H,0
(e) CHCL; + 4NaOH(alc) » HCOONa + NaCl + H,0
Z 1

Solve: (c); CHCl; 2 CH, + HCI

e e fow 7a?

(a) Fe — 3e — Fe3*(b) Fe3* + 2e — Fe*(c) AP* —e > A2+ (d) Fe2* — e - Fe3* (e) Zn** + 2e - Z
Solve: (c); AI3* — e - AI**

T £: RH - RH =141 f(x) = x2 3jfo® =¥, ©0d £~ (25) 99 T F97?

(a) {-3,3} (b) {—4.4} () (=77} (d) {2,-2} (e) {5,-5}

Solve: (e); 25 =x2 =>x=15

(a+vV1-2a? o (a —\/1_—52')6 99 W FO7?

(@) 2 + 24a® — 24a* (b) 5—7a+a? (¢)9—Ba+a (d) 7 +15a%* —a* (e)11-9a+ 8a®
Solve: (a):a = —1 30T G C1F (2)-2 T AN (T |

Sam e g% avTE 2T WO DO Ru- o AT TR AT
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53.  “Examination” *%6 2 46 S f e Sitag it @ faat 5eeljl oo 23?

(a) 147,2324  (b) 136,2454 (c) 3021,226 (d) 2150,215 (e) 334,2354
Solve: (b); Exmto; aa; ii; nn
FACIH =1
46 fem— 8¢, =70 8C, x 4! = 1680
3 P 4!
215 same + 26 fo§ — C;x ‘C; =63 3Cl x 7Cy X% — =765
2 5 same + 26 same — =3 41 2.18
pL 3 il 5= W
136 C2 X 2121~ 2454
A R A
3 205 1 u " " =
85 TY gy 4| Mo 1 @3 Reqs @
0 -7 k7
(@) u (b) k (c) 0 (d) —935 (e) =297
2 =3 5
Solve: (c); 1 937 Re4F=— |3 —1 4|=0[use calculator]o
0o -7 7
B kﬁww(k2—3)x2+lo:+(3k+1)—ﬂw AR B0 A?
(@) 3,11 (b) 4,—1 (c) 4,-7 d) 5,—3 (€) 1,7
A AT i 3x+1
Solve: (b); 4%, TMef a,~; ~a.= 3k+1
=k*-3k—4=0>k=4-1 [Calculat
Ee- -_*3_,_ ﬁ_,. §+ ﬂ
2 (e -2e+7) §(3e 2_7) () (e —7e + 1)
19) (52— 7e + 11) $ (e) - (3¢* — e — 1)
Solve: (e); [Option Cheﬂ
'a'eammwm“‘n a3 T 0 A ©f el
@: (b) 5 (c)3 (d) 2 (e)8
8&9 (c); llm asm =X = L 1 oy ; [La’hospital rule] a0 3_0=a=3
‘*nny=xsm(a+y)i§[,mguﬂaﬂ‘lﬂ@ﬂﬁ?
_ simi(a+y) sin (a+y) sin®(a+y) sin®(a+y) sin?(a+y)
2 tana ( ) sina (c) cosa (d) seca (e) cosy
Solve: (b):0Option check 3T |

S5 @ Tl 7M1 R SR TG FANE A4nE | 3 o ofiw 5 3R TR 7Tmm sec ! WO
Lhmm T 419 SR OF WS Jfad NS 24 LI-
& 07ccsec™? (b) 7 cesec™? (c) Zcm sec™? (d) 70 cubicmmsec™  (e) (FEHR T

Solve: (a); V= -rcrzh = —nr j‘: = “r:fr =n X (8m)? x :;-m = 0.7 ccsec™
'=h‘+4x3— 12x? @9 —2 < x < 1 TS AT T ZeAr-
F = (b) -5 (c) =7 (d) 0 (e) 16

Bawes (d): f(x) = 3x* + 4x3 — 12x%4f'(x) = 12x3 + 12x2 — 24x = 0

wmae=01-2;-2<x<1 @@ ORI~ f(o) =0
www.bdniyog.com
o= =S (T3 7 AFASLT LT a7 TS
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61. [ 93 T @W?
(@) sec‘ig (b) tan~! x (c) cos™tx (d) sin™*x (e) cosec™'x

= Yadx =l -1 X
Solve: (a); f“,xz = f ==secTiz+cC

62. [ —dx mmﬂ@mﬁ“’
(a) 3In3 +3 (b) 2In2 — 1 (c) 4In3 + 1 (d) 1n3 (e) 2In3 + 5
Solve: (b) J-011 x Il dx _J-l X — [ln(l +x)]3, _Il 1+x-1 ik

0 14X 0 1+4x 0 14X
=In2 - f dx+f -—dx =1In2 + [In(l +x)] -[al} =2.In2-1

63. OP mwmﬁwﬁw @ITel GRS 7w SAG LT 0Q 1 P 97 FE (—v3,—3) TA Q «F
(oS BT =03-

a)(-23%) O2E)  (© (2v3.5) (@ (2v3.%) (e) (2v3.%)
Solve: (d);P = (—V3-3) = (2V3=5) - Q= (2v3-Z - =(2v3- )= (2v3%

64. 3x+ 4y =7 @I AAGAE @R (1, -2) T 20© 7.5 4FF WiE SRZO A @Wﬂw @EB?
(@)3x+4y=7 (b)4x+3y=9 (c)7x+y=11¢ J(0)4x+3y =205 (e)3x+4y = 32.5
Solve: (e); 3x + 4y = k; f;_;i_‘f} = 75> |k+5| =@%h5D k = 32.5,—42.5 - 3x + 4y = 32.5

65. (2,3) @% ¢ 6 93 7P AT I 9T x TCHG /TS S AT TR

(a) 4 (b) 210 (ChaPVT (d) 6 + 2V5 (e)0
Solve: (e); (x—2)*+ (y—3)*=3*= _.,_f& x+4+y —6y+9=9
s>x2+yi—da—6y+4=0; . LEOPI=2V92-1=2V4—-4 =0

66. @M Togren Torelus a1y RE AT A | TogE (0, 1) famy o wifoerw Fatat T2a e
=

(a) 3x% +y% = 16 (b) 3x3 —11 (0)x®+y*=9 (d)x?+9y2=25 (e)x*+4y’=4
Solve: (e); 4@ (e)72- 2 €0,1) i |
67. afit coso + sinP = 0,sina — cosPp = 1 €92 90° < {a, B} < 180° =, © (o — p) =?
(a) 60° (b) 30° (c) 75° (d) 45° () 50°
Note: &4 &5 StR |

68. tan(45°+ A) + tan(45° — A) @9 IH F97?

(a) 2sinA (b) 2cosA (c) 2tanA (d) 3cotA (e) 2sec2A
Solve: (e); use calculator
69. sec?(cot™13) + cosec?(tan™! 2) G W FO7?

13 11 7 3 12
(@) 24 (b) 3 (€) 53 d) 4 ()5
Solve: (a); %‘ %2; sec?(cot™ 3) + cosec?(tan™'2) = -15{1 4 ; = 2%
3 T

70. ﬁaﬁmwwﬁwmﬂ—mﬁwﬁﬁmmaﬁamﬂewm I FETARE
TGIS! (I - _
(a)3 (b) = (© (@)% (e) =
Solve: (d); p> =p* +p*+2p CosaMBéLlyog o
Lagm aenEE o5 o= TR 8 AFTSTAT LT [N ...
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Fg i

TR B TN WA T G oleEe 20 R A @36 1% wign <= o e =
SR AW 403 G @ W2 791 et S cﬂﬁﬁa@mmwﬁ;wmwwm
] HZErey 34? Solve: (c)
{a) 5v2 (b) 4v2 (c) 3V5 (d) 45 (e) 10v2

36kg S D 79 Tofa 6 oiffrel <1 e e @ RS @3 @ B 15km 3f& A2

(2) 6N (b) 4N (c) 2N (d) 2.5N (e) 5N

Solve: (d);a= “2 = & = > ms2 #F=ma=36x==25N
'a'aamwwrar—27+Ka3:2af—ai—4imiﬁwwm?

2)3,1 (b) 2,4 (c)—2,1 (d) 3,2 (e) 1,5

Solve: (c); 22’ +2a~4=0 2a=1—2

T T8 ST K ORI 0 7 SR TR e

@)l (b) 52 (©) = (d) 2 (e) &
Sowe:(a);7=1+6=2+5=3+4.-.P=§—z§-=-§ &

A S B 2T (YT (AT IS 5 € 3 G5 =T @32 3 ' 4 ST | A 23T of el e
10 511 @ B o1 2fSf e 12 Bt wre v 165 939 =3 ¢ 132 gz
mwmm,wmmmmmm-o

12) 330 taka (b) 360 taka (c) 420 tak (d) 448 taka (e) 650 taka

Solve: (c); A > x,B — y; 5x + 3y < 165; 3x+4b\ 2 = (xy) = (24,15)

= Zmay = 10x+ 12y = 240 + 180 = 420 ta

Choose an appropriate word to fill in t@.f the following sentence. | have to meet you_ ..
» June at KUET. S [Ans: b]
2 sometimes  (b) some time &) sometime (d) sometims (e) something
What is the plural form of the wi emorandum"? [Ans: d]
& Memorandums(b) Memo as  (c) Memorandras (d) Memoranda (e) Memories
W5ich one in the following sentences is correct? [Ans: d]

& The flower had lost its freshness. (b) The flower has lost its life.

& The flower has lost its beauty. (d) The flower has lost its glamour.
& The flower have lost its life.

Fa the correct compound form of the sentence "Though he is rich, he is unhappy." [Ans: e]

& 5 s rich so he is unhappy. (b) He is rich that is why he is unhappy.

" =& is rich so that he is unhappy. (d) He is rich and unhappy.

= =& s rich but unhappy.

e e correct passive form of the sentence-"I saw him reading a book." [Ans: c]

% ' saw that a book was read by him.

% =& was reading a book seen by me.

= =& was seen reading a book by me.

- 52w him that a book was read.

== was reading a book that was seen by me.

an appropriate group verb to complete the sentence "You should___ swimming."
sat up (b) take in (c) take up (d) take off (e) get up
Ex

—_ vvvvgvv.bdniyvu"""' mmﬁﬂﬂm
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82.

83.

84.

85.

86.

87.

88.°

89.

90.

91.

92.

Fill in the blanks to complete the following sentence. "l want to hear how you managed __

the dog." [Ans: d]
(a) (about, to) (b) (about, on) (c) (about, by) (d) (about, with)  (e) (about, of)

The passive form of "He died of fever" is__ [Ans: c]
(a) Fever was died of by him. (b) His death was caused to fever.

(c) He was died of by fever. (d) He was caused to die of fever.
(e) Fever was caused him to die of.
Choose the correct word(s) to complete the sentence "l worked hard all day long and ___ tired

in the afternoon."” [Ans: d]
(a) had grown (b) had been grown(c) was grown (d) grew (e) has been grown

"l don't know the way. Do you?" __ Mother said. The indirect speech of the above sentence is__

(a) Mother said if | know the way. (b) Mother asked if | don't know the way.

(c) Mother said whether | would know the way. (d) Mother asked if | didn't know the way.
(€) Mother asked whether | had known the way. AN

Solve: (e) »

Find the correct conversion of the sentence "The new%as very much shocking to her." into
Exclamatory. Ve [Ans: b]
(a) What a shocking news to her! @ (b) How shocking the news was to her!
(c) What a sorrowful news it was to her! .;‘\;% (d) How was shocking the news to her!

(e) What a shocking news it was to her! 3y \°

Choose the meaning of "Riding for all! [Ans: d]
(a) Horse race $ Riding fast (c) Pleasure trip

(d) Helping all 4 (e) To act recklessly

Which one is the correct j t speech of the following sentence?- The boy said, "what a
terrible storm it is!" ° [Ans: c]

(a) The boy said what a terrible storm it was.

(b) The boy said with fear that it was a terrible storm.

(c) The boy exclaimed with fear that it was a very terrible storm.

(d) The boy exclaimed what a terrible storm it was.

(e) The boy said with fear that it is a terrible storm.

The tag question of the sentence "Congratulation on your brilliant success.” is__ [Ans: d]
(a) Don'tyou?  (b) Aren't you? (c) Do 1? (d) Don't 1?7 (e) Do you?

Which one of the following sentences is correct? [Ans: €]
(a) No one eluded to the misfortune. (b) No one could eluded to the misfortune.

(c) No one could elude form misfortune.(d) No one eluded form misfortune.

(e) No one could be eluded to the misfortune.

Which one has the correct meaning of the idiom, "A sleeping partner” : [Ans: d]

(a) Husband (b) Wife (c) Bed partner  (d) Inactive partner () Good partner
Choose an appropriate preposition to fill in the blank of the sentence "They won the mat
hands__. : [Ans:
(a) down (b) up (c) above (d) on (e) below
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83. "Speed money" means__ [Ans: c]
(a) percentage of interest (b) hard-earned money (c) bribe
(d) black money (e) wage

34, Choose correct preposition to fill in the blank of the sentence "Everyone should have an
esteem____religion." [Ans: a]
(a) for (b) to (e)in (d) at (e) none

85. What is the right form of verb in the bracket of following sentence?_ The match is (telecast)
now. [Ans: d]

(a) being telecasted (b) been telecasted(c) been telecast (d) being telecast (e) telecasted
96. Choose correct words to fill in the blank of the sentence "Bashir ___ for Dhaka the day after

tomorrow." [Ans: a]
(a) will leaving  (b) shall leaving  (c) left (d) leaves (e) will be leaving
27. Choose the antonym for the word "Harbinger” [Ans: €]

(a) Leggend (b) Legend (c) Envoy (d) Wastrel (e) Dullard
28. The correct translation of “STa (1= (TS ZCAT, 7 AMI2 Al @N‘&ould be_ [Ans: a]
(a) Where did man come from and where will he go? ¢
(b) Where is man's past, where is his future? <+
(c) Where is man coming from and where is he goingﬁ f
(d) Where was man found, where will he enter? ¢ & “
(e) Where had man come from and where will*he'be going?
Read the following passage carefully and MSwer to the question nos. 99-100.
Stephen Hawking was born in 1942 J (@l educated family. He is considered the greatest
physicist after Einstein. As his reputati s a scientist soared higher and higher, fate followed
with less rewarding things. Steph§a’dualiy started losing control over the muscles of his body
as he gradually became a viaii Gehrig's diseases. Since the age of thirty, he has been
confined to a wheelchair wj ower to control his body except for some limited movement of
his head and hands only-"he can speak only through a computer with a voice synthesizer that
converts his messages into sound. But such a tremendous physical handicap has not managed
to dishearten of slow him down. Stephen is still relentless worker using his computer to carry out
research work as well as deliver lectures. He lives with his wife and three daughters and he is
provided with twenty-four hour nursing facilities by an American organization for his well-being.
22 What kind of victim was Stephen Hawking? [Ans: e]
(a) He was a victim of Grave's disease.
(b) He was a victim of Addison's disease.
(c) He was a victim of strong cyclone to lose the movement of his muscles.
(d) He was a victim of diseases that enhances the control over his muscles.
(e) He was a victim of diseases that severely weakens the control over his muscles.
220 How is he doing his works? [Ans: d]
(a) He is working with his wife and three daughters.
(b) he is working with an American association.
(c) He is working with a nurse for twenty-four hours.
{d) He is working with the assistance of a computer and a machine that converts messages into sound.
(e) He is working with research and lectures.
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fArms efemms Rt e Q fefa v41
2527 Myt 0 —2 ,P—i“—>Q
(a) 220 (b) zngC (C) 226 (d) 218 (C) 221
TAR: (a); 232Th—-> zzaRE3 L 228&) LA 233%}; - 224&&)1 - 252&5
FACC FIT 0O T (TR T T9- [Ans: d]
(i) BRC s Ricarey st Afa o < |
(ii) FTE I A Sfe Reary it Reidre e arat arefire &7
(iii) I " @ @I TG @12 FI0R 7R T |
(iv) SR It A |
T S o e @ Beaf o
()i, ii (b) i, iii () i, iii ()., i, dii () i, iv
1000 cm® w@fw 7T 30 g B9 FAge WhR | e 100 cm? 3 o @i 300 cm?® T w3t feem wa @
Ty gavet 3 sHffart omrd (2t A 769 wdE sifw wEE0.25 |
(a) 5.54 g (b)8.23 ¢ (c) 1093.¢ ) 12.59¢g (e)14.12 g
3
T (c); W = Wo (1= ) =30 <R%E> =1093g
e stfvw OH ™ e et 5.0 X 1076 M 1 «re H30F SRR <Al 36 X
@1.0x107°M (b)2.0x107M (c)3.0 10-9 M ()40x10°M ()50x10°M
T (b); [Hy0*][OHT}=K,, +[Hs0*]=2"—=2x10"M
WW@WWW @T‘Iﬂ? M2 [Ans: c]
(a) IS (b) 5% (c) cafew (d) e (e) FB®
250 mL et 1 mole GG I VI 300 K Sromiary siot ¥ T ©f SIS 'SPt A MRy fAefa 39 |
[a = 2.253 atm.L2. mol™? & b = 0.0428 L. mol™!]
(a) 130.6 atm (b) 53.5 atm (c) 25.7 atm (d) 82.8 atm (e) 96.9 atm
F: (d); (P + "—Vz;) (V—nb) =nRT ~P= J_“Tb - % = 82.82 atm
@ G G-51%F #Nifire 877.5 ppm NaCl U1 & #Nifite NaCl @3 T3 @l caetiffbee v 237
(2) 0.01 M (b) 0.05 M () 0.015M (d)0.025M (€) 0.035 M
AR (c); 877.5 ppm ~ 877.5 mg/L = 0.8775g/L = 2 mol/L = 0.015 M
G TR (AR apReRte’ 1.0 X 10° Lo.mol~lem™?, s tf 1.0 cm @R ¢ire Fwet 1.5 2o §RHT Tt
77
(a) 1.25x 107 mol. L™! (b) 1.25 x 10~ mol.L™? (¢)1.5x 1075 mol.L?
(d)1.5x 10~ mol.L™! (e) 1.35 x 10™* mol.L™?
T () A=gcl wc=2=——=15x10"M
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l-::((:)u/Cuz“ = —0.34V e Ege/peu = 0.44V T=-

(i) ©I1 *ing FeS0,, & At 3 |
(ii) O *ife@ FeSO,, g9 a1 |
(iiii) T 7@ CuSO, T TR T |
(iv) GTZ #i@ CuS0,, §I T T 7 |
(a) i, i (b) i, i (©) i, iv (d) i, iii (e) i, iv
T: (c); BD 4 + 130F_e+ =034V +044V=0.78V> 0V . @m: Fe/Fe?"||Cu*?/Cu

TCu Fe2
HC = C — CH = CH, @53 C — C 7% THA1HTS IR & TR X6 ©f ZAll- [Aps: c]
(a) sp? — sp® (b) sp — sp? (c) sp —sp? (d)sp®—sp®  (e) sp* —sp?
A7 i wpeTee Tt ffemy s w67 [Ans: d]
(a) HCHO (b) C¢gHsCHO  (c) (CH3)3CCHO  (d) CH5CHO (e) Cl3CCHO
AT T PIIFBIT AT GIET T @ % Im=?
@n=4,¢=0m=0ands=+; (b)n=4,¢=0,m=0ands=—=
(c)n=3,f=0,m=0anss = +% (dn=3,f=1,m=0ands = +%

(e)n=3,'€=2,m=Oands=+%
T (e); (n + 1) AT @ o e @

Set-I &7 > Set-II firer 3= | [Ans: a]
Set-I Set-11
(@ CyHg0H TS0, (1 e

Ag(Power, A) (2) inﬁ'ﬁ
b) CHl;, ——8
(b) CHl e (3) @A
(c) CH3COONa(aq) ————— (4) snfiiEm
(d) CH,COONa —/c2% & (5) T

3 A%

(@a-2,b—-4,c-5d-1 (b)a—2,b—4,c—5d-3
(c)a—2,b—2,c—-5d-1 (da—-4b-2,c-5d-3

(e)a—2,b—2,c—4,d-1
%A = 2B fifFaifta sy “A” «7 s T e IR AR “B” @0 AGHT e 77Fe o7 grl-  [Ans: ¢

_dia] _ ,diB) _dia] _ 1d(B] _dia] _ 1d(B] _dia] _ d[B] _dia] _ , diB]
(a) dt—4 (b) dt ~ 2 dt © dt ~ 4 dt (d) dt ~ dt (€) dt ~ “ dt

252 faferita wmmr srEfee affTe weoft SfETem <y wie?

(a) 4.8 x 103 (b)2.4x 101 (c)48x10%*  (d)12x10*  (e)7.23x10%

AN (e); wAm w7t affre = H,C,0,4.2H,0

FAREBATS FIe FA AT GFe farwta 20e Hp S0, #1TG (stet | eieifie feestt Reita e & w2t By [Ans: d]
(a) ITS BT FIAT FIF AL | (b) & BT fEfas/ITetrereeT A |

(c) T ARfFS Aid-box (¥F Antiseptic §Io A | (d) SIz® B ofp3 sty e o 23 |

(e) B i e wirze e «fSTe T (el |

30°C 8 55°C SRR (@ 45 §3d Garet T 50 8 90 | 30°C Srommary 50 g gIE 55°C Srermars $3e 341
T | R JIMS TS 00 O T T AMSRe Fres eare 22

(a)10.12 ¢ (b) 1148 g (c)12.62 g (d)13.33 ¢ (€) 16.66 g
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ST (d); 30°C ST, 100 gER@ET = 50 g
150 gE & = 50 g
550 QIR IR = 0 o = 16,67 g
a3 = (50 — 16.67) =3333g
55°C i@ 100 g AR ET 90 g
90%33.33

~33.33 QAR IR = o2 g = 29,997 g
- R 5T = (29.997 - 16 67) = 1333 g

. _ _Ix=yl 150-90|
Shortcut: A 59 = o) xV= T

x = gyt , y = cE grRyet, V = §acid Twey

X 50 = 13.33 g

REIREN

[Note: e 3t q3F 7% F0® T A, ©IR, shorteut: ————rerer

X (7% ot aieR Adw); 70 g

TG TS A, shorteut; ST o (gryer 1)

@3 Rom @R TR 2.04 QW e 2,65 X 1022 5 T swig @& 0,132 G STETS iy «hedt (ot |

A TF ST 73 A PREER e e Rt w03 b 36RT o507 Tty 302 1 Teoty MR wgg At
frfa s

(3)3.011 x 1023 (b) 12.046 x 1023 (c) 1.506 x.10%® (d) 6.023 x 1023 (e) 2.008 x 1023

2.04 2.65%10%2
Jargt: (d); Na = —0089 C= T,

~Na:CG:0= 0.089 :0.044:0.132 = 2:1:3

73
M Cﬁ?ﬂﬁ N32C03. Nyc) = gs‘ =2

Na,C0; + 2HCl— 2NaCl+ H,0 + €O,
n 2
a2 =G ="=1 G He, =6023x10%

¢35 Rfeat 600 K oo worat g | e aft sertes Safgfere ot I Wimt < Sz st snet 500
K 1 &t 3ft Afgm =& 30 k]. mol ! v iz Rfgaifa Afawm e v fem?

= 0.044, 0 =0.132

(a) 180 kJ. mol 2 (b) 15000 kJ. mol~* (c) 18000 kJ.mol™?
(d) 150 k]. mol? () 1.5k].mol™!
= & Ea _ _ Eb

AA: (a); K = AeRT1 = AeRTz .. _El_ - _R_Tz

Ea _Ti _ 600 E, _6 -1
= —=—2 _=_ . E,=180k] mol
E, T, 500  E;-30 5 a J

H,0/H*

CuCN
Scheme-1: C¢H:N,Cl ———— C¢HgCN ——— C4HsCOOH ey [Product — I]

Fe/HCI NO,+HClL,273K H,0/H*
Scheme-2: C6H5N02 —————— C6H5NH2 T} C6H5N2Cl —= [PrOdUCt - H]

Scheme-3: CH;COOH —t CH, CONHZ [Product - 111]

Trgie Scheme 7z Product-I, Product-I1 @3 Product-I11 2 TR@, [Ans: e]
(a) C¢gH5COONH,, CgHsCl and CH30H (b) C¢H5CONH,, C¢HsNH, and CHsOH

(c) CcHsCONH,, C¢HsNH, and CH3NH, (d) C¢H5CONH,, C4HsOH and CH;0H

(e) C¢gH5CONH,, C4H5OH and CH3NH,
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21.  Mn,0,,C0,,Cr0;,Cr,03,V,05 and V,0, €2 THRTLTIR T (ST SoqT THIE? [Ans: d]
(a) M;07,Cr,03 and V,05 (b) V,05 and V,0,
(c) Cr0O3,Cr;03,V,05 and V,0, (d) Cr,05 and V,0¢
(¢) Mn;0,,Cr,03,Cr05 , V,05 and V,0,
22. 25°C etm@m H, +Cl, + 2H,0 = 2H,0* + 2C1~ ffemmw ke, K=10%| 25°C
Pt, H,|HCl(aq)|Cl,, Pt coiaw E° R & [Ans: d]
@ 1.0V (b) 1.357V (€)22V (d) 0.000 V (€) 24V
23. (i) 8MnO, + 35,02~ + 2H* - 8Mn0, + 6505~ + H, [Ans: ¢]
(i) 2MnOj + 5C,0%~ + 4H* - 2Mn?* + 10C0, + 2H,0 + 30,
(iii) 2MnO; + 5NO; + 6H* - 2Mn?* + 5NO3 + 3H,0
(iv) 2MnOj + 1~ + 3H,0 - 107 + 2MnO, + 20H" + 2H,
(v) 2MnOj + 10I” + 16H* - 2Mn?* + 51, + 8H,0
T ffgteten wg 7 R o v @F Be a2 .
(a) i, ii, iii (b) i, iv (c) i, iv, v (d)iv, v (e) iii, v
24. SIAIRE @ YRGS Rw OIst TAFW —90.6 @3- —68.3 k. Cal/mole & SiafAzia ode o+t I Kcal/mole
I o fefr o |
(a)—11.85 (b) —158.9 (c) —22.3 (d)—283.35 (e) —238.35
TA: (2); 2NH; +>0, — N, +3H,0,AH = =90.6k cal/mol
# AH = Mg, +3 AHgyy, — 2 AHgyy, = MM,
2(~90.6) = 0+ 3 x (=68.3) — 2AHpy, = X 0
* AHpyy, = —11.85 Kcal/mol.
25. 5e wREeT QT whte Pife (@t fifiice e Segies S Tred 3d? TG e SRR wiR?  [Ans: €]
(a) Ti3*,V2*,Cr3+, Mn**, Fe3* (b) Ti*, Crb+,v4*, Mn’*, Fe?*
©) Cr#* V3+, Ti** Fef+ Mn3* (d) Ti2* V3+ Cr3+ MnS+, FeS*
(e) TiZ* V3+,Crt* MnS+ FeS*
26, lim SMXICTCS0 g s a2
X-0 xsin x
OF (b)3 ©3 @2 OF
- - A
TR (¢); im,o TR0 iy, TRXRE—ncos
] sinx
= Jim SRxoxIncosy) _ ——-—COSX_H?“" [L. Hospital]
x-0 Xsinx X—0 XCOS X+Ssinx
—sinx— 2 =
3 )1(21(1] —xs?rl]nxic(()):iicco’;x = —03;1-1 = -;. [L' Hospital]
27. y=sin®x T, y, 97 TN @52
(a) i [3sin(nm/2 + x) — 3" sin(nm/2 + 3x)] (b) sin(nm/2 + x) (c) cos(m/2 + x)
(d) 3"sin(nm/2 + 3x) (e) 3" sin(nm/2 + 3x) + cos nx

TE: (a); y = sin3x=i(3 sinx — sin 3x)
=27 =% (3 cosx — 3 cos 3x) =% {3 sin(x+§)—31sin(3x+12—t)}
“ ¥n =% {3sin (n—; + x) —3"sin (923 + 3x)

—

wwind HVo‘g‘&S’rP Tech



28.

29

30.

3L

32.

33.

Admission Tech

y= 2(x+§) O3 AR T -

(a) e (b)0 (©)2 (d)-2 (e) —4
S (a); X = 00 T, y = 2 (x+§) 2 (oo+%)=
y=2(1-3)=0=x=1-1

y'=%i y'(-D=-2<0 axmmr=2(-1+1) = 4

10gsinx Sin? X 97 TEIF T (JIAL?

(a)2 (b) (sinx)s"* %1 (c) 2(sinx) s’ %1 (d) 0 (e) cotx

d ; d
e: (d); < (108siny sin?x) = = (2) =0

6x-7
J. ottt dx 99 9 ZEA-

(@) 3log(4x —4x+5)+ ltan'1 %

(0)3log(4x — 4x + 5) + 2 tan "} (2"2 1) +c (d) 210g(4x2 — 4x+ 5) + tan "+ 2= lic
(e) 3log(4x* — 4x +5) +5ta ‘12)(—1+ c
Sr: (No correct answer); let, z = 4x% — 4x + 5 . dz = (8x — 4) dx
6
6X—7 = (8x—4)— § _

L j 4x2- 4x+5 XS f 4x2—4x+5 T2 f 4x2-4x+5
=izt (- 2. Y _ a0
= 4lnz " fxz-x+§ = ;Inj4x* — 4x +5| fx2—2.x.—14—1+1

3 d 2x-1
= Zlnl4x2 4x + 5| - f(x_1)§+lz = —lnl 4x* —4x 4 5| —tan” (iz—)

2
a
[ (@% — x2) dx &3 37 @b? [Ans: a]
0
2 2 2 2

@ ®) 5 ©% @)= (e) 3ma?
ABC fagtem A, B, C @ifte Reefe zre ety e qreg Be o1 319 f@me P, Q, R 390 ATRET e
P:Q:R @7 I 792
(a) abc (b) 2a:bic (c) 2a:3b:c (d) a:b:5¢ () MR 77

D
T2t SN

B
P _ Q _ R P _Q _R _P_Q_R

= = 5 —=—_=
sin(mr—A) sin(n-B) sin(m-C) sinA sinB sinC a b ¢

(b) 3log(4%% — 4x + 5) + tan™* sz_‘1 +c

TRET Aet BT @ w2 @3 @t @Y @err 10 ¢ R Wivte #0g | Wbte @ sere F e 1

s @ Tweory (her of T -

(a) 1470 m (b) 980 m (c) 1960 m (d) 490 m (e)245m

TR (d); Bpomb = —ut + 3 gt? = —ux 10 + 4.9 x 102 = 490~ 10u
“ Nplane = 10u 4 490 — 10u = 490
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% w1 500, 50, ¢ 5 B WG 3, 4 ¢ 5 B 76 TR | 51t 1 Oy o7 v erara oy foy anar mw fve

(b) 59 (c) 61 (d) 119 (e) 121
1 d;N=GB+1)@4+1)G+1)-1=119
w2 et “ArNeNf Tt e A 2 BT TR NIRRT 6 ANGHIE TR Py 2 B SR @R 7 SMNGHE S Py &,
ORE P, + P, 97 79 397
@3 OF- ©)3% @3 (e) @EBR T
W:(a);6=1+5=2+4=3+3=4+2=5+1.P1=%

7=1+6=2+5=3+4=443=5+2=6+1P=2 2P +P =5
2,5,9, 16 @3 RKrewrs zeer-

(a) \/g—f-% (b) | % © [5-% (d) V2750 () 2—’8—59

55
sarg: (b); Rreams = % X 100% = is_z- X 100% = \% X 100% (Calculator-Statistics (Stat) Mode)

1 1 1 1
1+§—E+§*E+"'&Q§W@Wﬁ?

(2) -31n2 (b)In7 (c)5In3 (d) 21n2 (e)3In5
2-1 3-2 ¢ -3 5—-4

I o S I AR, ¥ Tl
A v it it v v N - I N

11,11 1 1.1.,1 QI 14 W1
it T s N S e T

3 _ x  x¢ x_ x
=2In2 [ln(1+x)—1—I+-2-—?+-4-—---]

‘2’ @7 @ TTE &N A = 21 + 3]+ 4k, B =31 + 4]+ ak ¢ C = ai + 7] + 9k ety =
(a) 2 (b) -2 (©)3 (d)-5 (5
TAA: (c); e T A - (B x C) = 0% |

2 3 4
3 4 a
a7 9

a?-10a+25=0=3(a—-5)2=0=2a=5
P(1,2) RMae 2x—y+5=08x+y—4 =0 @I T WG PQ ¢ PR &% 5! Zra | APQR 99 cwvaweet
El-

QF (b)3 ©3 COF OF

=2(36-7a)+3(@%*-27)+4(21—-4a) =3a*?-30a+75=0

s (0 PQ = [2725] = 5, PR = |57 = 7 tancaer =[] = ] =3

- APQR = % PQ.PR.sin 2 PQR = % \/Ej—E sin(tan™13) = i-

ABC fagran arfmefer g @ A(0,0),B(1,5) €32 C(+2,2) T A RRprlt BC @ $+47 eea Sifesd
ffr s

(q)2x=y b)x+y=0 (©)3x+5y=0 (d)x+5y=2 (e)7x+y=3
’NT*(T'T:(b);WBC=15:—22 ==1ceq”, y-0=-1(x—-0)=-x ~x+y=0
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4l x> +y?-2x+6y—6=0F@@x—y =0 Wi +RRa @ @ 73 70T @ @1 Teolg 0 o - “
2 3
(@3 )3 ©3 @ ©
TAA: (c); X — y = 0 wo1ib 60 @A 3,
2 +4x—6=0x2+2x—-3=02x=1,-3 »(xy) = (1L,1),(-3,-3)
: % e g 8y _ 2-2
A OF, 2X + 2y - 2+6dX 0=>dX s
(1,1) Reore e ot = 0 . i o i e £ ot oy 30 1
R R Xp Yo
42. aﬁ%mmmwm%mm%%@zt-1@=nwxwm%maa\z+6_1ca:rmy
SRR B (A I | SAelba SLFHS! (IIAG?
®% O ©F @< ©%

6
. ‘ X y? L, bl !62—52 _ E

W-(b),@mﬁ,s—z+§—1 Soe= Feagai

- 43. cos? A+ cos?(A +m/3) + cos?(A — m/3) 97 AT @AL?

3 3 1 5 7
(@)3 (b);+1 ©5+5 @3 ©5
SANMA: (a); cos? A + cos? (A +13t-) + cos? (A—;—t),?nﬁmA = gaﬁm"fﬁ = %
44. 3tan60 —v3tan 40 + tan 60tan 46 + 1 = 0 &7 T 7N -

(a) 60° (b) 165° (c) 75° (d) 30° (e) 135°
AN (c); V3(tan 60 — tan 40) = —(1 + tan 60 tan 46)

tan66-tan4 _ -1 . e _m 5, A _ 5T _ 4e0
e = 22 tan(60 - 48) = tan (n 6) =20="10=2=75

1,4 legc i to o oA
45. M tan a+-sec™ == +-cosecT — =W, OTa+ b+ c FITFS?
(a) 5 abc (b) 7 abe (c) 11 abc (d) 2 abc (e) abc
. (e): tan=1a + Meegmd b2 1 -1
FANS: (¢); tan~"a + 5 8eC™ —5 + - cosec ol
1,1 11802 1o 20 -1 =4 g
=tan~ta+;cosT S 4osinT T =T Stan~ a+ tan b+tan~lc=n
= tan(tanb + tan~ ¢) = tan(n —tan"1a) = % =-a=>b+c=abc—a
~abc=a+b+c
46, 2 5 E2C womeey w2
X+3  x-7
(@-4<x<6 (b)-4<x<6 (c)x< —3andx>7
(d)x<—4andx>6 (e)-3<x<7
M (e); Option test.
X+y X y
47, XX + Z Z | I FO?
y zZ y+z
(a) 4xyz (b) %xyz (c) ;xyz (d) 11xyz (e) 13xyz
X+y X y 312
TR (a);] X x+z oz |a(xyz)=123) @Azt 4 3|=24
y z y+z 2 835
(a) 4xyz = 4.1.2.3 = 24 (b)% Xyz = % 123=3 (c); Xyz = ; 123 =§
(d) 11xyz = 11.1.2.3 = 66 (e) 13xyz = 13.1.2.3 = 78
— L
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48.

49.

50.

51.

52.

53.

54.

5;_—14? 93 TfE fofa a1

@+ +§i) G +2+5)  (©+B+7)  (d)+(9+11) (e) None of these
S: (a); By calculator (option check)

fR-R gR->RhR- R f(x) =tan"'x, g(y) = siny @3 h(z) = Eiﬁg[foh (tan 30°)] @3 I=-

() 30° (b) 45° ©5% OF= O5F
RA: (d); foh(tan 30°) = f(h (tan 30°)) = f C—;g) = tan~! (%) =150

~. g [foh (tan30°)] = g(15°) = sin15° = %

6x3 — x + 13 = 0 " Rwaria el o, ,y T X (a — B)? @3 T F?

@)= (b) ©1 (d) -1 Ok

TnR: (c); L(a—B) = (a— P>+ B-V)?+ (v — )

=2 (a? + B2 +y2 - aB - By = ya) = 2{ (a+ B +V)* = 3(aB + By + ya)}
=2(02-3.3)=21=1

@3B @A T FF AT ¢ WA @I AP TG 2.5 em 8 5.6 om | =R Wia frabey vacy e
(@I TFIET [OIS =CE 6.25 cm TR T T | I WPFT 0y o ? [FCFF T O 25 el

(a) 0.16 cm (b) 0.13 cm (c) L.Icm (d) 0.22 cm (e) 1.8 cm
W:(a);f—le=ul+vie =%6= i

i
u_e+“—25 < Ue = 4,58
Vo = L—ug = 20.42

i 1 1 1

1 1
=t — —==4+—u1u =2.65
o u v zs w20 Y0

Vo Ve| _ |20.42x25| o _e2s _
Tl uel T |2.85x4.58 =391 - 1= m 3911 0.16 cm
@ %7 2% 4 x 107* cm | 58964 o i RF% et e TE WS T @A ST T oA R
TG TGS (R g fovefy &
(a) 17.26° (b) 18° (c) 16.95° (d) 8.44° () 10°
_AD AD _
X= — 7
TR (); " sing =2 =2=200 9= g48° . 20 = 16.95°

7B SARRIR 22004 97 o5t (2T ST O WAt (it S S | 97 R e A qa eV @ o7
(a)6.23 eV (b) 7eV (c)5.44 eV (d)6.9 eV (e) 5.66 eV

SR (e); E = % =5.66eV

35 AC T Rt 188V @ #irF 60Hz | @2 B A 350 @4 I% %41 T 1 &ffS oirets Serrafie =S w7
fffa a1
(a) 539.2] (b) 639.8 watt (c) 549.8] (d) 539.84 watt (e) 504.76 watt

188

2
2
T: (e); = ~8 = G~ 50491 watt

2
R 35
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S 5 frem I T 0.1 mm IF1E R 157 cm a7 @3 O T& 703 ©F Fe 450 W07 93 @Y T9ES
T AT AT (A% 25 om GCF e {77 newt (ot | orafw Somme Sieetfs carg e 09 |

(2) 4.2 x 1077 Q-m (b) 2 x 1077 (-m () 3.66 x 1078 (-m
(d)3x 1077 Q-m () 2.8 X 1076 -m
pL
£ () 2L = e Y o P ~7
e (d); P, 1001 45 100-25 eSS

b TRHTIR FO @Ot T 0, T | ke we fdire 2 i wfeaifke =
(a) 2.61 x 108 m/s (b) 2.59 X 108 m/s (c) 2.56 x 108 m/s
(d) 2.50 x 108 m/s () 2.48 x 108 m/s

TA: (b);%"=\[1-{—:=> (;)2 = 1-%2- .-.v=‘/7§c = 2.59 x 108
@ R wg Sget 1077 W/m? | e Siget faget 20 7o Siqet (TS Fo53 I0E?

[ emmt Siget = 10712 W/m? |

(a) 2.75dB (b) 2.50dB (c) 2.25dB (d)3.01dB (e) 1.3dB
TRe: (d); AR = 1010g;—j =10log2 = 3.01dB

@I 93 (oufE s 4 3.8 T 1 8 e ¥ omnda *fodr F© S ¥ TA?
(a) 68.7% (b) 86.7% (c) 76.8% (d) 95.0% (e) 58.0%

In2
T (C); Nl =eM=e 35%8=23249% . %N = ”;—“” =768%
0

0
b fereTa e o 60° R TAMTTR &femans 1.48 | Jrow Rpfe @i w77
(a) 35.46° (b) 45.46° (c) 28.75° (d) 38.25° (e) 31.52°
sinAtim

STARA: (1), —— = 1.48% 6y = 35.46°
2

sin

S ST 7R i Bom 2fe® 6 ©f (AF 1.6 eV €7 TR *ew Fh1 ewan e & | i s
AR S O (3 v | iR T 2.2 eV |

(a) 35114 (b) 36564 (c) 32764 (d) 26864 (e) 33264
S: (c); E = R+ W =1.6+2.2 =3.8eV=%.-.A=3269A

2.2 m W Y% @3 o e ane 8.4 kg ©F YT 97 o 0.52 mm NG | O TR TR @AE 2 X
10! N/m? zta o1ae ergrsmm cwareeey fefy 39 |

(2) 1.568 X 10™°m? (b) 1.48mm>  (c) 1.6 X 1072cm? (d) 1.74x 107°m? (e) 2 x 10~°m?

sn: (d); ¥ = R nglL 2 A=174% 1075 m?

20°C ermmar 20kg “ffed 100°C SPfaR I Afde e @GPE ARTET Fo @ Rriesed e ot
= 2.26 X 106 Jkg~1K™1]

(a) 1.41 x 105]K ! (b) 1.26 x 108JK 1 (c) 141.46)K1

(d) 1.7 x 10%ergK 1 (e) 1.38 x 103K 1

T: (a); ds = msln:—‘z 4 “;—1: = 1.41 x 105K
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65.

66.

67.

68.

69.

70.

HET (g 93 AT 1200m/FfE Qe 3 eI MY @R | IO AR JPIE 200m T IRIHT @FHAE @t
o femmy
(a) 0.01 rad/s (b) 0.001 rad/s (c) 1.00 rad/s (d) 0.002 rad/s (e) 0.1 rad/s

7 1200
. ' - - 60 — -1
AR (€); w = - = = 0.1rads
G T AT R 50% e TS a7 IR Iy FoRd IS TA?

(2) 1.25 o (b) 1.52 &t (c) 1.35 ut (d) 1.53 wet (e) 1.57 vt

T (2); 22 = \F 2+°5"2JL_1 =1+ 125 = 125%
1
gmwﬁ@w%mwwmqmmwm#m?hﬂ%mé=6.4x103 Km]

(2)84 x10%km (b)4.8x103km (c)4.0x10%km (d)52x10°km (e) 6.8 x 103 km
T (b); & = =(1-3)=1=1-2=h=48x10%nm

aﬁwﬁﬁwa 10 gm ST sty ®iMeR | 30°C ity f sAfearer oo e Fwa?

(a) 1080.287 (b) 1108.28] (c) 1180.28] (d) 11007 () 1801.287
SarE: (c); F = %nRT

e gfvre STy «3ift 387 B 0.01m «3 ¥ 12Hz 1 387 791 5 X 103 m -7 @7 offerat 7e?
(a) 0.755 m/s (b) 65.3 cm/s (c) 6.52 m/s (d) 66.22 cm/s (e) 0.564 m/s
SR: (b); v = wVAZ — x2 = v = 21 X 12VAZ =x2

72 el I ererana eew 1073 kg @z 0.8m MU B ok Iy @32 R (AT AT TCR 1 931 YN
IfEe G2 9T SIS 0.04m TR Rt 37 | &ifie 30T wirea et fnfar 31

(@)5.6x107°C  (b)6.53x107°C (c)6.6x107°C  (d)3.14Xx10~°C (&) 8 x 107°C

TR (c); |
Fm 1 000m 0.00m
mg
Tsin® =mg; Tcos® =Fy, tane—-— cos 9_00082
2
r=004m= Fp=0 5 L T8 , 0-66x1072C

= Tne 4neo';2-_tane
31 Ao ot effs fifts 1500 2t TR | T2 7 T 47 3019 AR o7 ARG T T T | AR e Fe T
et

(a) 3.8 minute (b)4.37 minute  (c) S minute (d) 200 sec (e) 4.02 minute
TARR: (€); 0 = 22X ¢ .= i—‘[’) = BT — 241.52 s = 4.02 min

60

35 6MeV @t et fRea e @ <o Fr sfaer @i «o s e (Fa B Sigsfie 3917 whest (3 Bew s
Rt B @3 I 1.5T | (@bew o feare <o Py 91 oo o o oiew W@Ew 1.7 X 10727kg a&
1.6 x 1071°C |

(2) 8.06 X 107N (b) 7.4 x 10712N (c)9.1x1078]  (d) 4.65 x 10722 (e) 5.04 x 10712N

—19 2x6X108Xx1,6x1071° a -12
SrMR: (a); F = qvB =q ’ .B=16x10 J X102 x 1.5=28.06 x 107**N
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7 (O CFAR Qo 20 LTF | AT (O GOTTER I 64/2 UTF | (SIRET TG @l 37
(2) 30° (b) 24°2' (c) 22°59' (d) 22°14' (e) 23°58'

: ; _ ABsing _ |AXB| _6vZ _ .
T (c); tan 6 = 2200 _ (L8] 7 _ 905
@3 IR o @ ORI Ty 0.05m &R W o WEF @7t A | o7 o Wy Wi I 99 et FAS
A2 [Ans: a]

(a) 1.67 cm (b) 0.02m (c)1.33cm (d)0.022 m (e) 1.52 cm

-1

T: (2); d = SO "’:Z_ T = (ool comopen)” = (3) =2

a3 T e Iferm AR @ffe 7o 25 X 108kg St SOm Twerw BaMA = 1 70% TS T A GF THFHO!
ez [Ans: b]

() 4.8 x 106 HP. (b) 6516 HP.  (c)5.7 x 103 H.P. (d) 3649 H.P. (e) 6251 H.P.
FR: (No correct answer); P = Ttéll =34x105 P' = 0% = 1.13 x.107 watt = 15204 HP

I S g T 2.5 X 10710 m @ &ifs wfir o w7 w2 6,02 %1025 | R o & o2l e A7
(@)5x10°m  (b)58nm (c) 0.6 nm (d)8%10™8m  (e)0.72nm

T (a); GBI FAPIE A = ﬁ;p =597x108m

Wi (o 45 B 27 X 103 N/m @ =ty 0.87:x 10° kg/m? 1 7% 5.8 X 1075 m Iw@ 9o tehe T
MG AT =p (@i 22° 2, O Tobre Sifsfy (oo 7 wory Bota 7ef 9 |

(a) 20.25 cm (b) 20 cm (€)0.28 m (d)0.18 m (e) 18.2cm
2T cos B

2cos0

T () T = 8 . = 22— 0:2025m = 20.25 ¢m

[ems T €T 27 X 1073 @7 FA27 X 103 o T2 1]

‘Raihan stood in front of me.” The underlined part of the sentence is- [Ans: d]
(a) Noun phrase (b) Adjective phrase (c) Prepositional phrase
(d) Adverbial phrase (e) Verbal phrase

Choose the correct negative sentence of the statement “He is greater than 1.” [Ans: a]
(a) I am not as great as he. (b) I am not greater than he. (c) He is not greater than L.
(d) He is not so great as 1. (¢) I am not greater than him.

VTR (AT (AITG W, TR AR 970w - translate into English. [Ans: a

(a) Absence makes the heart grow fonder.

(b) Absence of heart occurs while remains at far.

() The heart burns while remain in absence.

(d) Absence made the heart to burn while stay far.

(e) Heart being burned while stay far but neglected while in close.

‘After you tumn right, go for five blocks and turn left’- translate this sentence in Bangla.
(a) 4> 3% TR 492 I T @T® TF, SRR T | [Ans: b}
(b) ©IF fire (G (R #f7 Wi ATHB! 3 TMIT G 947 I s (1 e |

(c) 3w ez TR 217, TF ftes (G (R #fR Afo 3% T |

(d) *irsfo 7 TR 7R T e TS 2@, ©1ReR A |

(e) O fire TR =1 WK AT 7 e, ©1eia 3w faess |

—
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Choose the correct passive form of the sentence- ‘I remember them taking me to the Sunderbans’, from the
following. [Ans: €]
(a) I remember being taken to the Sunderbans

(b) The Sunderbans is being remembered for taken me.

(c) I remember them for taking me to the Sunderbans.

(d) I was remembered for being taken by them to the Sunderbans.

(e) I remember for being taken to the Sunderbans.

Choose the active form of the sentence- ‘Whatare these holes made by?’ from the following. [Ans: b]
(a) What made these holes? (b) What makes these holes?

(c) What were made these holes? (d) What are made of these holes?

(e) What makes of these holes?

Choose the correct indirect speech of the sentence- He said, ‘Let me have some milk.” from- [Ans: €]
(a) He said he wanted some milk. (b) He prayed that he might have some milk
(c) He wished that he might have some milk. (d) He said that he might have some milk.

(e) He begged that he might have some milk.

‘He will go only after compulsion.’” The correct complex form of the sentence is- [Ans: b]
(a) He will go until he is compelled (b) Heswillnot go unless he is compelled

(c) When he is compelled he goes there. (d)He will go when he is compelled.

(e) He will go when he will be compelled.

Choose the correct sentence from the followings. [Ans: b]

(a) I think likely that he will arrive tomorrow.

(b) I think most likely that he will arrive tomorrow.
(c) I think it is likely that I will arrive tomorrow.
(d) I think he will arrive tomorrow.

(e) I think likely to be there tomorrow:

Choose the correct sentence from the following; [Ans: d]
(a) The boy was short who was snatching my bag. (b) The boy was short w}y"snatched my bag.
(c) The boy snatched my bag who was short. (d) The boy who snatched my bag was short.

(e) The boy snatched my bag was short.
‘At last, he breathed his last breath out, and that was the end’-which ‘idioms’ is used in this sentence. [Ans: c]

(a) at last (b) breathed (c) last breath out (d) that was (e) breath out

Which one is the correct antonym of the word ‘Inimical’? [Ans: c]
(a) Angry (b) Indifferent (c) Friendly (d) Hostile (e) Cooperative

Choose the correct tag question of the sentence- ‘you broke the machine, 7’ [Ans: b]
(a) did you ' (b) didn’t you (c) haven’tyou  (d) hadn’t you (e) weren’t you

Read the following passage carefully and choose the correct answer to question numbers 89 to 91.
The Rohingya is an ethnic minority Muslim group with roots that stretch back hundreds of years in
western Myanmar, in what is now called Rakhine state, on the frontier with Bangladesh. Over decades.
terrible living conditions and attacks on their communities by both the military and their ethnic Rakhine
Buddhist neighbours have driven many out of the country since 1970s. In the recent horrific violence for
the eviction of Rohingya community from Myanmar through genocide and brutal ethnic cleansing
attempts, as many as around 600, 000 Rohingya have crossed the border seeking shelter in Bangladesh
since 25 August 2017. To stop the brutality and return them in Myanmar, the Prime Minister of
Bangladesh, Her Excellency Sheikh Hasina unfolded her views in the National Parliament of Bangladesh
and five point proposal in the General Assembly of UN on 11 September 2017 and 21 September 2017.
respectively.
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94,
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99.

100.

How can you define rohingya? [Ans: c]

(a) A minority group in Myanmar.

(b) A Muslim group in Myaanmar.

(c) An ethnic minority Muslim group in Myanmar.

(d) A group of people living in Rakhine state.

(¢) An ethnic minority group in Myanmar.

How can you termed the recent violence in Myanmar? [Ans: b]
(a) A brutality against Rohingya Muslim group.

(b) Genocide and brutal ethnic cleansing attempts.

(c) Driven out of Rohingya community through torture.

(d) A civil war in Myanmar between the Military and Rohingya community.

(¢) General boarder conflicts between two countries.

In Which date and place, the Prime Minister of Bangladesh placed her five point proposal regarding
Myanmar crisis? # [Ans: c]
(a) At the National Parliament of Bangladesh on 11 September2017.

(b) At the European parliament on 11 September 2017.

(c) At the General Assembly of UN on 21 September 2017.

(d) At the General Assembly of UN on 11 September 2017.

(€) During the meeting with the Secretary General of UN on 21 September 2017.

Which one of the following words is always feminine? [Ans: €]
(a) Foal (b) Fowl (c) Spouse (d) Squire () Shrew

Which one is the singular number of the following words? [Ans: €]
(a) Agenda (b) Curricula - (c) Errata (d) strata (¢) Datum

In which of the following words the article ‘a’ is used before? [Ans: c]
(a) Hour (b) Island (c) European (d) Onion (e) MP

Choose the appropriate preposition for the blank in the sentence- ‘Did you remember to return the book
__ time? [Ans: d]
(a)in (b) at (c) within (d) on (e) ever

What kind of pronoun is the word ‘that’ in the sentence- ‘All that glitters is not gold.’ [Ans: b]
(a) Reflexive (b) Relative (c) Reactive (d) Emphatic (e) Demonstrative

Which one is the adjective form of the following words? [Ans: c]
(a) Breath (b) Breathe (c) Breathless (d) Breathlessly  (e) Breathing

Choose the appropriate word for the blank space of the sentence- ‘As soon as he became rich he cast
his old friends.’ [Ans: c]
(a) down (b) off (c) aside (d) upon (e) out

Choose the ‘past participle’ form of the verb ‘Grind’ from the following words. [Ans: d]
(a) Grinden (b) Grinded (c) Grind (d) Ground (e) Grown

Choose Synonym of the word ‘Invocation’ from the following words: [Ans: b]
(a) Eviction (b) Chant (c) Vocationary  (d) Invisible (e) Invoke
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KUET ADMISSION TEST 2018-2019

800kgm ™3 Ty @ 10~*m IFITR €3 (o @t 1.5kgm™3 9y ¢ 1.85 X 107°NSm™? Arget ST AT
T AT TeeeT B eiffed (o To?
(a) 1.14 x 10~*m/s (b) 0.94m/s (c)9.4m/s (d) 94m/s (e) 800m/s

2
FAE: (b); ve = an (ps — pp)g = 0.94ms™?

G (TR T 1% M, B (et ey e sy «ifirfee 232
(a) 433s 7w 3% AT (b) 433s ¥ TRMI (c) 216s 7 3% =T
(d) 2165 3 T M (e) s weifeaf¥e 2t
99 ' 2x86400
ol ORI 100> 1 = {100 X% = Sea00mn \/ jop X2 =n=433

40cm =1 @36 o7 4.2kg ST TR OIF B 1 WIR | GF T RS A G0 I JFONA TR PRSI
IE I9? 1m OFw ©9 0.32gm |
(a) 498Hz (b) 628Hz (c) 448Hz (d) 425Hz (e) 480Hz

_ 1 ' 4.20x9.8 N
() f= 2x40x10~2 4] 0.32x10-3 Hz ~ 448Hz

137°C SromraRr ot i s styr 201 eptifie T 5 e WHrew <71 44 | FUis Sroma 3 T2 [y = 1.4]
(a) —215°C (b) —137°C (c) —58°C (d) 58°C (e) 137°C

-1

= . Y
T (o) TV =T,V e T, =Ty x (§) =215.375K ~ —58°C (@)
2
@35 FTdt (Carnot) & 27°C @ 180°C SHAR T Ffae | Jfem oter Tt (A7 8.6 X 104] ©vt &2t 3 |
Bfeg aat IS e Al Fo?
(a) 1687] (b) 25.79K] (c) 29.05K] d)29x10%  (e) 2.55 x 10]

T (c);% = —% = Qu=2 X 8.6 X 10* = 56953.6] . W = Q; — Q, = 29.05K]

1.6 X 1076C «@3r 2.8 X 1075C ®iterw g6 7% oI > TS 12cm T@ FES | 1.6 X 1076C A At
TR @I AT SftR (e AR 40 I?
(a) 4.37cm (b) 0.21m (c) 0.068m (d) 5.17cm (e) 7.2cm

S: (d): & = 4 12-x _ |2.8x1076 _
Hd; x_; B (1z_zx)z - 1‘1.6x10-6 = X = 5.166cm

G35 FYRWGITTA R —1.6eV % Y (A —3.8eV I AP @ (FIBA (et I Oy Fo°11% F© a7

(2)5.31 X 10'*Hz (b) 4.59 x 10**Hz (c) 2.46 X 10'°Hz (d) 6.54 X 10'*Hz (e) 14.48 x 10'8Hz

2 (3): - v (3.8~1.6)x1.6x10719 B -
T (a); AE = hv > v = =——————— Hz = T~

it w14y 1620 327 | F© 377 1gm Efeary (F 10 CRRIN =7 32
(a) 428 x 10~y (b) 8.99y (c) 23.7y (d) 246.21y (e) 4120y

lnz

T (d); M = Mge ™2 = (1-10x1072) = 1 X e 620" = t = 246.21y

@I (TR Testfre ofer «ifEa siftt 7=t7 6.8 X 1011kWh | Foirefie swaw R 77

(a) 22kg (b) 27.2kg (c) 26.8kg (d) 27kg (e) 28.4 X 103gm
A (b); E = mc? = 6.8 x 1011 X 3.6 X 106 = m x (3 X 108)? = m = 27.2kg
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10. 7R M€ 6.4 X 105m @3k w8 SfeFEe gat 9.8ms 2 | G-4F /T 6.4 X 107 m Twor Sfewde gari 7 FO?
(a) ~186.2ms™%  (b) —9.8ms ™2 (c)0.081ms™2  (d)8.05ms™2 (¢) 9.8ms™2
e c); £ = (Rf;z = g = 0.081ms2

11, ¢ 3 srzaww oAt e 6.9km, T2 T T2 [G = 6.67 X 1071 Nm?kg ]
() 4.6 x 1018kg.m™3 (b) 4.66 x 10'8kg/m3 (c) 5.1 x 10%'g.cm™3
(d) 3.38 x 10'8kg. m™3 (e) 4.2 x 10%'g/cm?
T (d); R = 25 = M = 4653 x 103%g - p =1 = ;—1:;—3 = 3.38 x 10'8kgm™3

12. IR eRMZF 11.6mA ST FQAF &M2F 10.92mA RIS~ BT | f @7 T Fo7
(a) 19 (b) 18 (c) 16 (d) 13 (e) 15
T (0); b= 3 = o = 16

13, «3f5 Tefited 7ake g 72l W A = (31 +] — 2k)m @ B = (21 - j — k)m | TR crawa vo;
(a) 5.92m? (b) 2.76m? (c) 10.39m? (d) 2.96m? (e) 2.56m?
TR (a); |A x B| = 5.92m?

14.  wefitea AR 30° (P TR Q-8 (AF 50m/s Qe T @G ZA | 60 60mMTH WFS (MSTME TS Ty
TNTe F? [g = 9.8m/s?]
(a) 13.65m (b) 25.23m (c) 15.825m (d) 36.24cm (€) 29.94m

gx? 9.8x602

FE: (b); Y = xtana — = 60tan30° = T 25.233m.

15. 45kg @3 65kg O3 45 I TG 12m/s €3 2.5m/s @0t A=~ [o1ie e SeR T @@ weree <t e )
A 7 e G0 T (VI FO (@0 5a14?2
(a) 3.43m/s (b) 2.82m (c) 6.39m/s (d) 4 cm/s (e) 6.07 m/s
FAtR: (a); 45 X 12 — 65 X 2.5.= (45 + 65) X v=> v = 3.43ms ™!

16. @3 3fem 5 {EG T s 10,000 FHR A 10moie Sworr gere =1 | gaia wwet 70% *nfwa o 9F 9%
ot (IA?
(a) 3.35hp (b) 3.07hp (c) 3.65hp (d) 4.38hp (e) 6.25hp
T (2 R = 56X = egperee 1P = 62500

17.  10cm IMTER 9o =tigw @I 106 77 Wiwe @O Foe 31 et | «are & +Ram Fie swifive zgr?
AR 7851 = 0.55Nm™1 |
(a) 1073] (b) 6,84 x 1073]  (c) 68.39 x 1073] (d) 0.684] (e) 6.84]
T (e); W = 4mt(Nr?2 — R®)T = 6.84] ;1 = %

18. IR ATt (U@ M Bt ST G I IR BT 4 o T | FR I I NG B9t Aol ATRGCET
BT ST 4RI AR BRee! 7 AR 18ISt FS? [spTaTet I b= 101325Pa]
(a) 72.4m (b) 289.6m (c) 580m (d) 651.4m () 950m
Farem: (d); PV, =PV, = P, x 43 = (P, + hpg) x 1 = h = 651.4m

19. 2m WY y@ @I o fwe A® 10kg ©F e @3 W 0.6mm IMG | IR TR TR @AiF 2 X
101 Nm =2z S1em AR @is?
(a) 1.28mm (b) 0.52mm (c) 0.06cm (d) 0.84cm (e) 0.72mm
T: (€); A = = = mr? = "5 =y = 0.72mm

- 1 e o —_— = e ]
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21.

22,

23.

24.

25.

26.

A

28.
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120Q @R @3 yrererfitEg M 300 @IeE @I A5 JRIT F91 A T RMTIF IS AT BIFSIIRBIET W37
fatw ]k =0@?
(a) 50% (b) 40% (c) 30% (d) 20% (e) 10%

Rs =30 =
ReTR: x 100% = 50 X 100% = 20%

60cm W,10cm &% a3k 150 =1 [ @ Ses i T fer 20A Sftr &Rz 5o | T & 15T <9 37
FRF CRUER NG Fo F0T 97 B Fmme 5% a7 v 378 3037

(@)2700N—m  (b)1800N—m (c)900N—m  (d)450N—m () 400N —m

FqYE: (a); T = NIAB = 2700N — m

&3 @55t 5t FEEAE 110V TR I GUFSACS 2.5A eRIZ MG (T | FAFINEA i TR IPne 1: 22
T Giemaid @bk w w@e

(a) 6000VA (b) 5.5kVA (c) 6.05kVA (d) 10kVA (e) 12.5VA

T (c);%‘;’ = f:—" = E, = (110 x 22)V . Rating = EI, = 6050V = 605KV

T: (); X 100% =

aF BTSIGT (FT ¥R A IR JPME WIFW 15cm 9R 25cm | RIS (PRt Ey 18cm T 97 T
afewarE T a2
(a) 1.5 (b) 1.53 (c) 1.48 (d) 162 (e) 1.52

TE: (e); 7 = (p.—l)(ril—i) »2= (p—1)(;1§+-21—5) Su=152
GF Tioe Tt TEw SfoTH ¢ ISHEe @R P WG 1cm € 2.5cm 93R 9 TGS &y 12cm |
SIS (N F© YIF I IO T GOING RTF 25em E @36 e w@am W oty zia?
(a) 15.83cm (b) 14.27cm (c) 9.73cm (d) 0.15cm (e) 0.12m

1

Far4: (No correct answer); ;11— + vi =S U= 227cm vy =12 —uy; =9.73cm
2 2 e

WRE, & +— == &y, = 1.11cm

uy vy
O3S FIRER @A G T TPt oS =RrF1. 5896 A S T ST A2 1 AT | Q- SR Ty TS
@ T T2 Brea 3¢ 0.18mm |
(a) 0.17° (b) 11'16" (c) 0.15° (d) 13'20" (e)9'17"
AAR: (b); asin@ =nA . B =11'16" '
aifeyef @b ot 2feeSrr 150 mg oo Jam | &fS s Al (e Folb i I wg TR 7w

(2)1.395 x 1015 (b) 1.395 x 10 (c) 1.395 x 1017 (d) 1.395x 1028 (¢) 1.395 x 10%°
T: (d); N = 510 o 6023 x 1023 = 1.394 x 1018

18x3600
10%(w/w) NaOH «7 &l weet NaOH G #HifAa (i Satest g IR0y % T2

(a) 0.0325, 0.9675 (b) 0.9675, 0.0325 (c) 0.0476, 0.9524 (d) 0.9524, 0.0476 (e) 0.0556 , 09444

10 90
(O Xnrry = BB — _ -
TR: (); Xnaok o 0.0476 @ Xy,0 o 0.9524
Aovx @ Rt L2@E FrEeT CeR MRS W67 [Ans: d]
(a) 2C0, + O, + 4e — 2C0%" (b) O, + 4H* + 4e - 2H,0 (c) 2H, - 4H* + 2e
(d)30; + H;0 + 2e - 20H (e) H, + 20H™ - 2H,0 + 2e

wwiRsELgn Tech



Admission Tech

29. IR BRI SR et 1 20 Moo (D Beety] 202
(i) Cl, =11
(ii) Hy =tyer
(iii) O, =y
(iv) NaOH(aq)
(@)1,1ii (b) 1, iii (€)i,iv (d) i, iv (e) i, ii, iv
AR: (e); ,1i @ iv
30. Aeea foafs et e emf @ W 2@ Ey, E,, Ey
() Zn|Zn?** (1M)|| Cu?*(0.1M)|Cu
(I) Zn|Zn?* (1IM)|| Cu?*(1M)|Cu
(1) Zn|Zn?* (0.1M)|| Cu*(1M)|Cu
o fse taf Aa?
(@)Ey >E; >E; (b)E3 >E; >E; (c)E;>E3>E; (d)E3>E; >E, (e)E,;>E, >E3

RT, [Zn%*
TANR: (b); E3 > Ep > Ey; Eeen = E° - — ooz T8

31, eR @Al qreret et fo o T wne? [Ans: d]
(@) IdwBET (D) I (o) B-veem  (d) Tm@mEm () - ofo
32. e fferars Seem 1V a7 aeafee sees 3 g@?
P/, KCN(alc) 2H,0/H* __ LiAlH,

CH;0H = 1 11 > 11— IV
(2) CH;CHO (b) CH;CH,CH,OH (c) CH;COOH
(d) CH;CH,CH,OH (€) CH3CH2C00H

P/I;

TR (b); CH; OH 23 CHal - CHyCN = CHyCOOH - A HsOH
33. 250mL 2.0 M HNQ; &€ 32rs 3o 4 *I1o M1XGF «fse iy «fted ey < 70% HNO; |

(a)45.0¢g (b)315g (c)63.0g (d) 126.5g (e) 15.8g
et SMV 4
(b), M 2x250>;E)10-;1 +48) =31, 5g

34. 2A+ B - C R C #wa 9 2.2 X 103 mol. L1, min~1 m—d—[“—] 47 T FE?

(@22x107%  (b)1.0x10%  (c)1.1x1073  (d)24x10™*  (e)44x1073
e (¢ S = - S =22x 103 5 L= 5% 103 x 2 =44 x 107
35, feemy et ofer e <ea-
K*|K = —-2.93V; Ag*|Ag = 0.80V; Hg?*|Hg = 0.79V; Mg?* /Mg = —2.37V; Cr3*|Cr = —0.74V
TR TARPIIR 26 APATRLE RET TSI Sy GPHIe e |
(a) K*[K < Mg?*|Mg < Cr3*|Cr < Hg?*|Hg < Ag*|Ag
(b) Ag*|Ag < Hg?*|Hg < Cr3*|Cr < K*|K < Mg?*|Mg
(c)Ag<Hg<Cr<Mg<K
(d)K<Mg<Cr<Hg<Ag
(e) K*|K < Ag*|Ag < Mg?*|Mg < Hg?*|Hg < Cr3*|Cr
TrE: (c); Ag < Hg(Cr < Mg <K
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-

3B O @ Ryt zeom 15225%2p®3s23p° | AMefda 6.24078 x 10~23g «@ Fefd 3@ =y
(a)1 (b) 1.02391 x 1023 (c) 1.64067 x 10%7

(d) 18 (e) 639

Fne: (d);1mol Cl @ e~ = 17 x 6.023 x 1023 5 e~

35gClae” =17 x 6.023 x 103

~23 —23
- 6.24078 X 10_23g ge- = 17X6.023x10 35)(56.2A'1'078X10 = 18%8_

. 3l IEEG @ 1.0g @2 100.0cm3 WASAREE FICF fAeg =fF @Mt F up to the mark 31 20 | SReAfifes
fRaret e ORI et e <o 0.1M | Gifba e faefa 39 1 (RS v

(2) (CH3),CO;  (b) Na,CO;, (c) SrCO; (d) MgCO;4 (e) CaCO5
TARR: (e); M = ﬁ’% = 100(Mczco, = 100)
ST 9 FOIAI & N0ba @ Al Taw F3? [Ans: d]
(2) e b)FEEFE () TTERFF  (d) OISR FF . () ARG g
. BT SRS TR e Jf- [Ans: d]

(1) BRTSR SITTT I ZF, O FID 77 T

(ii) ARTSR QT I T, OLF F°ID TS A

(iii) BRTOR SR (TN ZW, O3 Jf Heefe T

(iv) BRTOR SIFTETa (T ZW, O JG 1% 8 Weefire T

MAog @S Afawe

(a) i, ii (b) i, iii, iv ()i, ii (d) i, i, i (e)i, i, iv

180 @7 oFT ©7 15.9949 amu T &fSf et 797 =& MeV o v 77 G, @57 ¢ TGrR o e
1.0086,1.0078 @3 0.00054amul

(a) 12 (b) 10 (c)8 (d)6 (e) 4

AR (C); Am::31.5 - (8x1.0086+BXI.0(;768 15.9949)x931.5 =8

«3B @ (A 1000 mL e #Aiff 32z @ ©1F COD fefrrz wmy DO fsitst waws P ondt ¢oter 50 mL 3t snifer
& 0.015 N Na,$,0; 5R 10mL @R 1 @ T3t stfavs H,S0, € K,Cr,0, @t 31 3 75t *1 s=arr DO
foefy aTs B onat et @3 50mL #tif@ &= 0.15N Na, S, 05 830R% 3.5 mL G | @ T3t stifvg COD st %4 |

(a) 15.6ppm (b) 17.6ppm (c) 19.6ppm (d) 21.6ppm (e) 23.6ppm
10x0.015x8-0.015x3.5x8

FAN: (a); COD = = x 1000 = 15.6 ppm

A @R AIBTS T I W=? [Ans: c]
() CoHy (b) CzH, (c) CsHe (d) C3Hg (e) C;H,

stifs Rew @ Feifoe pH e @

(2) - MgSO, & (b) :A—ONaClm‘T (€) 35 FeCls & () 1-NayCO3 & (¢) = NH,Claret

A (d); Na,CO5 FRudt | o1 @3 pH Resew &f

. @ AR I O T @R 20g HEAREN 0 $ee I Aeat o of TR 30w Gier e Kow w3
AT PTG sifiere =t zee | fifiwice F «(fawrt w66 oot s zar

(a) 25g (b) 16g (c) 12g (d) 30g (e) 20g

F: (b); CaCOs - CaO + CO; ; CO, + 2NaOH - Na,C0; + H,0

100g CaCO; = 80g NaOH

. 20g CaCO3 = 16g NaOH
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47.

48.

49.

50.

51
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54.
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(DC,H, ()C,H, (I1)CeHy (IV)CHs (V) CeHsCI

Beoraw AR C ~ C 39 00 wseny (S =1- [Ans: b]
@IV>V>T>I>1 OVST>V>I>I

©U>1>M>V>IV AU>1>V>I> IV

©IV>1>1>V>II

C4Hg G FOQTT SREIN o0 7697 [Ans: d]
(a)2 ()3 (©) 4 A5 (€)6

(AT THATIR Rl [Ans: b]
@)60+131  (b)60+6m (c) 60+ 3m @) 120+31 () 120+ 6m

700K P Ny(g) +0,(g) < 2NO(g) Rfwm =M K, @7 T 0.06251 700K wvmm NO(g)
%Nz(g) +%02(g)f€rﬁm§l(c €7 T 6 X7

(a) 0.03125 (b) 0.25 (c)3.9x 1073 (d) 0.375 (e) 4
e

AR (e); Ke, = N 4
X ¢ Y 75 &y 5w pOH @7 T RIE 8 @3z 11 1 X @92 Y Faet H3 0t ST »ifetgd it Fo a7
(8)1:1.0x 10> (@®)2:1 (€)1.0x10%:1 " (d)1:1.0x 10> (e) 1.0 x 102:1

107 1
AN: (a), 10—_3 = ﬁ
CrO5 &3 =M1ofoe e | @ QAT Cr «F SIRE AT 997 [Ans: c]
(a)4 (b)5 (c)6 (d) 10 (e)0

Find out the correct conversion of the sentence - ‘Had I the wings of a bird! into an Assertive. ~ [Ans: €]
(a) If I had the wings of a bird. (b) I wish to have the wings of a bird.

(c)I pray, I had the wings of abird. ~ (d) I had the wings of a bird

(e) I wish, I had the wings of a bird.

Find out the correct simple sentence of  Jesmin went to the garden and saw a red rose’. [Ans:d]
(a) A red rose was seen by Jesmin going into the garden.

(b) Jesmin saw a red rose going into the garden

(c) Jesmin went to the garden to see a read rose.

(d) Going to the garden Jesmin saw a red rose.

(e) While Jesmine went to the garden saw a red rose.

Which one is the correct form of the verb ‘hear’ in the blank space of the sentence? I opened the door as

soonasl__ thebell’ [Ans: e]
(a) Have heard (b) was hearing  (c) hear (d) have been heard () heard

Which one is the correct ‘One-word substitution’ of the words: ‘A song embodying religious and sacred
emotions’ [Ans: e]
(a) Lyric (b) Ode (c) Ballad (d) Ballade (¢) Hymn

Select a suitable word to fill in the blank of the sentence Do not beidle’___ you come to poverty.’

(a) otherwise (b) or (c) lest (d) unless (e) avoiding [Ans: a]

~—
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[Read the passage below and mention the most appropriate answer to the question Nos. 56 and 57.]
Providing enough energy to meet an ever- increasing demand is one of the gravest problems the world now
facing. Energy is the key to an industrialized economy which calls for a doubling of electrical output every
ten to twelve years. Meanwhile, the day’s cheap, abundant and environmentally acceptable power may be
coming to an end. Coal is plentiful but polluting, natural gas is scare, and oil is not found everywhere,
Nuclear power now appears costly and risky. In many countries of the world, keen interest is being shown
~ in new energy sources. Among the familiar but largely undeveloped sources; solar energy, thermal energy
and energy from ocean deserve special consideration. Scientists are working to find ways to tap the energy
from ocean and sun. If they are fully successful, it will mean that we have an abundant and uninterrupted
supply of cheap energy. This energy will be clean and will not contribute to environmental pollution.

What is the gravest problem the world now facing? [Ans: a]
(a) Providing enough energy (b) Risk of energy Sources

(¢) Environment pollution (d) Scare of natural gas (e) Cost of energy

. Which energies are clean and abundant? [Ans: b]
(a) Nuclear and coal (b) Solar and oceanic (c) Wind and coal

(d) Gas and oil (e) Coal and solar

Which one of the followings is the correct indirect speech of ‘Avi said,’ “Hello Supti, how are you™? [Ans: €]
(a) Avi asked Supti how she was. (b) Avi asked Supti if she was well.

(c) Avi asked and greeted Supti how she was. (d) Avi greeted Supti to ask her how she was.
(e) Ari greeted Supti and arked her how she was.

9. Which one is the correct form of the verb within the bracket in the sentence — If I were you, I (handle) the

situation more carefully!? [Ans: c]
(a) handled (b) would have handle (c) would handle
(d) shall handle  (e) should handle
Which one of the followings is the correct tag question for ‘He scarcely comes here,  ? [Ans: b]
(a) Doesn’t he (b) does he (c)did he (d) didn’t he (e) isn’t he
Which one of the following words is singular? [Ans: c]
(a) Criteria (b) Issues (c) Physics (d) Media (e) Pains
Find out the correct comparative degree sentence of ___Anik is one of the tallest boys in the class’ [Ans: c]
(a) Anik is taller than all other boys in the class. (b) Anik is taller than other boys in the class.
(c) Anik is taller than most other boys in the class. (d) No other boy in the class is as tall as Anik.
(e) Anik is more tall than all other boys in the class.
‘I went there and found him reading.” What kind of sentence it is? [Ans: c]
(a) Simple (b) Complex (c) Compound (d) Multiple (e) Double
. ' The sinners suffer in the long run’. What kind of phrase is the group of words-‘in the long run’? [Ans: d]
‘ (a) Noun phrase (b) Adverb phrase (c) Adjective phrase
(d) Preposition phrase (¢) Conjunction phrase
65. Select the proper word to fill in the blank of the sentence —‘Every year the Nobel Prize is awarded for
to the field of literature. [Ans: d]
(a) invention (b) education (c) prestige (d) contribution  (e) fame
E m
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66. Use correct word in the blank space of the sentence  ‘This contract will be confirmed
December.? [Ans: b]
(a) on (b) in (c) for (d) at (e) by
67. 'He looked at himself in the mirror.” What kind pronoun is ¢ himself’ in this sentence? [Ans: a]
(a) Reflexive (b) Emphatic (c) Distributive ~ (d) Relative (e) Personal
68. Choose the appropriate gender for the blank space of the sentence _ ' The __ gave birth three puppies.’
[Ans: b]
(a) Dog (b) Bitch (c) Cow (d) Pig (e) Cat
69. ‘Nobody knows where he lives.” Which one is the correct passive form of this sentence? [Ans: d]
(a) Where he lives in known to all. (b) He lives where is known to nobody
(c) Where he lives is known to none. (d) Where he lives is known to nobody
(e) He lives where is known to everybody.
70. Which one of the following words is antonym of ‘generous’? [Ans: d]
(a) Liberal (b) Noble (c) Bountiful (d) Mean (e) Unselfish
71.  Which one of the following words has the same meaning of ‘Jeer’? [Ans: €]
(a) Joyful (b) Sportive (c) Gay (d) Jovial (e) Taunt
72. Identify the correct sentence. [Ans: c]
(a) Which color you prefer, the red or the blue
(b) Which colour you prefer, the red or blue
(c) Which colour do you prefer, the red or the blue?
(d) Which colour you prefer more, the red or blue?
(e) Which color you prefer more, the red or the blue.
73. Find out the verb modifier for the underlined part of the sentences. [Ans: €]
(a) I saw him walking in the field. (b) I am absolutely happy.
(c) He always speaks the truth. (d) He runs very fast. (e) He behaves well.
74. Which is the correct Translation of - "affir 3 s aret ;e sArreray [Ans: c]
(@) I desire I could go to Canada. (b) If I had gone to Chanada!
(c) Would that I could go to Canada!  (d) I wish I have gone to Canada.
(e) If I would go to Canada.
75.  Which one is the noun form of ‘Stupid’? [Ans: a]
(a) Stupidity (b) Idiot (c) Stupidness (d) Stupendous  (e) Stupefy
76. W P = 4i— 2] + 4k @R Q = 4i — 2] — k T, O P @ Q T vt @2
(a) cos™! (86—‘/:_1) (b) cos™?! (%) (c) cos™! (56—‘/:_1) (d) sin™? (Eg) (e) cos™! (26_fzi)
FAGA: (a); cos ! (%g) = cosifh (Ség)
77. YR e A @3k 3y = 2x Q4K AT tan~ ! (%) T Bty 0 G 72f6 SRR AT @2
(a)y=§x,y=§x (b)Y=§X,y=§x (c)y=§x,y=%x
@y=1xy=1x ©y=3%y=3x

] L

2
W:(d);§= i;\—zz;(+ve)ﬁt§9ﬂi‘,=m=%; (—ve)ﬁ@’ﬂi,:m=%-‘-y=éx€y=%x.
3
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4x% + 4y — 6x + 9y — 13 = 0 7t 3fefe J0&7 (2, —3) e wre =nien et @f?
(@x+y=6 b)2x+y=12 (c)x+2y=5 (d)2x-3y=13 (e)3x+4y=7
anem: (d); 4xx, + 4yy; — 3(x +xy) +§(y +y1) =13 =0; (x,¥1) = (2,-3)

16 3f uoe CFaBER @3 fagres M s TARE A(—4,6), B(~1,-2) @R C (a, —2)X a 97 77 F?

(a) -1 ()2 (©-3 (d) 4 ()3
-4 6 1
TR (); 16=2|-1 -2 1|=a=3
a -2 1

Borafye T o RireRiwe! T 8 e%mmmmmwm%ﬁamﬁ@, G BT TS A2

2 2 2 2 2
@Et5=1 OL+L=1 ©%+L=1 OZ+L=1 @5+L=1

2 b _ 1
ef=1-5> ——1—-—=>a—8=>a =64
a? 2

W2 — . X Y__
~b? =32 ..64+32_

cosec(x — y) 93 T @? [Ans: €]
_ R _ sinx-siny secx.secy
(a) cosx —cosy  (b)sinx —siny  (c)tanx —tany " (d) o ( )——-tan ey
(3x+2)
hm 1+ Sx) x mm@lﬂm
(a)e (b) e (cye’ e () e’

10
TR (0 lim (14 5%)°* = 1 - lin [ +505] = et0

MWWP@QWWWHQZONMPMWWW%%EW: QWTN2S NTAP «3
T @B?

(@ 5N (b) 15N (c)10N (d)20 N () 25N
W=(b);P+Qcosa=0=>cosa=—-2-l;-

R? = 202 = P2 + 252 + 2,P.25 (—;g) = P=15N
. 7o 60 f&: fil: @01 o8 qIT QT QTR AR 10 GRS T4 FGRE @ GO ANIAl W | @ SRMCR T
TR T F97 GBI 0O FONR AFTS T AT a1 7 |

(a)= m/sec2 250m (b)%m /secz,ﬂm (c)%m/secz,gm

25 ' 7
(d)= m/ secz,z—m (e)3m/ secz,lsﬂm

50
0- 5 1.5 250
= — = - =2.o=2x2 2 = —
TANYA: (a); a = 10 Sms™;s x3x10 ;- m
1
. Wiy ==, m = a7 1 a2
2Inx+3 Zlnx 3 21nx+5 2lnx-3 2lnx+3

(@)=~ (b) © (d) (€)=

1
: (b); dy _ x.;—lnx 1-Inx dzy i (";)‘(14“")"2" _ —x=2x+2xInx _ -3x+2xInx _ 21nx-3
Whigy T x2 %2 ] az x4 - x4 = x4 T3
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86. 39.2 fivr ¥y wafl wee 5ol 2re 19.4 m/sec @0 €& 30° BFfS @A GFfh T R e el | M I AWM
(ATF ¥ WTd BT WS 7
(a) 32.5m (b) 65m (c) 6.63m (d) 637m (e) 98m
TE: (b); —39.2 = xtan30° — T IR 65m
87. 10 @@ 30 8% eyl e @@ GIHre TRITE e o1 e Gl e 5@t 5 ua eftfes 2ear wwiare! @i?
7 6 11 5 13
@) | (b)5; ©5; = @3
5 11
TAR: (C); % =tn

88. 1,2,5,9,10,15,17, 19, 21 sRestef conles o7
(a) 46.66 (b) 45.45 (c) 44.67 (d) 48.67 (c) 47.67
JE: (d); use calculator

89, 11 wwafices v g 50,30, 100, 25, 35,50, 30, 25, 55, 60,80 B e, TR bedF 4 cr?
(a) Tk. 10 (b) Tk. 12 (¢) Tk.15 (@ Tk 13 (e) Tk. 20
ST (c); 25, 25,30, 30, 35, 50,50, 55,60, 80, 100

Q=27 =30,Q, = 50;Q; = 60 » 2R =15

90. I A ={ab,c} «RB ={1,0} T, °F AE B (% o fog FoetEt T hewt A7 [Ans: a]
(a) 6 (b) 7 ©8 )9 (e) 10
265 240 219
91. [240 225 198|943 WY IIAL?
219 198 181
(a) 11 )9 ©8 ()10 (©) 0

A: (e); Use Calculator
92. 'k @3 wmFe T (k? — 3)x% + 3kx + (3k + 1) = 0 TFacifba Ferefd s Tt 77
(a) 2,-1 (b)3,-1 (c)4,—1 (d) 1,4 (e)1,3
T (0); 5= 1 3k +1=k2 =3 5 k2~ 3k—4 = O;k = 4,—1
93. wRdefAra Amtstif it @w2 " TRIANGLE" *Rifbq wrvaefe 3 gwcy et am?
(a) 33000 (b) 34000 (c) 35000 (d) 32000 (e) 36000
T: (e); 8! — 6! X 3! = 36000
94, 16 fior A W3R 65 @y eTTR qFB W 127 A @ B 72 Ife 337 39® | A ¢F TZW ARLo7 G3kee o 2 bR

TR 3 B 7 TAZW AR W97 941 (0@ 1 R 70a | Ao esw A 8 B @3 70 e st 732

(a) 20 kg-wt and 45 kg-wt (b) 30 kg-wt and 35 kg-wt (c) 25-kg-wt and 40 kg-wt
(d) 15 kg-wt and 50 kg-wt (e) Skg ~wt and 60 kg —wt.
26 e b
W:(b);l l lss | 7=;>P=35kg-wt-Q=30kg-wt
rl
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e -

10
95. (Zx2 +X%) o7 fgfere x5 qm x5 g7 Tl T A P’ 9T ANGF T @FHA?

1 1 43
:10(:3'27'133:10C1'29'p=p2=§=>p=ﬁ=?
96. tan~! M 2 4 T T DY
2 2 4
@) x(1+4x) () x(1+4\ﬁ) © Vx(1+4x) @ VR(1+4%)
e (c); Let, 2vx = tana = o = tan~ ! 2%
y=tan"? % =tan~! ﬁz—f‘; = tan"! tan 2a = 2« = 2 tan"! 2V
dy 2
* & T VR(1+4x)
97. u=2+2L qzom T @b
X 2-X
(a) 10 (b) 15 (c)8 (d)12
du _ -4, 36
mﬁ:(c);d—_: —+(2 " 0=>x——1-.-.u=8
dx
98. [ maam@mﬁ?
1 . 4| [2 19
(a) sin 1{\[; (x—l)} (b)gsin~tx
1ot b 0s-1(x —
(d) - cos x+1) (e) 7 C0s x-1
dx 1 dx 1 dx
W:(a),fm=— _— = —
\/(—2x2+4x+1) \/if J—(x2—2x+§—%-1) \/EJ. (;)2_(,(_1)2
_ _1_ -1 X1 =1 -1 —
== sin JE +c sm {f(x 1)]+c
2
1 e*dx
99. [, T 9T W
1+2e 1 1
(@) In(1 + e) )i (©3n(l+2e)  (d)5In(1-2e)
Far4f: (b); using calculator.
(b); usi Icul
100. % P(A) = 3,P (B) = % @ P (AU B) = . 7 o, P(A/B) < v %y
3 13 13 17
@5 b)= ©5 )
o (o) P (& _P@ANB) _;_ 3
(e P(B) T p®) d 16

Admission Tech

1 V3 V3 Jz
@)% o5 ©% @2
TAR: (); Tryq = 20C, - (2x2)10°T - (:3) = 10C, . 210-T . pr . x20-5r

220=-5r=5=2r=39RR20-5r=15=r=1

©2

3
Q) Vx(1+4x)

(e) 20

(c)—sm Ix+1)

(©)3In(1 + 3e)
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